b I - o - .
=| S5 CONT=NTS
P

BEHS5MNURMHHE
HYG1 SEFNEIWNFERX gL ovveeeeee e 1
HYG1 S Pipe connector of cutting sleeve type
HYG1 &5|$N&| R EREEL - ooeeeeeeeee 9

HYG1 Steel tube Fitting of single ferrule
HYG2 sEH| SEhE iRk E. BEER)

HYG2 Copper bayonet joint for use in pneumatic pipe

HYG3 $A#I S s Bt sk (CRRIER) o 15
HYG3 Copper preumatic piping connector

HYG4 ZFH O EEL oo eeee oo 17
HYG4 Flared fitting

HYG5 IR R BRI oo vvevvevee e 18

HYG5 Welding pipe conneetor

HYG6-16 Z 5| (3 BRBHE - v v vevvveeneees 26
HYG6-16 Gauge pipe auxliary

HYF Gauge auxiliary container

HYKFQ %EJ/E“ﬁﬁﬁﬂgg e 1
HYKFQ Gas distributor

Anti-wind pressure sampling device

HYYX WE IS ARIBARAAG v ov e e ee 4]

HYYX VY Gauge Heat-proof and protect box

WEREMNEEA

HY6 R SEhEBRE Lo 47
HY6 Pneumatic tube stop valve

HY7 RS SENEBAL R CBRER) 5]
HY7 Pneumatic tube stop valve

HYJ R 5N S & BRa b @ -oroeveveeeee e enn53
HYJ Measurement tube stop valve

HYQ B35S EEBEERIR - -vvooevrvvrvreeee e 62
HYQ Ball valve for measure pipeling

HY (URBEFUMRLE - -ovooevrmrrvmmmmneeeseeeeennnnn0)
HY Gauge series valves

HYZ Gate valves

B & E &

HYNG ¢ Z 5|y et i e - 78
HYNG £ Explosion-protected Flexible Connectlng Pipes

HYBHC B FIBFIREFLE R e oovvreerereeesee- 80
HYBHC Type Explosion- proof Cable- passmg Box
HYBXJ51 &3l PhiRIE%E -+ 85
HYBXJ51 Type Explosion- proof Junctlon Box
HYZxd.Hxd.Psd & 3l B 1RFe B 3 &k 87
HYZxd. Hxd. Psd series Flame-proof Sealing Connector
HYYFD BIGHIRGNEERL ---ooeeeeeeeeee et 88
HYYFD Fire - proof organic material
HYBHJ & FIBH1REHE - B 19
HYBHJ Type Explosion- proofActlve Connector
HYDQM % 3| B 45 R B 4% k- 90
HYDQM Type Cable- clamped Seal Connector
HYDTL R FIBAIRIERE - s
HYDQM Type Explosion- proof Gasketlng Tube
HYDGJ #%|Br1EEREk - - 95
HYDGJ Type Explosion- proof Plpe Connector
HYDGJ-b R 5B Rk - e 96
HYDGJ-b Type Explosmn proof Ruccer Connector
SRIERHE- - e Q7
Installing Accessory

nEMNERE
Standard Orifice Plate
Standard Nozzle
MY EEE STHEBEEME . voeeeeeee 101
Traditional Wenqiuli Tube, Wenqiuli Nozzle
Measurlng Wlnd Device in Airfoil
WYEBEE - N 1
Double Wenqiuli Tube
AR, BESRFLIR. fmOfLaR --ooeeeee - 104
Circular Orifice Plate, Gap-round Orifice PIate,Eccentric Orifice Plate
WEFLR 1/4 BEIBIHE---ooooeeeeeeeneeaee 105
Douple Orifice Plate, 1/4 round Nozzle

PTAEE Rt v ovrrererrmereereneeneneenennenes 106
Anuba Effusion Meter




HYG1 S Z5|HN-FEX E#EL
HYG1 S Pipe Connector of Cutting Sleeve Type

N

W/ K%Sleeve 12 Nut

?§°\12Fboby/—f%§8|eeve

2 FFNut
#El: 20, 1Cr18Ni9Ti. 316. 316L - B ©4~D22, D1/4" ~D3/4"
Material: 20%. 1Cr18Ni9Ti . 316. 316L * Pipe Diameter: ®4~®22
RIRES: 16MPa. 32MPa R M. G, ZG. PT. NPT
Rated Pressure: 16MPa. 32MPa * Extreme thread can be M. G. ZG. PT. NPT
HYG1-1HiE®RixEL HYG1-1 Extreme Straight Through Sleeve
Do d do I L T I ® = CodeNo
v 4 | M10X1 3| 43| 71| 16 HYG1-1A-M10 X 1- 04
6 | M10X1 4 | 43| 71| 16 HYG1-1A-M10 X 1-D6
| HEERRE 8 | M10X1 5 |47.5] 81| 205 HYG1-1A-M10X 1-®8
(A) 10 [M10x1 | 5 [47.5] 81 205]  HYGI-AA-MIOX1-®10
(N |y —y 10 | M14x15| 8 |54.5] 86 | 20.5]  HYGI1-1AM14X1.5-®10
I 12 | M14x15| 8 |55.5] 86| 23.5] HYGI-1A-M14X1.5-012
L 12 | M18%1.5] 10 | 60.5] 96 | 23.5] HYG1-1A-M18X1.5-® 12
14 | M10x1 5 |50.5] 81| 24.5| HYGI-TA-M10X1-® 14
_K'_Lg,\ 14 | M14x15| 8 |56.5] 86 | 245 HYG1-1A-M14X1.5-® 14
- 1] E 14 | M18%1.5] 10 | 61.5] 96 | 24.5]  HYG1-1A-M18X1.5-® 14
“"it’]L**’l 8 14 | M20x1.5] 11 | 61.5] 96 | 24.5] HYG1-1A-M20 X 1.5-® 14
(B 16 | M18x1.5| 10 | 62.5| 98.5] 25.5] _ HYG1-1B-M18X1.5-316
1] 16 | M22X1.5| 13 | 62.5] 98.5] 25.5]  HYG1-1B-M22X1.5-® 16
1 18 | M18X1.5] 10 | 62.5] 98.5] 25.,5]  HYG1-1B-M18 X 1.5-® 18
L 18 | M22x1.5] 15 | 62.5[ 98.5] 25.5]  HYG1-1B-M22X 1.5-0 18

HYG1-2E @&inEEEL HYG1-2 Extreme Straight Through Connection for Conical Pipe

L
Do ZG do I T | ® 2 CodeNo
4 | ZG1/8" | 3 | 44| 72 | 16 HYG1-2A-ZG1/8"- D4
G G 5 | ZG1/8" | 35| 44 | 75 | 16 HYG1-2A-ZG1/8"-®5
6 | zG1/8" | 4 | 44| 77 | 16 HYG1-2A-ZG1/8"- 06
"’t ,,,,,,, LAl “ 81 1 < 8 | ZG1/4" | 6 |52.5| 845 20.5 HYG1-2A-ZG1/4"-®8
10 | ZG1/4" | 8 |60.5] 86.5] 20.5 HYG1-2A-ZG1/4"-® 10
(S S = 12 | 7G3/8" | 10 | 60.5] 96.5] 23.5 HYG1-2A-ZG3/8"-® 12
. ! 14 | zG1/2" | 12 |67.5] 108] 24.5 HYG1-2A-ZG1/2"-® 14
16 | zG1/2" | 14 [68.5] 110] 255 HYG1-2B-ZG1/2"-® 16
(A (B) 18 | zG3/4" | 16 [ 68.5] 115] 255 HYG1-2B-ZG3/4"-® 18
HYG1-3Hi#E$gEl HYG1-3 Straight-through Sleeve
Do do L | ® = CodeNo
4 3 40 16 HYG1-3A-04
5 35 40 16 HYG1-3A-®5
el 6 4 40 16 HYG1-3A-06
s IR 7,2{ 11 8 6 52 20.5 HYG1-3A-08
e —— 10 8 52 20.5 HYG1-3A-® 10
- —~— | V— 12 10 56 23.5 HYG1-3A-® 12
L L 14 12 60 245 HYG1-3A-® 14
16 14 63 25.5 HYG1-3B-® 16
(A (B) 18 16 63 25.5 HYG1-3B-©18

1 ( SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




HYG1-4 SEE&EDaEE

st HYG1-4 Reducing Straightthrough Union

do'

AT

)

L

HYG1-5 HilFFthiEL

Do do' L | |' 'f’% 'l% Code No
S 12 6 49.5 23.5 16 HYG1-4-06-D12
12 8 54 23.5 16 HYG1-4-08-d12
14 6 50.5 24.5 16 HYG1-4-06-914
14 8 55 24.5 24.5 HYG1-4-98-D14
14 10 55 24.5 24.5 HYG1-4-10-D 14

HYG1-5 Wall-separating Straight -through Sleeve

D d L | v = Code No
w Ik e t
4 3 58 16 HYG1-5A-® 4
. 5 35 58 16 HYG1-5A-®5
6 4 58 16 HYG1-5A-®6
I 8 6 67 20.5 HYG1-5A-®8
— (M 10 8 67 20.5 HYG1-5A-® 10
i [T 12 10 73 23.5 HYG1-5A-® 12
(B) "¢ I ***tUm ’Dl 14 12 76 24.5 HYG1-5A-® 14
W 16 14 83 25.5 HYG1-5B-D 16
L 18 16 83 25.5 HYG1-5B- 018
HYG1-6 EhFRE&EEL HYG1-6 Straight -through Sleeve for Manometer
L Do d L | =K S Code No
~ — 6 M10X 1 31 16 HYG1-6-M10X1-®6
) 6 M14X1.5 38 16 HYG1-6-M14X1.5-06
e n *EE T 6 M20Xx1.5 | 42 16 HYG1-6-M20 X 1.5-®6
o 14 | M20x15 | 45 24.5 HYG1-6-M20 X 1.5-D 14
N 14 G1/2" 45 24.5 HYG1-6-G1/2"- D 14
HYG1-7 EhFREEFERIEL HYG1-7 Wall-separating Manometer Straight -through Sleeve
Do do L I A S Code No
6 M10 X 1 55 16 HYG1-7-M10 X 1- D6
s —t—tHa 6 M14X1.5 62 16 HYG1-7-M14 X 1.5-D6
|| — 6 M20X 1.5 66 16 HYG1-7-M20 X 1.5- D6
—\_)_T : 14 | M20X1.5 69 24.5 HYG1-7-M20 X 1.5-D 14
L ] 14 G1/2" 69 24.5 HYG1-7-G1/2"- D 14

HYG1-8 HEEHi&E#Ek

HYG1-8 Combined Straight Through Sleeve

D ‘ D
i i Do D L | S = Code No
‘ 1 4 4 41 16 HYG1-8A- D4
! ! 5 5 41 16 HYG1-8A-05
C \ | | j 6 6 43 16 HYG1-8A-06
a ; | 8 6 475 20.5 HYG1-8A- D8
| 10 10 495 20.5 HYG1-8A-© 10
e - - 12 12 52.5 23.5 HYG1-8A-®12
== \ 14 14 54.5 24.5 HYG1-8A-® 14
| — 16 16 56.5 25.5 HYG1-8B-P 16
D D 18 18 56.5 26.5 HYG1-8B-® 18
(A) (B)
www.tiankanggf.com 2

HYG1-9 12iEH #EiEL HYG1-9 Welding Straight-through Sleeve

: 1 Do D L | £ S CodeNo
8 31 16 HYG1-9A-04-08
N M\ 8 31 16 HYG1-0A-05-08
N — I B 1. 10 327 16 HYG1-9A-©6-®10
11 415 | 205 HYG1-9A-08-® 11
10 13 415 | 205 HYG1-9A-010-013
L 12 15 455 | 235 HYG1-9A- 0 12-0 15
14 17 485 | 245 HYG1-9A- 0 14-017
@) ®) 16 19 505 | 255 HYG1-9B-®16-019
18 21 505 | 255 HYG1-9B- 0 18- D21
HYG1-10 Ti@EchigiEsk. HYG1-10 Right-angle Sleeve
Do do L | K = CodeNo
1L
] 1 Fﬁij’ e 3 28 16 HYG1-10A-04
&l \ = 35 28 16 HYG1-10A-05
( I - 4 29 16 HYG1-10A-06
! I 6 33.5 20.5 HYG1-10A-D8
10 8 36.5 20.5 HYG1-10A-® 10
12 10 38.5 235 HYG1-10A-® 12
L \ L 14 12 40.5 24.5 HYG1-10A-® 14
16 14 425 255 HYG1-10B-® 16
(A) (B) 18 15 435 25.5 HYG1-10B-® 18

NYGL-11 L@ EEEsL

o]

HYG1-11 Reducing Right-angle Union

Do | Do’ L L' | I' £ S CodeNo
12] 6 | 385 31 23.5 16 HYG1-11-26-D 12
12| 8 | 385 | 355 | 235 | 205 HYG1-11-®8-D 12
141 6 | 405 31 24.5 16 HYG1-11-96-D 14
14| 8 | 405 | 355 | 245 | 205 HYG1-11-®8-D 14
141 10| 405 | 36.5 | 245 | 205 HYG1-11-210-® 14

HYG1-12 TigkixiEsL HYG1-12 Extreme Right-angle Piping Connector

(A)

(B)

Do d do | L L' | X S CodeNo

Y 4 M10 X1 3 [ 30| 20| 16 HYG1-12A-M10X1-D4

| B 6 M10 X1 4 132 | 20| 16 HYG1-12A-M10X1-®6

| 8 M10 X1 5 [35.5] 22 |20.5 HYG1-12A-M10X1-®8
D 10 | M14X1.5| 8 [39.5] 29 |20.5 HYG1-12A-14 X 1.5-®10
12 | M18X1.5| 10 [43.5| 33 |23.5 HYG1-12A-18X1.5-912
14 | M18X1.5| 10 [455| 34 | 245 HYG1-12A-18X1.5-9 14
r 14 | M20X1.5| 11 [45.5| 34 |24.5 HYG1-12A-20X 1.5-9 14
16 | M22X1.5| 13 [47.5| 35 | 26.5 HYG1-12B-22X1.5-®16
18 | M22X1.5| 15 [48.5| 37 |26.5 HYG1-12B-22X1.5-918

I d
“

SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




HYG1-13 TiiE&iniiEsl HYG1-13 Extreme Right-angle Connector for Conical Pipe

Do ZG do [ L [ L' | X S CodeNo
4 ZG1/8" | 3 | 28 | 22 | 16 HYG1-13A-ZG1/8"-®4
5 ZG1/8" | 3.5 | 28 | 22 | 16 HYG1-13A-ZG1/8"-®5
6 ZG1/8" | 4 | 29| 22 | 16 HYG1-13A-ZG1/8"-®6
8 ZG1/4" | 6 |33.5| 27 [20.5 HYG1-13A-ZG1/4"-®8
10 | Z2G1/4" | 8 |36.5| 27 [20.5 HYG1-13A-ZG1/4"-®10
12 | ZG3/8" | 10 |38.5| 28 [23.5 HYG1-13A-ZG3/8"-® 12
14 | ZG1/2" | 12 |40.5| 36 [24.5 HYG1-13A-ZG1/2"-® 14
(A) 16 | ZG1/2" | 14 |42.5| 37 [25.5 HYG1-13B-ZG1/2"-® 16
18 | ZG3/4" | 16 |43.5| 37 [25.5 HYG1-13B-ZG3/4"-® 18

HYG1-14 A §EiEEL HYG1-14 Combined Right-angle Piping Connector

(_ r"‘f\ D, | D L Lt | #& =2 CodeNo
L | — 1L | 751 7L | — ] ﬂ 4 4 28 27 16 HYG1-14A- D4
o ‘ ‘H—DI’_ o \ 5 5 28 27 16 HYG1-14A-05
‘ | 6 6 29 31 16 HYG1-14A- 06

D‘ D‘ 8 8 | 335 35 20.5 HYG1-14A- 08

| L | 10 | 10 | 365 39 20.5 HYG1-14A-© 10

12 | 12 | 385 40 235 HYG1-14A- 0 12

14 | 14 | 405 41 245 HYG1-14A- D 14

(A) 16 | 16 | 425 44 255 HYG1-14B-D 16

18 | 18 | 435 45 255 HYG1-14B- 18

HYG1-15 EhF&RE&EEL HYG1-15 Manometer Right-Angle Sleeve

www.tiankanggf.com

Do d do L | f S CodeNo

6 M10X1 4 | 295 | 16 HYG1-15-M10X1-®6

6 | M14X15 | 4 31 16 HYG1-15-M14X1.5-96
6 | M20X1.5 | 4 | 345 | 16 HYG1-15-M20 X 1.5-D6
14 | M20X1.5 | 7 | 345 | 245 HYG1-15-M20 X 1.5-P 14
14 G1/2" 7 | 345|245 HYG1-15-G1/2"-d 14

HYG1-16 =@ gk

HYG1-16 T-pipe Connector

do

|

HYG1-17 B2 =iEaEsL

o

Do do L L | f=Code No
4 3 28 28 16 HYG1-16A- D4
5 3.5 28 28 16 HYG1-16A-D5
6 4 29 29 16 HYG1-16A- D6
8 6 33.5 | 33.5 | 20.5 HYG1-16A-® 8
10 8 36.5 | 36.5 | 20.5 HYG1-16A-2 10
12 10 | 38.5| 38.5 | 235 HYG1-16A-912
14 12 | 40.5 | 40.5 | 245 HYG1-16A-® 14
16 14 | 42.5| 425 | 255 HYG1-16B-® 16
18 15 | 43.5| 43,5 | 255 HYG1-16B- 18

HYG1-17 Reducing T-pipe Connector

Do

D, L L' I I X 5Code No

12| 6 | 345 | 31 | 235 16 HYG1-17-©6-D 12
12| 8 | 345 | 355| 23.5 | 205 HYG1-17- 98- 12
14| 6 | 365 | 31 | 245]| 16 HYG1-17-06-D 14
14| 8 | 36.5 | 35.5| 24.5 | 20.5 HYG1-17-08-D 14
14| 10| 36.5 | 36.5| 24.5 | 20.5 HYG1-17-010-® 14

HYG1-18 EHR=iFEL(—) HYG1-18 Manpmeter T-pipe Connector(1)

Do

HYG1-19 EhER=i@EL ()

Do d L L' | £5Code No

6 M10X1 |29.5| 35 16 HYG1-18-M10X1-®6

6 | M14X15 | 31 | 35 16 HYG1-18-M14X1.5-®6
6 | M20X1.5 | 34.5| 40 16 HYG1-18-M20X 1.5-®6
14 | M20X1.5 | 34.5| 40 | 245 HYG1-18-M20X 1.5-® 14
14 G1/2" 34.5| 40 | 245 HYG1-18-G1/2"-D 14

HYG1-19 Manpmeter T-pipe Connector(2)

-

Do

Do d L L' | K 5Code No
6 M10X1 29.5( 35 16 HYG1-19-M10 X 1-®6
6 | M14X15 | 31 35 16 HYG1-19-M14 X 1.5-06
6 | M20X1.5 | 34.5| 40 16 HYG1-19-M20 X 1.5-96
14 | M20X1.5 | 34.5| 40 | 245 HYG1-19-M20X 1.5-0 14
14 G1/2" 34.5| 40 245 HYG1-19-G1/2"-D 14
5 ( S HRKREDEMITHRAS

anhui Tiankang group piping valve co.,ltd




HYG1-20 ‘A& =iEHEk

(B)

HYG1-21 =i&

(A)

(B)

HYG1-22

(A)

B)

www.tiankanggf.com

HYG1-20 Combined T-pipe Connector

”,

]

N

=

=]
i
Do

do

‘

D |

—
Tk
W |
Do do L L' £ S Code No
] 4 3 28 | 27 HYG1-20A- @4
[ 5 35 28 | 27 HYG1-20A-®5
6 4 29 | 31 HYG1-20A- D6
[ e 8 6 335 | 35 | 205 HYG1-20A- 8
—|— 5I 10 8 36.5| 39 | 205 HYG1-20A-D 10
=1 12 10 385 | 40 | 235 HYG1-20A-D 12
-1 . 14 12 405 | 41 | 245 HYG1-20A-P 14
16 14 425 | 44 | 255 HYG1-20B-P 16
T 18 15 435 | 45 | 255 HYG1-20B-9 18
‘ L
L (—) HYG1-21 Extreme T-pipe Connector(1)
: Do d do L L' | & = Code No
i 4 | M10x1]| 3 | 303016 | HYG1-21A-M10X1-D4
. 6 | M1I0x1 | 4 [ 32|30 ] 16 | HYG1-21A-M10X1-P6
— *}’ DI 8 | M10x1 | 5 [35.5| 30 [20.5] HYG1-21A-M10X1-®8
10 | M10x1 | 5 [39.5] 40 [20.5] HYG1-21A-M10X1-®10
10 |[M10x1.5| 8 [39.5| 40 {20.5| HYG1-21A-M14X1.5-d10
12 [M10%x1.5| 8 [43.5] 40 [23.5] HYG1-21A-M14X1.5-D12
12 [M10X1.5| 10 [43.5| 44 [23.5| HYG1-21A-M18X1.5-012
14 | M10X1 | 5 | 40 | 40 [24.5| HYG1-21A-M10X1-Dd14
14 |M10X 1.5 40 | 40 |24.5| HYG1-21A-M14X1.5-D 14
14 | M10X1.5 455| 46 [24.5] HYG1-21A-M18X1.5-®14
14 | M10X1.5 455| 46 [24.5] HYG1-21A-M20X1.5-©14
16 | M10X1.5 47.5| 48 [25.5] HYG1-21B-M18X1.5-916
16 | M10X1.5 475| 48 [255| HYG1-21B-M22X1.5-916
18 |[M10X1.5 48.5| 49 [255| HYG1-21B-M18X1.5-918
18 |M10X1.5 48.5| 49 [25.5] HYG1-21B-M22X1.5-©18

L (=) HYG1-22 Extreme T-pipe Connector(2)

Do d do | L L' | X S Code No

4 | M10X1 | 3 | 28| 30 | 16 HYG1-22A-M10X1-D4

6 | M1I0X1 | 4 | 29| 30 | 16 HYG1-22A-M10X1-®6

8 | M10X1 | 5 |33.5] 35 |20.5] HYG1-22A-M10X1-D8
10 | M10X1 | 5 |36.5] 38 [20.5] HYG1-22A-M10X1-®10
10 |[M14X1.5] 8 |[36.5] 38 [20.5] HYG1-22A-M14X1.5-910
12 |[M14X1.5] 8 |[38.5] 40 [23.5] HYG1-22A-M14X1.5-912
12 |[M18X1.5] 10 [38.5| 40 [23.5] HYG1-22A-M18X<1.5-912
14 | M10X1 | 5 |40.5] 42 |245| HYG1-22A-M10X1- 14
14 [M14X1.5 40.5] 44 [24.5]| HYG1-22A-M14X1.5-914
14 |M18X1.5 40.5| 48 [24.5| HYG1-22A-M18X1.5-®14
14 | M20X1.5 40.5| 48 [24.5| HYG1-22A-M20X1.5-914
16 |M18X1.5 42.5| 50 [25.5| HYG1-22B-M18X1.5-916
16 [ M22X1.5 42.5| 50 [25.5| HYG1-22B-M22X1.5-916
18 |M10X1.5 43.5] 50 [25.5] HYG1-22B-M18X1.5-918
18 [ M22X1.5 43.5] 50 [25.5] HYG1-22B-M22X1.5-918

HYG1-23 =@XintEEaEL (—)

(A)

B)

GV ‘1
|————

HYG1-23 Extreme T-pipe Connector for Conical Pipe(1)

W
1]
i

e

HYG1-24 =B&iniEEiEL (

Do ZG do | L L' I X = Code No

4 2G1/8" 3 [ 28 |22 | 16 HYG1-23A-ZG1/8"-P4
5 ZG1/8" | 3528 | 22 | 16 HYG1-23A-ZG1/8"-@5
6 2G1/8" 4 |29 |22 | 16 HYG1-23A-ZG1/8"- @6
8 ZG1/4" 6 [33.5] 27 [20.5 HYG1-23A-ZG1/8"-P 8
10 | z2G1/4" 8 [36.5] 27 [20.5 HYG1-23A-ZG1/8"-P 10
12 | Z2G3/8" | 10 |38.5| 28 | 23.5 HYG1-23A-ZG3/8"- 912
14 | ZG1/2" | 12 |40.5| 36 | 24.5 HYG1-23A-ZG1/2"-P 14
16 | ZG1/2" | 14 |42.5| 37 | 25.5 HYG1-23B-ZG1/2"-P 16
18 | ZG3/4" | 16 |42.5| 37 | 25.5 HYG1-23B-ZG3/4"- 18

do
\

Do

HYG1-24 Extreme T-pipe Connector for Conical Pipe(2)

Do ZG do | L | L | 1 # 2 Code No
4 | zG1s" | 3 | 28| 22| 16 HYG1-24A-ZG1/8"-® 4
L i 5 | zG1/8" | 35| 28| 22| 16 HYG1-24A-ZG1/8"-®5
Z(’;_J——Lz—\ 6 | zG1/8" | 4 | 29| 22| 16 HYG1-24A-ZG1/8"-©6
A 8 | zG1/4" | 6 [33.5| 27 [20.5| HYG1-24A-ZG1/8"-®8
AN 10 | zG1/4" | 8 |36.5| 27 |20.5| HYG1-24A-ZG1/8"-d10
12 | zG3/8" | 10 |38.5| 28 |23.5| HYG1-24A-ZG3/8"-D 12
14 | zG1/2" | 12 |40.5| 36 |24.5| HYG1-24A-ZG1/2"-D 14
16 | zG1/2" | 14 |42.5| 37 | 255 HYG1-24B-ZG1/2"- 16
L 5 18 | zG3/4" | 16 |42.5| 37 |25.5| HYG1-24B-ZG3/4"-918
HYG1-25 Mi&dhjaiEsk HYG1-25 Crossbhar Connector
Do
dy
Do do L L | X 5 Code No
4 3 28 28 16 HYG1-25A- 04
5 3.5 28 28 16 HYG1-25A-® 5
6 4 29 29 16 HYG1-25A-0 6
8 6 33.5 33.5 20.5 HYG1-25A-0 8
10 8 36.5 36.5 20.5 HYG1-25A-® 10
12| 10 | 385 385 | 235 HYG1-25A-® 12
14 | 12 | 405 405 | 245 HYG1-25A-® 14
16| 14 | 425 425 | 255 HYG1-25B-® 16
18| 16 | 435 435 | 255 HYG1-25B-® 18
7 ( S HRKREDEMITHRAS

anhui Tiankang group piping valve co.,ltd




HYG1-26 L (—) HYG1-26 Ptug(1)

HYG1-27 3%k (=) HYG1-27 Ptug(2)

HYG 1 R E-REXE#EL
HYG1 Steel Tube Fitting of Single Ferrule

$£ 3.1k Boby / <& Sleeve W8 Nut/
- #4820, 1Cr18Ni9Ti. 316. 316L SR D4~D42

* Material: 20. 1Cr18Ni9Ti. 316. 316L * Pipe Diameter: ®4~®42
- ANRES: 16MPa. 32MPa

» Pated Pressure: 16MPa. 32Mpa

§ 34k Boby / £ Sleeve

- ERIELE M. G, ZG. PT. NPT%
- Extreme thread can be M. G. ZG. PT. NPT:--

HYG1D-1 BB ik
(GB3733.1-83)

HYG1D-2 i@ 2 i
(GB3738.1-83)

s

L

HYG1D-3 =@ %%
(GB3741.1-83)

I
ITE@

HYG1D-4 EhFzkER@

(GB3751.1-83)

e

— L

HYG1D-5 E h&RZTi@E

O

l

\/}: 8 <TL = &
I 1

L L

(A) (B)
Do L | X = Code No Do L 14X = Code No
4 26 16 HYG1-26A-94 4 26 HYG1-27-94
5 26 16 HYG1-26A-95 5 26 HYG1-27-d5
6 26 16 HYG1-26A- D6 6 26 HYG1-27-D6
8 325 20.5 HYG1-26A-9 8 8 30.5 HYG1-27-98
10 325 20.5 HYG1-26A-2 10 10 30.5 HYG1-27-9 10
12 36.5 23.5 HYG1-26A-® 12 12 33.5 HYG1-27-912
14 36.5 24.5 HYG1-26A-D 14 14 34.5 HYG1-27-D 14
16 39.5 25.5 HYG1-26B-9 16 16 36.5 HYG1-27-9 16
18 39.5 25.5 HYG1-26B-® 18 18 36.5 HYG1-27-918

HYG1-28 & HYG1-28 Cutting Sleeve

HYG1-29 128 HYG1-29 Nut

HYG1D-6 £ /1Zk=1& HYG1D-7 HEi& g

(GB3737.1-83)

HYG1D-8 & A 8]
(GB3740.1-83)

2 | el

= | ==

HYG1D-9 =;&rh 3]
(GB3745.1-83)

p—
1

"
i

HYG1D-10 i@ ja)
(GB3746.1-83)

HYG1D-11 EBF1R
(GB3748.1-83)

HYG1D-12 TEZFR
(GB3749.1-83)

HYG1D-13 BB &isKE | HYGID-14 RiEE
(GB3735.1-83) (GB3750.1-83)

HYG1D-15 12§ sk
(GB3747.1-83)

=8| gt =8| (e

HYG1D-16 SN E1EH
(GB3759.1-83)

HYG1D-17 £ &

(GB3764.1-83) (GB3754.1-83)

M

(GB3757.1-83)

HYG1D-18 xf#E i@k s | HYG1D-19 Mf#EZi@4kus | HYG1D-20 MiEH i@
(GB3756.1-83)

Il

=)
=

—_
—1 H —

- _ o A -] =t

: : ﬁ

L
— L L ‘
(A) (B)
(A) (B)

D, £ & Code No D, d L & 2 Code No
4 HYG1-28A-94 4 M10 X1 16 HYG1-29A-M10 X 1-94
5 HYG1-28A-®5 5 M10 X1 16 HYG1-29A-M10 X 1-®5
6 HYG1-28A-06 6 M12X1.25 18 HYG1-29A-M12X1.25-06
8 HYG1-28A-9 8 8 M14X1.5 21 HYG1-29A-M14 X 1.5-®8
10 HYG1-28A-® 10 10 M16X1.5 22 HYG1-29A-M16 X 1.5-®10
12 HYG1-28A-® 12 12 M18X1.5 23 HYG1-29A-M18 X 1.5-®12
14 HYG1-28A-9 14 14 M20X 1.5 23 HYG1-29A-M20 X 1.5-® 14
16 HYG1-28B-® 16 16 M22X1.5 25 HYG1-29B-M22 X 1.5-® 16
18 HYG1-28B-® 18 18 M24 X 1.5 25 HYG1-29B-M24 X 1.5-®18

www.tiankanggf.com

HYG1D-21 3z 425
(GB3760.1-83)

HYG1D-22 4 A3f
(GB3761.1-83)

HYG1D-23 RE &k HYG1D-24 A5 E&

(GB3752.1-83)

iR

o

HYG1D-25 A& =&
(GB3753.1-83)

9 ( SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




HYG2 fRHI SEhEREL (fHE. BREER)
HYG2 Copper Bayonet Joint for Use in Pneumatic Pipe (made of copper)

##$ B Sealing ring

-, =)
fthBoby/ 8 Nul %%MW/

MEL H62 (REER)

- Material:H62(Crsurface Galvani-zation)

- ARE: 1.0MPa(ZH B R)1.6MPa(t &)

- Rated Pressure:1.0MPa(sealing Ring)1.6MPa(Sleeve)

HYG2-1 Ei&%ifxiEsk HYG2-1 Extreme Straight-through Sleeve

<& Sleeve

-_— g

#fkBoby/  BENU, BT Pipe/

- B 06~d14

- Pipe diameter: ¢ 6~ ¢ 14

- Bigi24ra] AM. G, ZG. PT. NPT

» Extreme thread can be M. G. ZG. PT. NPT

Do d do | L | L | S| |Do d do| L | L| S

6 | M10X1 4| 349 [14]]8 |zG12" 6 | 42| 15| 27

6 | M12X1 4 | 36] 10 14| [10 [ M14x1 7 | 38| 12| 19

L S 6 |M14x15] 4 | 38| 12| 19| [10 [m16x1.5] 8 | 38| 12| 19
‘—’M 6 |M16x15| 4 | 38| 12| 19| [10 [M18%x1.5| 8 | 40| 15| 24
S 6 | M18X15| 4 | 38| 15| 24 | [10 [M20%x1.5| 8 | 42| 15| 27

- i—ﬂ—lfdf 51 6 | M20x1.5| 4 | 42| 15| 27 | |10 | zG1/2" 8 | 42| 15| 27
—L 1] 6 | zG1/2" 4 | 42| 15| 27 | [12[M16x15] 10 | 38| 12| 19
|y 8 | M10X1 51 3419 | 14| [12|M18x15| 10 | 40| 15| 24

L 8 | M12X1 6 | 36| 10| 14| [12|M20%x1.5| 10 | 42| 15| 27

8 | M14x15| 6 | 38| 12 19| |12 |ZzG1/2" 10 | 42| 15| 27

8 |M16%x1.5| 6 | 38| 15| 19| |14 [M18X1.5] 12 | 40| 15| 24

8 | M18x1.5| 6 | 38| 15| 24 | |14 [M20x1.5| 12 | 42| 15| 27

8 | M20x1.5| 6 | 42| 15| 27 | |14 | zG1/2" 12 | 42| 15| 27

HYG2-2 EigrhiaiEsk HYG2-2 Straight-through Intermediate Sleeve

S

‘ _J_[f N Do do L S
T N

al s ! *Fﬂ*%]*ﬂ’*l’* 6 4 44 12
— 8 6 44 14
L 10 8 47 17
12 10 49 19
14 12 52 22

HYG2-3 HifZthiEL HYG2-3 Straigh-through Through-board Sleeve

S

M Em™ D. ds L s
e ——— | 6 4 54 12
8 6 54 14
L 10 8 57 17
12 10 59 19
14 12 62 22
www.tiankanggf.com 10

HYG2-4 EhFRE&EEL HYG2-4 Manometer Straight-through Sleeve

N

Li
e
(

i

- | e |

1t I

L

HYG2-5 I %Rk HYG2-5 Extre

Do

Do
Il
I

HYG2-6 ZigrhiaiEl HYG2-6 Eibow Pipe inter-mediate Connector

Do d do | L [ Li| S ||Do d db| L| L| S
6 [ M10X1 43| 10]14]||8|G12" 6 | 35| 40 27
6 [M14x15] 4 [ 39| 13| 19| [10[M16x15] 8 | 39| 40| 22
6 [M16x1.5] 4 | 39| 13| 22 |[10[mM20x15] 8 | 39| 41 24
6 [M20x1.5| 4 | 40 | 13 | 24 | [10|G1/2" 8 | 40| 41| 27
6 | G1/2" 4 | 40| 13| 27 ||12[M20x1.5| 10| 40 | 43| 24
8 [M14x1.5| 6 | 39 | 13| 19 | [12|G1/2" 10 | 39 | 43| 27
8 [M16x1.5| 6 | 39 | 13| 22 ||14|M20x1.5]| 12| 39 | 45| 24
8 [M20Xx1.5| 6 | 40 | 13| 24 | [14|G1/2" 12| 40| 45| 27
me Eibow Pipe Connector

Do d do | L | Li|H[]|Do d do | L | L | H
6 | M10%1 4 (20| 9| 26|10 M16x15/ 8 | 25| 12| 31
6 | M16x1.5| 4 | 23| 12| 30||10| ZG1/2" 8 | 28| 15| 32
6 | G1/4" 4 | 22| 11| 28|12 M16x1.5] 10 | 26 | 12 | 33
8 | M10%1 6| 21| 9 | 26||12|2zG12" |10 | 29| 15| 34
8 | M16x1.5 6 | 24 | 12| 30 ||14| M16x1.5) 12 | 27 | 12 | 33
8 | ZG1/4" 6 | 23| 11| 28| |14|2zG12" | 12| 30| 15 | 34

Do do L H
6 4 27 27
8 6 28 28
10 8 30 30
12 10 32 30
14 12 34 34

HYG2-7 TiEgtRiEL HYG2-7 Eibow Pipe Through-board Connector

Do

HYG2-8 =i@%%imiEsk HYG2-8 Extreme T-pipe Connector

Do
do
;

\

\

\
\
\

Do do L L1 H S

6 4 41 20 27 14

8 6 42 20 28 17

10 8 43 20 30 17

12 10 44 22 32 19

14 12 45 22 34 22
Do d do L H | Hi Do d do L H | Hi
6 | M10X1 4 52 | 20| 9 10| M14X15| 8 58 | 24 | 11
6 [ M14X15| 4 5 | 22 | 11 10| M16X1.5| 8 62 | 25 | 12
6 | M16X1.5| 4 60 | 23 | 12 10| ZG1/4" 8 58 | 24 | 11
6 | ZG1/2" 4 56 | 22 | 11 12| M14X1.5| 10 | 62 | 25 | 11
8 | M10 X1 6 52 | 21 9 12| M16X1.5| 10 | 66 | 26 | 12
8 | M14X1.5| 6 5 [ 23 | 1 12| 2G1/2" 10 | 68 | 29 | 15
8 [ M16X1.5| 6 60 | 24 | 12 14| M16X1.5| 12 | 66 | 27 | 12
8 | ZG1/4" 6 5 [ 23 | 1 141 ZG1/4" 12 | 68 | 30 | 15

' £ AWK A 1 HIRAS

anhui Tiankang group piping valve co.,ltd




HYG2-9 AY5iE =%k HYG2-9 Regulating T-ping Connector

d2

HYG2-10 EhFR= @k

DO dO d1 d2 DO dO d1 d2

6 4 M14X1.5| M14X1.5 6 4 | ZG1/2" M14X1.5
6 4 M16X1.5| M14X1.5 8 6 [M16X1.5| M14X1.5
6 4 M16Xx1.5| M10X1.5 8 6 | M16X1.5| M10X1
6 4 M16X1.5| M16X1.5 8 6 [M16X1.5| M16X1.5
6 4 M16Xx1.5| M16X1.5 8 6 | ZG1/4" M14xX1.5
8 4 ZG1/4" | M12X1.5 8 6 [z2G1/2" M14X1.5

HYG2-10 Manometer T-ping Connector

d Do d do | L | H | Hx Do d do | L H | Hi
HE 6 |[M1ox1 | 4 [ 57|17 ] 10 10| M14x15] 8 | 62 | 21 | 13
= 6 |[M14x15] 4 [ 60|21 ] 13 10| M20x1.5] 8 | 62 | 21 | 13
Al P g ——v— 6 |M20x1.5] 4 | 67|21 ] 13 10| G1/2" 8 | 622213
= 6 | ZG1/8" 4 | 57|17 | 10 12| M14x1.5| 10 | 67 | 22 | 13
T 8 |[M10x1 | 6 | 57 |17 | 10 12| M20x1.5| 10 | 73 | 22 | 13
8 |[M14x1.5| 6 | 60 | 21 | 13 12| G1/2" 10 | 67 | 22 | 13
8 |[M20x1.5| 6 | 67 | 21 | 13 14| M14x1.5| 12 | 67 | 22 | 13
8 | zG1/8" 6 | 5717 |10 14| M20x1.5| 12 | 73 | 22 | 13
10[{M10x1 | 8 | 62 ] 19 | 10 14| G1/2" 12 | 67 | 22 | 13
=B FEE Sk 7O 38 AP (e 12k SNEIRE) = H
T-Pipe intermediate Crossbar intermediate Outer Liner Nut
Connector Connector
HYG2-11 HYG2-12 HYG2-13 HYG2-14
Py
I — L
L
Do do L H Do do L Do d L|S Do D L
6 4 54 27 6 4 54 6 M10X1 15 [ 12 6 8 7
8 6 56 28 8 6 56 8 M12X1 15 114 8 10 7
10 8 60 30 10 8 60 10 M14 X1 17 117 10 12 7
12 0 64 32 12 10 64 12| M16X1.5 [ 19 |19 12 14 7
14 2 68 34 14 12 68 14| M18X1.5 | 19 | 22 14 16 7

www.tiankanggf.com

12

HYG2-15 HiE& izl HYG2-15 Extreme Straight-through Sleeve

Do d do | L L+ S Do d do | L L+ S

6 |M10X1 4 136 | 9 |14 8 |zG1/2" 6 | 46 | 15| 27

6 |M12X1 4 138 )10 | 17 10| M14X1.5( 8 | 42 | 12 | 19

s 6 |[M14X1.5| 4 |40 |12 | 19 10| M16X1.5( 8 | 42 | 12 | 22

Li 6 |M16X1.5| 4 |40 | 12 | 22 10| M18%X1.5( 8 | 44 | 15 | 24
6 |IM18X1.5| 4 | 40 | 15 | 24 10| M20X1.5( 8 | 46 | 15 | 27

6 |M20X1.5| 4 |44 | 15 | 27 10| zG1/2" 8 | 46| 15 | 27

- %E 777777 — +75t 6 12G1/2" 4 |44 | 156 | 27 12| M16X1.5] 10 | 42 | 12 | 22
8 |M10X1 6 [ 36| 9 |14 12| M18X1.5] 10 | 44 | 15 | 24

8 [M12X1 6 |28 |10 | 17 12| M20x1.5| 10 | 46 | 15 | 27

L 8 IM14X1.5| 6 | 40 | 12 | 19 12| 2G1/2 " 10 | 46 | 15 | 27

8 IM16X1.5| 6 | 40 | 15 | 22 14| M18X1.5] 12 | 44 | 15 | 24

8 |IM18x1.5| 6 | 40 | 15 | 24 14| M20X1.5] 12 | 46 | 15 | 27

8 IM20x15| 6 | 44 | 15 | 27 141 7G1/2" 12 | 46 | 15 | 27

HYG2-16 HiEthg#k HYG2-16 Stratght-through Intermediate Sleeve
S

Do d L S

6 4 48 14

= 8 6 48 17
10 8 51 19

- 12 10 53 22

14 12 55 24

HYG2-17 EigZ#RiEL HYG2-17 Stratght-through Throught-board Sleeve
S

Do do L S
6 4 58 14
8 6 58 17
10 8 61 19
12 10 63 22
14 12 65 24

HYG2-18 E &R EE#EL HYG2-18 Manometer Stratght-through Sleeve

Do d do | L |L |H/||Do d do| L | L|H
L 6|M10x1 | 4 [ 3710 [14 ]| [8]|G12" 6 | 42| 13| 27
6 | M14x15] 4 [ 4113 [19] [10] m16x1.5] 8 [ 42| 13] 22
— =) 6 |M16x15] 4 | 41|13 [ 22| [10] M20x1.5] 8 | 43| 13| 24
- i e 5 i ey 6 | M20x15| 4 | 42|13 [ 24| [10] G1/2" 8 | 43| 13] 27
| = I 6|zG12" | 4 | 4213 |27 | [12] M20x1.5] 10| 45 ] 13| 24
— 8 [ M14ax15] 6 [ 4113 [19] [12] G1/2" 10]45] 13] 27
L s 8 [ M16x15] 6 [ 4113 [22] [14[m20x1.5] 12 47 13| 24
8| M20x15] 6 | 42|13 [ 24| [14] G1/2" 1247 ] 13 ] 27
HYG2-19 TifkiRiEsL HYG2-19 Extreme Elbow Pipe Connector
Do d do | L|L |S|]|D d do| L |L|S
6| M10x1 | 4 | 20| 9 [ 28] |10|mM16x15] 8 | 25| 12 | 33
6| M16x15 4 | 23|12 [ 32| |10|zG12" | 8 | 28| 15 | 35
6|2zG14" | 4 | 22| 11 | 30| [12| M16x1.5] 10| 26 | 12 | 35
8| M10x1 | 6 | 21| 9 |28 [12|zG12" | 10| 29 | 15 | 36
8| M16x15 6 | 24| 12 | 32 | [14| M16Xx15] 12| 27 | 12 | 35
8| zc14" | 6 | 23| 11 |30 [14]zG12" | 12| 30| 15 | 36
13 ( S HRKREDEMITHRAS

anhui Tiankang group piping valve co.,ltd




HYG2-20 Zi&hja)iEsk

do

HYG2-20 Elbow Pipe inter-mediate Connector

Do do L H
6 4 29 29
8 6 30 30
10 8 32 32
12 10 34 34
14 12 36 36

HYG2-21 ZiEEtRiEsk HYG2-21 Elbow Pipe Through-board Connector

Do do L L4 H S
6 4 43 20 29 14
8 6 44 20 30 17
10 8 45 20 32 19
12 10 46 22 34 22
14 12 47 22 36 24
HYG2-22 =&#%ixEsL HYG2-22 Extreme T-Pipe Connector
Do d do | L | H| Hil||[Do d do | L | H | Ha
6 | M10X1 4 |56 20 9 |[10{M14x15] 8 | 62 | 24 | 11
6 |M14x15] 4 [ 60| 22| 11]|[10[M16x1.5] 8 | 66 | 25 | 12
6 |M16x15| 4 | 64 | 23| 12| 10]zG1/4" 8 | 62| 24 | 11
6 | zG1/4" 4 | 60| 22| 11]|[12[M14x15] 10 | 66 | 25 | 11
K 8 | M10X1 6 | 56| 21| 9|12 M16x1.5] 10 | 70 | 26 | 12
8 [ M14x15| 6 | 60 | 23 | 11|[12]zG1/2" 10 7229 | 15
8 |M16x1.5| 6 | 64 | 24 | 12|14 M16x1.5] 12 | 70 | 27 | 12
8 | zG1/4" 6 | 60 | 23| 11][14]zG1/2" 12| 72| 30| 15
=@AaEsk SNEIELE E HEEHE
T-Pipe intermediate Outer Liner Nut Cutting Sleeve Thin Wall Pipe Bush
HYG2-23 HYG2-24 HYG2-25 HYG2-26
Do,
S
PN S —
— =
= 7,,{75
[ L
-~ L
L
d L d L
Do do L H Do d L|S Do L
16 8.5 18
6 4 58 29 6| M12X1 15 | 14 6 8 45 16 10 18
8 6 60 30 8| M14x1 | 16 | 17 8 9 5 16 05 T8
10 8 64 32 10| M16X1.5[ 17 | 19 10 10 6 17 12 20
12 10 68 34 12| M18x1.5] 18 [ 22 12 10 6.5 17 14 20
14 12 72 36 14| M20x1.5] 19 | 24 14 10 8 18 15 20

www.tiankanggf.com

HYG3 fHHSehEiEEL (BEER)
HYG3 Copper Preumatic Piping Connector (for piastic pipe)

RAR
ESME | ARRES | AFRER | ERANR ERRE HEaR
Do PN PN
Med Temp materat
mm Mpa mm
@1 B O
6 3 SR Normal | HE2REEH
1 Non-Corrosive T Hez(Cr surface
emp Galvanization)
8 5 Gas Norm

HYG3-1 Hif%kixtE (—) HYG3-1 Extreme Straight Through Sleeve(1)

L S Do d do Lo L S Do d do Lo L S
6 | M8X1 3 [ 36 | 9 | 12 |[ 8] M8x1 5 | 3 | 9 | 14
0 6 | M10X1 3 13 | 9 | 14 |[8 [ mM10x1 5 | 36| 9 | 14
I e eeee——— I R 6 | M14x15| 3 | 40 | 12 | 17 |[ 8 | M14x15] 5 | 40 | 12 | 17
S 6 | M16X15| 3 | 40 | 12 | 19 |[ 8 | M16x15] 5 | 40 | 12 | 19
] 6 | M20X15| 3 | 44 | 14 | 24 |[ 8 | M20X15] 5 | 44 | 14 | 24
6 | 2G1/8" 3 [ 36 | 9 | 12 |[ 8] ZG1/8" 5 | 36 | 9 | 14
Lo 6 | 2G1/4" 3 [ 38 | 11 | 14 || 8] zG1a4" 5 | 38 | 11| 14
6 | 2G1/2" 3 | 44 | 15 | 22 | [ 8 zG1/2" 5 | 44 | 15 | 22
HYG3-2 Bi@%iRiEL (=) HYG3-2 Extreme Straight-through Sleeve(2)
S
L Do d do | L| L | S Do d d | Lol L| s
6 | M10x1 3 | 39| 10| 14 8 | M10x1 5 | 39| 10| 14
- — - 6| M14x15| 3 | 40 | 13| 19 8| M14x15| 5 [ 40| 13| 19
M 1 Di 6 | M16X15| 3 | 41 | 13| 22 8 | M16xX15| 5 | 41| 13| 22
6| M20x15| 3 | 41 | 13| 24 8 | M20X15| 5 | 41| 13| 24
6 | ZG1/4" 3 | 40 | 13| 17 8 | ZG1/4" 5 | 40| 13| 17
L 6 | G1/2" 3 | 41| 13| 24 8 | G1/2" 5 | 41| 13] 22
HYG3-3 HifthgiEk HYG3-3 Straight-throughintermediate Connector
S
1 - Do d L S
= _— | Qi
R 6 3 45 12
L 8 5 45 14
HYG3-4 HifigRiEl HYG3-4 Straight Through Through-board Connector
St S
s =—————————11&] Do do Lo L S S1
] == 6 3 58 31 14 17
Lo 8 5 58 31 17 17
HYG3-5 EifkifmiEsl HYG3-5 Elbow Pipe Straight-through Sleeve
Do d do Lo L H Do d do Lo L H
6 | M10X1 3 [ 20 9 | 29 8 | M10x1 5 | 20 9| 29
6 | Miax15] 3 [ 2312 | 32 8 | Mm1ax15| 5 [ 23| 12] 32
6 | M2ox15] 3 [ 25 [ 14 | 25 8 [ M20x15] 5 [ 25| 14] 35
6 | zG1/8" 3 [ 20 9 [ 29 8 | zGc18" 5 | 20 9] 29
6 | ZG1/4" 3 | 22| 11 | 29 8 | zg1/a" 5 | 22 11| 29
6 | zG1/2" 3 | 26|15 [ 35 8 | zg1/2" 5 | 26| 15] 35
15 ( S HRKREDEMITHRAS

anhui Tiankang group piping valve co.,ltd




HYG3-6 TiEZthiEsl HYG3-6 Elbow Pipe Through-board Connector

Do

HYG3-7 =i@rhjg#Ek HYG3-7 T-Pipe Intermediate Connector

Dy

T 11

do,
i
|
I

HYG3-8 EhFxR=i@E#L HYG3-8 Manometer T-Pipe Connector

HYG4 25| OX&E#ELk HYG4 Flared Fitting

1% 34K boby # A% pipe shroud

- ##}: 20, 1Cr18Ni9Ti. 316, 316L - &1z DO:db4~d 34

- Materin120. 1Cr18Ni9Ti. 316. 316L - Pipe Diameter: ¢4~ ¢34

- RRES: 16MPa - agByET AM. G, ZG. PT. NPT%.,

- Rated Pressure: 16MPa - Extreme thread can be M. G. ZG. PT. NPT--

25 Nut

HYG4-1 FiB2&iniEk HYG4-2 B &insE gk HYG4-3 Bl ja ik HYGA4-4 E ik EBEL
HYG4-1 Extreme Straigh-through Sleeve | HYG4-2 Extreme Straigh-through connector| HYG4-3 Straigh-through Sleeve | HYG4-4 ManometerStraight Sleeve
for Conical Pipe

HYG4-5 1Rz &k HYG4-6 Bi@ iRk HYG4-7 Zi@ ik HYG4-8 i 42 iy B e 5k

HYG4-5 Welding Sleeve HYG4-6 Wall-Separating Straight-through | HYG4-7 Extreme Right-angle Pipe Connextor ng?lga? Ei’g:fme Right-angle Connector for
Sleeve

Do
-
do
\

\
|
\

\

\

\

\

\

5
do
\
\
|
\
\
\
\
\
|
]

www.tiankanggf.com

HYG4-9 233 ) f 3k HYG4-10 & 2%k HYG4-11 Zi@ iRk HYGA4-12 = @i sk
HYG4-9 Right-angle Pipe Connector | HYG4-10 Combined Straight-thrugh | HYG4-11 Wall-Separating Right-angle | HYG4-12 Extreme T-pipe Connector(1)
Pipe Connector Pipe Connector

Do do Lo L H S
6 3 42 31 30 14
8 5 42 31 30 17
tric=fl: HYG3-6-06 code example:HYG3-6-D6
Do do L H
6 3 58 29
8 5 60 30
FRIERHI: HYG3-7-6 code example:HYG3-7-06
Do d do L Ho H
6 M10X1 3 61 16 10
6 M14X1.5 3 64 19 13
6 G1/4" 3 64 19 13
8 M10 X1 5 61 16 10
8 M14X1.5 5 64 19 13
8 G1/4" 5 64 19 13
Do d do Lo L H Do d do Lo L H
6 |M10X1 3 60 9 20 8 | M10X1 5 60 91| 20
6 [M14X1.5| 3 63 | 12 | 23 8 | M14X15] 5 63| 12| 23
6 |M20X1.5| 3 65 | 12 | 23 8 | M16X1.5] 5 65| 12| 23
6 |Z2G1/8" 3 60 9 20 8 | ZG1/8" 5 60 9| 30
6 [ZG1/4" 3 60 | 11 | 22 8 | ZG1/4" 5 60| 11| 22
6 |ZG1/2" 3 |65 |15 |24 || 8 |ZG3/8 5| 65| 12| 24

#RiCTRBI: HYG3-9-M10X 1-®6 code example:HYG3-9-M10X1-06

HYG4-13 =i@%siEsk(Z) | HYGA-14 Z@gspaEiEk  |HYGA-15 =@ d sk HYG4-16 A& =@k (—)
HYG4-13 Extreme T-Pipe Connector(2) | HYG4-14 Extreme T-Pipe Connector forf HYG4-15 T-Pipe Connector HYG4-16 Combined T-Pipe Connector
Conical Pipe

Do d di L
6 M10 X1 13 13
5 M12 X1 16 13

16

HYG4-17 HA=@IEL(Z) | HYG4-18 M rhja sk HYG4-19 &% HYG4-20 28
HYG4-17 Combined T-Pipe Connector | HYG4-18 Crossbar Connector | HYG4-19 Pipe Shroud HYG4-20 Type A Sleeve Nut

Ml

AEl B #

anhui Tiankang group piping valve co.,ltd

.7 £ AWK A 1 HIRAS




HYGS 12N &k
HYGS5 Welding pipe Conneetor

#E# Sealing Ring

S — —F[— ......

% 3L boby 423 Nut $#% Union

- #%l: 20, 35. 1Cr18Ni9Ti. 316. 316L
L RIEBLTTHM, G, ZG. PT. NPT

- B ©6~050
HYG5-1 Hig#timiEk

HYG5-1 Extreme Straight-through Sleeve

S2

HYG5-2 EEXimtEHE:L
HYG5-2 Extreme Straight-through
Connector for Conical Pipe

Si

S2

do

www.tiankanggf.com

### Sealing Ring

: _i_ ....... -

314 Boby 125 Nut % Union

- Material: 20. 35. 1Cr18Ni9Ti. 316. 316L

- Extreme thread can be M. G. ZG. PT. NPT

- pipe diamoter: ®6~D50

......

X 5 Code

M10X%1

HYG5-1-M10X1-®6

M10X1

HYG5-1-M10X1-910

M14X1.5

HYG5-1-M14 X 1.5-®10

M14<1.5

HYG5-1-M14 X 1.5-® 14

M18X1.5

HYG5-1-M18 X 1.5-® 14

M18X1.5

HYG5-1-M18X1.5-© 18

M22X1.5

HYG5-1-M22X1.5-®18

M22X1.5

HYG5-1-M22 X 1.5-® 22

M27X1.5

HYG5-1-M27 X1.2-©22

M27X1.5

HYG5-1-M27 X1.2-©28

M33%X2

HYG5-1-M33 X 2- D28

M33 X2

HYG5-1-M33 X 2-d 34

M42 X2

HYG5-1-M42 X 2-D 34

M42 X2

HYG5-1-M42 X 2-D42

M48 X2

HYG5-1-M48 X 2-D 42

M48 X2

HYG5-1-M48 X 2- D50

M10X%1

HYG5-1-M10X1-96

M10 X1

HYG5-1-M10X1-®10

M14X1.5

HYG5-1-M14 X1.5-9 10

M14X1.5

HYG5-1-M14X1.5-® 14

M18X1.5

HYG5-1-M18X1.5-9 14

M18X 1.5

HYG5-1-M18X1.5-9 18

M22X1.5

HYG5-1-M22X1.5-9 18

M22X1.5

HYG5-1-M22 X 1.5- 922

M27 X2

HYG5-1-M27 X 2- D22

M27 X2

HYG5-1-M27 X 2- D28

M33 X2

HYG5-1-M33 X 2- D28

M33 X2

HYG5-1-M33 X 2-® 34

M42 X2

HYG5-1-M42X2- D34

M42 X2

HYG5-1-M42 X 2-D 42

M48 X2

HYG5-1-M48 X 2- D42

M48 X2

HYG5-1-M48 X 2- D50

& S Code

Z1/8"

HYG5-2-Z 1/8"-9 10

Z1/4"

HYG5-2-Z 1/4"-P 14

Z3/8"

HYG5-2-Z 3/8"-D 18

Z1/2"

HYG5-2-Z 1/2"- P22

Z3/4"

HYG5-2-Z 3/4"- D28

Z1"

HYG5-2-21"-® 34

Z11/4"

HYG5-2-Z1 1/4"- D42

Z11/2"

HYG5-2-Z1 1/2"-® 50

Z1/8"

HYG5-2J-Z 1/8"-P 10

Z1/4"

HYG5-2J-Z 1/4"-P 14

Z3/8"

HYG5-2J-Z 3/8"-P 18

Z1/2"

HYG5-2J-Z 1/2"- D22

Z3/4"

HYG5-2J-Z 3/4"- P28

71"

HYG5-2J-Z1"- D 34

Z1 "

HYG5-2J-Z1 1/4"- D42

Z11/2"

HYG5-2J-Z1 1/2"-© 50

18

HYG5-3 Hilpiafsk

HYG5-3 Straight-through Intgermediate Connector

do
|

Do

HYG5-4 EiEZtRiEL HYG5-4 Through-board Straight Through Sleeve

Do do L St S X 5 Code

6 3 48 14 17 HYG5-3-D6

10 6 54 19 19 HYG5-3-©10
14 8 66 24 27 HYG5-3-D 14
18 10 72 32 32 HYG5-3-D 18
22 15 77 36 36 HYG5-3-922
28 20 85 41 41 HYG5-3-928
34 25 96 50 50 HYG5-3-9 34
42 32 106 60 60 HYG5-3-9042
50 40 115 70 70 HYG5-3-950

Do do L | S1 S2 Ss3 £ 5 Code

6 3 98 58 17 17 17 HYG5-4-D6

10 6 10 | 64 19 22 19 HYG5-4-® 10
14 8 125 | 71 27 30 27 HYG5-4-D 14

18 10 | 137 | 76 32 36 32 HYG5-4-D 18

22 15 | 145 | 80 36 41 36 HYG5-4- D22

28 20 | 155 | 85 41 50 41 HYG5-4-$28

34 25 | 172 | 92 50 55 50 HYG5-4- D 34
42 32 | 186 | 100 | 60 65 60 HYG5-4- D42

50 40 [ 202 | 109 | 70 75 70 HYG5-4-P 50

HYG5-5 Eh&xRE&EEL HYG5-5 Manometer Straight through Sleeve
S
d Do do L S £ 2 Code
M14X 1.5 6 3 28 17 HYG5-5-M14 X 1.5-® 6
M20x15 | 14 8 38 27 HYG5-5-M20 X 1.5-® 14
G1/2" 14 8 38 27 HYG5-5 1/2"-d14
HYG5-6 TigkifkiEsL HYG5-6 Extreme Elbow Pipe Connector
d Do | do | H [ L | s £ 2 Code

M10X 1 10| 6 |20 9 | 50 | 19 HYG5-6-M10 X 1-®10
M14x15 | 14 | 8 | 23 | 12 | 60 | 27 HYG5-6-M14 X 1.5-d 14
M18x15 | 18 | 10 | 30 | 14 | 68 | 32 HYG5-6-M18x 1.5-d 18
M22x15 | 22 | 15| 35 | 14 | 71 | 36 HYG5-6-M22 X 1.5-© 22
M27 X 2 28 | 20 | 37 | 16 | 82 | 41 HYG5-6-M27 X 2-D 28
M33X 2 34 | 25| 40 | 16 | 92 | 50 HYG5-6-M33 X 2-® 34
M42 X 2 42 | 32| 47 | 18 | 103 | 60 HYG5-6-M42 X 2- 0 42
M48 X 2 50 | 40 | 54 | 20 | 115 | 70 HYG5-6-M48 X 2- 50

HYG5-7 Ti@&kimik®EEL HYG5-7 Conical Pipe Connector for Elbow Pipe Extreme

H

d Do do H | L S £ S Code

Z1/8" 10 6 20 9 51 19 HYG5-7-Z 1/8"-® 10

Z1/4" 14 8 22 11 60 | 27 HYG5-7-Z 1/4"-D 14

Z3/8" 18 10 | 28 12 | 68 | 32 HYG5-7-Z 3/8"-9 18

Z1/2" 22 15 | 36 15 | 73 | 36 HYG5-7-Z 1/2"- D22

Z3/4" 28 | 20 | 38 17 | 82 | 41 HYG5-7-Z 3/4"- D28

Z1" 34 | 25 | 43 19 | 94 | 50 HYG5-7-Z1"-9 34

Z11/4" 42 | 32 | 51 22 | 105 | 60 HYG5-7-Z1 1/4"-D 42
Z11/2" 50 | 40 | 57 23 | 1151 70 HYG5-7-Z21 1/2-P 50

‘0 £ AWK A 1 HIRAS

anhui Tiankang group piping valve co.,ltd




HYG5-8 ITigrhig)iEsl HYG5-8 Elbow Pipe Intermediate Connector HYG5-12 i%sL. HYG5-12 Plug

Do Do’ L [ H S £ & Code do L s & 2 Code
Do 6 6 17 2 40 17 HYG5-8-06 s
TR G 208 B 2= XT3 v wizizs | T | s
! 14 14 25 2 57 27 HYG5-8-® 14 I - — -
g L;é— 18 18 29 > 66 32 HYG5.8.018 |_ M22%1.5 23 24 HYG5-12-M22 X 1.5
||— ~ I 29 29 32 2 69 36 HYG5-8-D 22 - M27 X1.5 25 30 HYG5-12-M27 X 1.5
o I|_ a 28 28 36 2 77 41 HYG5-8-D 28 \I— M30X1.5 27 32 HYG5-12-M30 X 1.5
_.—%J 34 34 41 2 87 50 HYG5-8-® 34 M36 % 2 31 41 HYG5-12-M36 X 2
m 42 42 48 3 98 60 HYG5-8- D42 -, M42 % 2 35 46 HYG5-12-M42 X 2
50 50 55 3 109 70 HYG5-8-©50 L M52 2 41 55 HYG5-12-M52 X 2
M60 X 2 46 65 HYG5-12-M60 X 2

HYG5-9 TiEzthiEsl HYG5-9 Elbow Pipe through-board Connector
HYG5-13 128 HYG5-13 Nut

‘ Do do L H h Si S: X 5 Code S d D L s £ 2 Code
! 6 3 43 68 57 17 17 HYG5-9-96 —L
‘ 10 6 51 76 63 22 19 HYG5-9-D10 M12X1.25 6 12 17 HYG5-13-M12X1.25
E*r: = 14 8 59 88 70 30 27 HYG5-9-D 14 M16X1.5 10 14 19 HYG5-13-M16 X 1.5
si | 18 10 67 95 75 36 32 HYG5-9-918 M22X1.5 14 17 27 HYG5-13-M22X 1.5
§ | 22 15 71 103 79 41 36 HYG5-9-922 ® a M27X1.5 18 20 32 HYG5-13-M27 X 1.5
} 28 20 79 111 84 50 41 HYG5-9-928 M30X1.5 22 21 36 HYG5-13-M30X 1.5
Sii il j 34 25 90 122 91 55 50 HYG5-9-934 M36 X2 28 22 41 HYG5-13-M36 X 2
%—) 42 32 100 137 100 65 60 HYG5-9-042 M42 X 2 34 26 50 HYG5-13-M42 X 2
50 40 110 150 108 75 70 HYG5-9-950 L M52 X 2 42 28 60 HYG5-13-M52 X 2
M60 X 2 50 30 70 HYG5-13-M60 X 2

HYG5-10 =i@dhjgiEsk HYG5-10 T-pipe Intermediate Connector
HYG5-13 ##%& HYG5-13 Connecting Pipe

Do do L H S £ 2 Code

6 3 82 41 17 HYG5-10- D6 Do do D L £ = Code

10 6 96 48 19 HYG5-10-®10 6 3 10 25 HYG5.14-06

14 8 116 58 27 HYG5-10-® 14 _

18 10 132 66 32 HYG5-10-® 18 1 10 6 14 29 HYGS-14-D 10

22 15 138 69 36 HYG5-10- 22 al 5 N e 1; 180 zg 23 :zgg'm'z 1;

28 20 156 78 41 HYG5-10-®28 il

- 34 25 176 88 50 HYG5-10-®34 il 22 15 27 38 HYGS-14-©22

42 32 195 99 60 HYG5-10- 0 42 ] 28 20 33 41 HYGS5-14-28

50 40 218 109 70 HYG5-10-® 50 L 34 25 39 44 HYG5-14- 34
42 32 49 46 HYG5-14- 42
50 40 57 50 HYG5-14-® 50

HYG5-11 MigErhiglEsk HYG5-11 Corsshar Intermediate Connector
HYG5-15 12#% HYG5-15 Flexible Deconnecting Pipe

Do do L S X S Code
Do do D L | £ S Code
6 3 82 17 HYG5-11-06
s 10 6 96 19 HYG5-11-©10 1 6 3 14 29 5 HYG5-15-06
14 8 116 27 HYG5-11-© 14 . = 10 6 20 33 5 HYG5-15-$10
& 18 10 132 32 HYG5-11-018 ] 14 8 24 37 5 HYG5-15-d 14
22 15 138 36 HYG5-11-®22 R %I i I 18 10 27 38 6 HYG5-15-® 18
28 20 156 41 HYG5-11-28 22 15 33 41 6 HYG5-15-® 22
34 25 176 50 HYG5-11-® 34 _|_| 28 20 39 44 6 HYG5-15- 28
42 32 195 60 HYGS5-11-042 . 34 25 49 46 8 HYG5-15-034
50 40 218 70 HYGS5-11-050 42 32 57 50 8 HYG5-15-042
www.tiankanggf.com 20 21 O ERRREA ML ARE S




HYG5-16 EHiE#imiEk

HYG5-16 Extreme Straight-through Sleeve

do

HYG5-17 Hi@&kimgEEiEL

HYG5-17 Extreme Straight-through

Sleeve for Conical Pipe

do

HYG5-18 EiEhialsk

HYG5-18 Straight-through Intermediate Sleeve

Si

www.tiankanggf.com

d Do| do| L | S| Sz 1‘% ‘% Code
M10X1 6 | 3[45]9 [14[17| HYG5-16-M10X1-D6
M10X1 10[ 4 [51]19 |17 19| HYG5-16-M10X1-210
M14X1.5 |10| 6 | 55[12[19[ 19| HYG5-16-M14X1.5-910
M14X1.5 14| 8 | 61[12[24 [ 27| HYG5-16-M14X1.5-9 14
M18X1.5 |[14|10|63[14 [27 [ 27| HYG5-16-M18X1.5-D 14
M18X1.5 |18|10|69[14[30[32| HYG5-16-M18X1.5-918
M22X1.5 |[18|12|69[14[32[32| HYG5-16-M22X1.5-918
M22X1.5 |22|12|70[14[32 36| HYG5-16-M22X1.5-922
M27X1.5 |22|15|74[16 (36 [ 36| HYG5-16-M27 X2-D22
M27X1.5 |28 |17|79[16 [41[41| HYG5-16-M27 X2-D28
M33 X2 28[20[ 79|16 |41 41| HYG5-16-M33X2-P28
M33 X2 34122|86|16 (46 | 50| HYG5-16-M33X2-934
M42 X2 34125[/92|18 55|50 HYG5-16-M42X2-934
M42 X2 42128[96(18 |55 | 60| HYG5-16-M42X2-D42
M48 X2 42132[98(20|60|60| HYG5-16-M48X2-D42
M48 X2 50140(106/20 [65| 70| HYG5-16-M48X2-D50
M10 X1 6| 3[77(41114[17] HYG5-16J-M10X1-D6
M10 X1 10 4 [ 86|44 |17 119| HYG5-16J-M10X1-P10
M14X1.5 |10| 6 [90[47 [19[19| HYG5-16J-M14X1.5-D10
M14X1.5 |14 8 [104[55[24 | 27| HYG5-16J-M14X1.5-D 14
M18X1.5 |14|10[106[57 [27 | 27| HYG5-16J-M18X1.5-D 14
M18X1.5 |18|10[114{59 [30[32| HYG5-16J-M18X1.5-918
M22X1.5 |18|12[114[59 [32 | 32| HYG5-16J-M22X1.5-918
M22X1.5 |22|12[118[60 |32 | 36| HYG5-16J-M22X1.5-D22
M27 X2 22115]122/64 [36 | 36 | HYG5-16J-M27 X2-D 22
M27 X2 2817 [133]70 |41 41| HYG5-16J-M27 X2-D28
M33 X2 28120[133/70 |41 41| HYG5-16J-M33X2-D28
M33 X2 34|22|151[81 [46 [ 50| HYG5-16J-M33X2-934
M42 X2 3412515783 [55 | 50| HYG5-16J-M42X2-D34
M42 X2 4228 [168[90 |55 | 60| HYG5-16J-M42X2-D42
M48 X2 42)132[172/92 |60 | 60| HYG5-16J-M48 X2-D42
M48 X2 50140(184/98 [65]| 70| HYG5-16J-M48X2-D50

d Do[do| L[] |Si]|S2 X 5 Code
2G1/8" 101 6 [52] 9 | 19]19 HYG5-17-2G1/8"-D 10
2G1/4" 14| 8 60| 11| 24|27 HYG5-17-2G1/4"-D 14
2G3/8" 18110(67[12]|30( 32 HYG5-17-ZG3/8"- D18
2G1/2" 22|15|73|15|36[36 HYG5-17-ZG1/2"-D 22
2G3/4" 28120|80[17 (41|41 HYG5-17-ZG3/4"- D 28
zG1" 34[(25]193[19|50]| 50 HYG5-17-ZG1"-9 34
ZG11/4" 14232 [100] 22 | 60 | 60 HYG5-17-ZG1 1/4"- D42
z2G1.1/2" 50140109/ 23 [ 65| 70 HYG5-17-2G1 1/2"-D 50
2G1/8" 10| 6 |68]25]|19[19 HYG5-17J-Z2G1/8"- 210
ZG1/4" 14| 8 8329|2427 HYG5-17J-ZG1/4"- D 14
2G3/8" 18110(88[33]|30(32 HYG5-17J-2G3/8"-9 18
2G1/2" 22115|193|35|36(36 HYG5-17J-2G1/2"- D 22
2G3/4" 28120|102| 39|41 41 HYG5-17J-ZG3/4"- D 28
zG1" 341251120[48 [ 50| 50 HYG5-17J-ZG1"-9 34
ZG11/4" 14232 [130/ 52| 60| 60 HYG5-17J-ZG1 1/4"- D42
z2G11/2" 501401142[56 [ 65| 70 HYG5-17J-ZG1 1/2"-D 50

Do do L S S: £ 5 Code

6 3 44 14 17 HYG5-18-96

10 6 49 19 19 HYG5-18-0 10
14 8 60 24 27 HYG5-18-d 14
18 10 66 32 32 HYG5-18-9 18
22 15 69 36 36 HYG5-18-0 22
28 20 77 41 41 HYG5-18-028
34 25 88 50 50 HYG5-18- 34
42 32 97 60 60 HYG5-18-D42
50 40 106 70 70 HYG5-18-9 50

22

HYG5-19 EHigFE#RiEsk HYG5-20 Straight-through Through Board Connector

Do do L | Si S Ss X S Code

5 5 6 3 92 55 17 17 17 HYG5-19-9 6
_@Hﬁ#ﬁ_ 10 6 104 | 61 19 22 19 HYG5-19-9 10
i 7 r 14 8 17 68 27 30 27 HYG5-19- 0 14
D e | ———& 18 10 | 127 | 72 32 36 32 HYG5-19-0 18
: - 22 15 | 134 | 76 36 41 36 HYG5-19- $ 22
- g 28 | 20 | 144 | 81 | 41 | 50 | 4 HYG5-19-¢ 28
‘ 34 25 | 160 | 88 50 55 50 HYG5-19-$ 34
42 32 | 174 | 96 60 65 60 HYG5-19- 0 42
50 40 | 190 | 104 70 75 70 HYG5-19- 50

HYG5-20 [ Hh&xRE&E#ESL HYG5-20 Manometer Straight-through Sleeve
S
d Do do L S f£ 2 Code
= e M14% 1.5 6 3 28 17 HYG5-20-M14 X 1.5-D6
J M20% 1.5 14 8 38 27 HYG5-20-M20 X 1.5-d 14
4J G 1/2" 14 8 38 27 HYG5-20-G 1/2"-® 14
L

HYG5-21 &iEkimiEsk

L

Do

s

HYG5-22 TF&RimthE L

L_lh-:_lJ

Do |

HYG5-23 Tk

HYG5-21 Extreme Elbow Pipe Connector

d Do do L | H S £ 5 Code
M10X 1 10 6 20 9 46 | 19 HYG5-21-M10 X 1- b 10
M14X1.5 14 8 23 12 55 27 HYG5-21-M14 X 1.5- b 14
M18X1.5 18 10 30 14 63 32 HYG5-21-M18 X 1.5- $ 18
M22X1.5 22 15 35 14 66 36 HYG5-21-M22 X 1.5- b 22
M27 X2 28 20 37 16 86 41 HYG5-21-M27 X 2- 28
M33X 2 34 25 40 16 76 50 HYG5-21-M33 X 2- $ 34
M42X 2 42 32 47 18 95 60 HYG5-21-M42 X 2- b 42
M48 X2 50 40 54 20 [ 107 | 70 HYG5-21-M48 X 2- $ 50

HYG5-22 Extreme Elbow Pipe Connector for Conn Conical Pipe

d Do | do | L | I H | s £ 2 Code
ZG1/8" 10 | 6 | 20 | 9 |47 | 19 | HYG522-ZG1/8"-®10
ZG1/4" 14 | 8 | 22 | 11 |55 | 27 | HYG522-ZG1/4"-®14
ZG3/8" 18 | 10 | 28 | 12 | 63 | 32 | HYG5-22-2G3/8"- 018
ZG1/2" 22 | 15 | 36 | 15 | 68 | 36 | HYG5-22-2G1/2"-®22
ZG1/4" 28 | 20 | 38 |17 | 76 | 41 HYG5-22-2G1/4"-® 28
ZG1" 34 | 25 | 43 |19 | 88 | 50 | HYG5-22-ZG1"-®34
ZG11/4" | 42 | 32 | 51 | 22 | 98 | 60 | HYG5-22-ZG1 1/4"- D42
ZG11/2" | 50 | 40 | 57 | 23 | 107 | 70 | HYG5-22-ZG1 1/2"-®50

HYG5-23 Elbow Pipe Intermediate Connector

D Do L | S H £ = Code

6 6 17 2 17 39 HYG5-23- ¢ 6

10 10 20 2 19 46 HYG5-23- 9 10
14 14 25 2 27 55 HYG5-23-9 14
18 18 29 2 32 63 HYG5-23-¢ 18
22 22 32 2 36 66 HYG5-23- ¢ 22
28 28 36 2 41 74 HYG5-23- ¢ 28
34 34 41 2 50 84 HYG5-23- ¢ 34
42 42 48 3 60 94 HYG5-23- $ 42
50 50 55 3 70 105 HYG5-23- ¢ 50

23 £ AWK A 1 HIRAS

anhui Tiankang group piping valve co.,ltd




HYG5-24 TiEEthiE HYG5-24 Eibow Pipe Through Board Connector

HYG5-28 m@iRiEiEE

HYG5-29 1% (—)
HYG5-28 Welding Connecting Pipe for Elbow Pipe HYG5-29 Plug(1)

do
== D d L H h S S £ = Code
} 6 3 41 66 | 55 17 17 HYZ5-24-06
i . 10 6 49 74 | 61 22 19 HYZ5-24-© 10
- T s: 14 8 56 85 | 68 30 27 HYZ5-24- 0 14
! 18 10 64 92 | 72 36 32 HYZ5-24-0 18
| - 22 15 68 100 | 76 41 36 HYZ5-24- 022
L* ********* | — = 28 20 76 108 | 81 50 41 HYZ5-24- 028
ﬁ -] 34 25 87 119 | 88 55 50 HYZ5-24- 0 34
‘ L 42 32 96 133 | 96 65 60 HYZ5-24- 042
50 40 107 | 147 | 104 | 75 70 HYZ5-24-© 50
HYG5-25 =igdhjaliEsk HYG5-25 T-pipe Intermediate Connector
Do do L H s £ = Code
6 3 78 39 17 HYZ5-25-®6
10 6 92 46 19 HYZ5-25-®10
14 8 110 55 27 HYZ5-25-® 14
18 10 125 62 32 HYZ5-25- 18
22 15 130 65 36 HYZ5-25-® 22
28 20 148 74 41 HYZ5-25-® 28
34 25 168 84 50 HYZ5-25-® 34
42 32 188 94 60 HYZ5-25-® 42
50 40 208 103 70 HYZ5-25-® 50
HYG5-26 MigErhigiEsl HYG5-26 Crossber Intermediate Connector
Do
7]
i Do do L S f£ 2 Code
s | fekk 6 3 78 17 HYZ5-26-06
! 10 6 92 19 HYZ5-26-10
o 1 | J; 14 8 110 27 HYZ5-26-® 14
—— N—I— 18 10 125 32 HYZ5-26-0 18
1) ! L
=2 22 15 130 36 HYZ5-26- 22
e 28 20 148 41 HYZ5-26-® 28
! 34 25 168 50 HYZ5-26-® 34
H 42 32 188 60 HYZ5-26-® 42
L 50 40 208 70 HYZ5-26-® 50
HYG5-26 #:iEEEL HYG5-26 Articulated Pipe Connector
L d Do | do | L | H| h | S f£ 2 Code
S .
! M10X 1 10 4 [ 163217 | 177 | HYz5-27-M10x1-®10
T : M14x15 | 14 | 8 | 22 | 40 | 22 | 19 | HYZ5-27-M14X15-014
] A= M18x15 | 18 | 11 | 27 | 47 | 26 | 24 | HYZ5-27-M18%x1.5-018
A | M20x15 | 18 | 12 | 27 | 47 | 26 | 27 | HYZz5-27-M20x15-018
| = M22x15 | 22 | 14 | 33 | 58 | 32 | 30 | HYZ5-27-M22x1.5-022
» M24x15 | 22 | 16 | 33 | 58 | 32 | 32 | HYZ5-27-M24x1.5-022
q M27 X 2 28 | 18 | 38 | 67 | 36 | 36 | HYZ5-27-M27x2-128
www.tiankanggf.com 24

o +——+
‘_j L
L
L
Do do L H & 2 Code do L H £ 2 Code
6 3 9 9 HYZ5-28-06 M12X1.25 16 14 HYZ5-29-M12X1.25
10 6 1 1 HYZ5-28-D 10 M16X1.5 18 17 HYZ5-29-M16 X1.5
14 8 14 14 HYZ5-28-D 14 M22X1.5 21 24 HYZ5-29-M22 X 1.5
18 10 16 16 HYZ5-28-D 18 M27 X 1.5 23 30 HYZ5-29-M27 X 1.5
22 15 18 18 HYZ5-28- D22 M30X1.5 24 32 HYZ5-29-M30 X 1.5
28 20 21 21 HYZ5-28- 028 M36 X 2 28 41 HYZ5-29-M36 X 2
34 25 25 25 HYZ5-28-D 34 M42 X 2 32 46 HYZ5-29-M42 X 2
42 32 29 29 HYZ5-28- 042 M52 X 2 38 55 HYZ5-29-M52 X 2
50 40 33 33 HYZ5-28-050 M60 X 2 42 65 HYZ5-29-M60 X 2
HYG5-30 i3 (=) HYG5-31 {25 s
HYG5-30 Plug(2 HYG5-31 Nut
o I 5 T T\ T2
L L
d L S £ = Code d Do L S £ = Code
M12X1.25 | 12 17 HYZ5-30-M12 %X 1.25 M12Xx1.25 6 12 17 HYZ5-31-M12 %X 1.25
M16X1.5 14 19 HYZ5-30-M16 X 1.5 M16x1.5 | 10 14 19 HYZ5-31-M16 X 1.5
M22X1.5 17 27 HYZ5-30-M22 X 1.5 M22X15| 14 17 | 27 HYZ5-31-M22 X 1.5
M27 X 1.5 20 32 HYZ5-30-M27 X 1.5 M27X15] 18 20 | 32 HYZ5-31-M27 X 1.5
M30X1.5 21 36 HYZ5-30-M30 % 1.5 M30X1.5 | 22 21 36 HYZ5-31-M30 %X 1.5
M36 X 2 22 41 HYZ5-30-M36 X 2 M36 X 2 28 22 | 41 HYZ5-31-M36 X 2
M42 X 2 26 50 HYZ5-30-M42 X 2 M42 % 2 34 26 | 50 HYZ5-31-M42 X 2
M52 X 2 28 60 HYZ5-30-M52 X 2 M52 % 2 42 28 | 60 HYZ5-31-M52 X 2
M60 X 2 30 70 HYZ5-30-M60 X 2 M60 X 2 50 30 | 70 HYZ5-31-M60 X 2
HYG5-32 & HYG5-33 TREE
HYG5-32 Comeeting Pipe HYG5-32 Flexible Connecting Pipe
I L
als| T ———— S _
al s | ——— B =
L
L
Do d D L & = Code :
6 3 | 10 | 20 HYZ5-32-96 Do | d b | ¢t : f 5 Code
10 6 14 24 HYZ5-32-910 6 3 24 20 5 HYZ5-33-06
14 8 20 28 HYZ5-32-D 14 10 6 28 24 5 HYZ5-33-010
18 10 24 32 HYZ5-32-018 14 8 32 28 5 HYZ5-33-D 14
22 15 27 32 HYZ5-32-022 18 10 32 32 6 HYZ5-33-018
28 20 33 35 HYZ5-32-D28 22 15 35 32 6 HYZ5-33-022
34 25 39 38 HYZ5-32- 34 28 20 38 35 6 HYZ5-33-028
42 32 49 40 HYZ5-32- D42 34 25 40 38 8 HYZ5-33- 34
50 40 27 44 HYZ5-32- D50 42 32 44 | 40 8 HYZ5-33- 042

25

P \GRKER
“

anhui Tiankang group piping valve co.,ltd

RAEMIFBIRAS




HYG6-16 %3 8= &M 4

HYG6-16 Gauge Pipe Auxliary
HYG6 FiERA L

HYG6 Spigot-and-solket pipe connector

HYG6-1 ZifER Tk HYG6-1 Spigot-and-socket Socket Reducing

- #8120, 1Cr18Ni9Ti. 316. 316L
- Material: 20. 1Cr18Ni9Ti. 316. 316L

HYG6-2 %iFIES &L HYG6-2 Spigot-and-socket Welding Elbow Pipe Connector

Do

do
|

CRIRIE= @=L HYGG6-2 Spigot-and-socket Welding T-pipe Connector

Do

do

HYG6-4 iR MiE L

do

Do

——

Do Do’ D L XS Code No.

28 19 35 42 HYG6-1-$28-9 19
35 19 44 45 HYG6-1-©35-9 19
49 19 65 48 HYG6-1-9©49-®19
28 23 35 44 HYG6-1- 0 28-P 23
35 23 44 47 HYG6-1- D 35-9 25
49 23 65 50 HYG6-1-D49-D 23
35 28 44 48 HYG6-1-® 35-P 28
49 28 65 52 HYG6-1-D49- D28

Do do L S Code No.
15 " 22 HYG6-2-D 15
19 13 25 HYG6-2-D19
23 18 30 HYG6-2- D23
28 23 35 HYG6-2-D 28
35 29 40 HYG6-2-D 35
49 43 53 HYG6-2- 049

Do do L H = Code No.
15 11 44 22 HYG6-3-9 15
19 13 50 26 HYG6-3-9 19
23 18 60 30 HYG6-3-923
28 23 70 35 HYG6-3- 28
35 29 80 40 HYG6-3-9 35
49 43 106 53 HYG6-3-949

www.tiankanggf.com

HYG6-2 Spigot-and-socket Welding Crossbar Connector

Do do L S Code No.
15 " 44 HYG6-4-D 15
19 13 50 HYG6-4-D19
23 18 60 HYG6-4- D23
28 23 70 HYG6-4- D28
35 29 80 HYG6-4- D 35
49 43 106 HYG6-4- D49
26

HYG7 MR &L - #%! material 20. 304. 1Cr18Ni9Ti. 316. 316L
HYG7-1 Female Pipe Adapter - #3%(%Jthread canbe M. G. ZG. PT. NPT
HYG7-1 MIgg i34k d1 d2 L | s £S5 Code
HYG7-1 Inside Thread RedUCing Union 7G 1/4" 7G 1/4" 30 19 AYG7-1-2G1/4"
4 . g ZG 3/8" ZG 3/8" 35 [ 19 HYG7-1-ZG3/8"
: ZG 1/2" ZG 1/2" 45 | 24 HYG7-1-2G1/2"
f / ZG 3/4" ZG 3/4" 50 | 30 HYG7-1-ZG 3/4"
ZG1" ZG1" 55 | 36 HYG7-1-ZG1"
ZG11/2" ZG11/2" | 65 | 50 HYG7-1-2G11/2"
ZG2" ZG2" 70 | 60 HYG7-1-ZG2"
T ZG 1/2" ZG 1/4" 45 | 24 HYG7-1-ZG1/2"-ZG 1/4"
ZG 3/4" ZG 3/8" 50 | 30 HYG7-1-ZG3/4"-ZG 3/8"
ZG1" ZG 3/8" 60 | 36 HYG7-1-ZG1"-ZG 3/8"
T ZG1" ZG 3/4" 60 | 36 HYG7-1-ZG1"-ZG 3/4"
ZG11/2" ZG 3/4" 70 | 50 HYG7-1-ZG11/2"-ZG3/4"
L ZG11/2" ZG1" 70 | 50 HYG7-1-ZG11/2"-ZG1"
ZG2" ZG1" 75 | 60 HYG7-1-2G2"-ZG1"
HYG7-2 Rigg i@k -
HYG7-3 Inside Thread Elhow Pipe Conrector dr d2 do | L H X5 Code
ZG 1/4" ZG 1/4" 8 | 21 | 21 | HYG7-2-ZG 1/4"
ZG 1/2" ZG 1/2" 14 | 28 | 28 | HYG7-2-ZG 1/2"
ZG 3/4" ZG 3/4" 20 | 34 | 34 | HYG7-2-ZG 3/4"
ZG1" ZG1" 25 | 39 | 39 | HYG7-2-ZG1"
ZG1 1/4" ZG11/4" | 32 | 45 | 45 | HYG7-2-ZG1 1/4"
ZG11/2" ZG11/2" | 38 | 50 | 50 | HYG7-2-ZG11/2"
ZG2" ZG2" 48 | 59 | 59 | HYG7-2-ZG2"
d ZG 172" ZG 1/4" 8 | 24 | 25 | HYG7-2-ZG1/2" -ZG 1/4"
ZG 3/4" ZG 1/4" 8 | 28 | 18 | HYG7-2-ZG3/4" -ZG 1/4"
d: ZG1" ZG 1/2" 14 | 33 | 33 | HYG7-2-2G1" -ZG 1/2"
ZG1 1/4" ZG 1/2" 14 | 37 | 36 | HYG7-2-ZG11/4" -ZG1/2"
T ZG11/2" ZG 1/2" 14 | 40 | 37 | HYG7-2-2G11/2" -ZG1 1/2"
- ZG 3/4" ZG 1/2" 14 | 32 | 31 | HYG7-2-ZG3/4" -ZG1/2"
‘ ZG 1/4" ZG 1/4" 8 | 21 | 21 | HYG7-2-ZG 1/4"
= S N . ZG 1/2" ZG 1/2" 13 | 28 | 28 | HYG7-2-ZG 1/2"
i ZG 3/4" ZG 3/4" 18 | 34 | 34 | HYG7-2-ZG 3/4"
‘ ZG1" ZG1" 23 | 38 | 38 | HYG7-2-ZG1"
f— | ZG1 1/4" ZG11/4" | 30 | 44 | 44 | HYG7-2-ZG11/4"
ZG11/2" ZG11/2" | 36 | 48 | 48 | HYG7-2-ZG11/2"
L } ZG2" ZG2" 45 | 57 | 57 | HYG7-2-ZG2"
ZG 1/2" ZG 1/4" 8 | 24 | 25 | HYG7-2-ZG 1/2" -ZG 1/4"
ZG 3/4" ZG 1/4" 8 | 27 | 29 | HYG7-2-ZG 3/4" -ZG 1/4"
ZG1" ZG 1/2" 13 | 33 | 33 | HYG7-2-2G1" -ZG 1/2"
ZG11/4" ZG 1/2" 13 | 37 | 36 | HYG7-2-ZG11/4" -ZG 1/2"
ZG11/2" ZG 1/2" 13 | 39 | 37 | HYG7-2-ZG11/2" -ZG 1/2"
ZG 3/4" ZG 1/2" 13 | 30 | 31 | HYG7-2-ZG 3/4" -ZG 1/2"
HYG7-3 MR =@k dr d2 ds  |do|L |H S Code
HYG7-3 Inside Thread T-pipe Conrector 77/~ 7G1/4" | 7G1/4" | 8 [43]21] AYG7-3-2G1/4"
ZG1/2" ZG1/2" | ZG1/2" | 14|57]28] HYG7-3-ZG1/2"
ZG3/4" ZG3/4" | 7G3/4" | 20(68]34] HYG7-3-ZG3/4"
ZG1" ZG1" ZG1"__ | 25(79(39] HYG7-3-ZG1"
ZG11/4" | ZG11/4" | ZG11/4" | 32]90[45] HYG7-3-ZG11/4"
d ZG11/2" | zG11/2" | ZG11/2" | 38[10050] HYG7-3-2G11/2"
! ZG2" ZG2" ZG2" 4811859 HYG7-3-2G2"
ZG1/2" ZG 3/4" | 7G 3/4" | 20[62[31] HYG7-3-ZG 1/2" -ZG 3/4" -ZG 3/4'
d d; ZG3/4" ZG 1/2" | ZG 1/2" | 20(65[34] HYG7-3-ZG3/4"-ZG1/2"-ZG1/2"
ZG1/2" ZG1" ZG1"__ | 25(68[33| HYG7-3-Z2G1/2"-Z2G1"-ZG1"
ZG1" ZG1/2" | ZG1"__ | 25|73[39] HYG7-3-ZG1"-ZG1/2"-ZG1
ZG11/2" | ZG11/4" | ZG11/4™ | 32[72[37] HYG7-3-2G1/2"-ZG11/4"-ZG11/4"
ZG11/4" | ZG1/2" | ZG11/4" | 32[82[45| HYG7-3-Z2G11/4"-ZG1/2"-ZG11/4"
5 ZG1/2" ZG11/2" | 7G11/2" | 38]76[40] HYG7-3-ZG1/2"-ZG11/2"-ZG11/2"
ZG11/4" | ZG1/2" | ZG11/2" | 38]90[50] HYG7-3-ZG11/4"-ZG1/2" -ZG11/2"
— ZG1/4" ZG1/4" | 7G11/2" | 8 |42[21] HYG7-3-ZG1/4"-ZG1/4"-ZG11/2"
c— ZG1/2" ZG1/2" | ZG1/4" [13|56]28] HYG7-3-Z2G1/2"-ZG 1/2"-ZG1/4"
ZG3/4" ZG3/4" | 7G1/2" [18]68]34] HYG7-3-ZG3/4"-ZG3/4"-ZG1/2"
ZG1" ZG1" ZG3/4" | 23]76(38] HYG7-3-Z2G1"-ZG1"-ZG3/4"
ZG11/4" | ZG11/4" | ZG1" | 30[89[44] HYG7-3-ZG11/4"-ZG11/4™-ZGT"
ZG11/2" | ZG1/2" | ZG11/4" | 36]97]48] HYG7-3-Z2G11/2"-ZG11/2"-ZG11/4"
ZG2" ZG2" ZG11/2" | 4511557 HYG7-3-2G2"-2G2"-ZG11/2"
PINGHRRKREAZRNTEIRAS

27

anhui Tiankang group piping valve co.,ltd




HYG8 2R E#E:L
HYG8 Metal Hose Connector
##l material 20. 1Cr18Ni9Ti. 316. 316L

Si S2 d S

: A

= _/

L L

YZG8-1 YZG8-2

HYG8-1 N &RREHEL (—)
HYG8-1 Lnsid Hread Metal Hose Connector(1)

= Code No

d Do [do| L |Si|S2

HYG8-1-ZG 1/2"-DN15
HYG8-1-ZG 3/4"-DN15
HYG8-1-ZG1"-DN15

HYG8-1-ZG 1/2"-DN20

ZG 1/2" [19.5(15(59(30|30
ZG 3/4" (19.5(15(62(32|30
ZG1" 19.5|15|65|36 |30
ZG1/2" | 25 [17|75|36 |36
ZG 3/4" | 25 (20|77 (36|36 HYG8-1-ZG 3/4"-DN20
ZG1" 25 |20|79(36|36 HYG8-1-ZG1"-DN20

HYG8-2 MG & RMEEL (D)
HYG8-2 Lnsid Hread Metal Hose Connector(2)

HYG9 g E Rk
HYG8 Rubber hose connector
##l Material 20. H62

HYGO-1 i R E 1R IR E 15k
HYG9-1 Extreme Welding Rubber Hose Connector

<+
Ny o

D14
D8

HYGY-1 insE g IR E L (—)
HYG9-1 Extreme Thread Rubber Hose Connector(1)

d Do L S

zG1/2" 13 | 83 | 27
zG1/2" 17 | 83 | 27
72G1/2" 21 | 83 | 27
2G3/4" 21 | 57 | 27
ZG1" 31 | 76 | 41
ZG11/2" | 46 | 84 | 58

= Code No

HYG8-2-2G1/2"-P13
HYG8-2-2G1/2"-D 17
HYG8-2-2G1/2"- P 21
HYG8-2-2G3/4"- D 21
HYG8-2-2G1"- @ 31
HYG8-2-2G11/2"- 246

HYG8-3 Mg &BHRERK (Z)
HYG8-3 Lnsid Hread Metal Hose Connector(3)

St S2

=

=)
=3 [ .y

d

Do

L

d Do|do|L |1 |SiS2 5 Code No

M16X1.5| 17 |11|49|12| 27|27
M18X1.5/19.5/13| 56| 14| 30| 30
M20X1.5[19.5/ 14| 56| 14| 30| 30
M27X2 |25|20|64|16|36|36
M33X2 |31[25|71|21|41|46
G 1/2" [19.5/14]|56|14|30|30
G 3/4" [19.5(14|58|16[30|30
G1" 25 (20| 69|21| 36|36
ZG 1/2" [19.5/14|60( 18| 30( 30
ZG 3/4" [19.5/14|62(20| 30|30

HYG8-3-M16 X 1.5-DN13
HYG8-3-M18 X 1.5-DN15
HYG8-3-M20X1.5-DN15
HYG8-3-M27 X 2-DN20
HYG8-3-M33 X 2-DN25
HYGB8-3-G 1/2"-DN15
HYG8-3-G 3/4"-DN15
HYG8-3-G1"-DN20
HYGB8-3-ZG 1/2"-DN15
HYG8-3-ZG 3/4"-DN15

www.tiankanggf.com

HYG10 4] (&4) L
HYG10 Cable(pipe Cable) Connector

S
HYG10-1 E#H

HYG10-1 Stuffing Box (] | ] ()

- #4820, 1Cr18Ni9Ti. 316. 316L
- Material: 20. 1Cr18Ni9Ti. 316. 316L

do
i
i
\
|
d

HYG10-2 H#H
HYG10-1 Stuffing Case

S

d do S L K S Code No
M22x1.5 16 32 47 HYG10-1-® 16
M27 X 1.5 20 36 47 HYG10-1-®20
M30X1.5 24 41 66 HYG10-1-®24
M36 X 2 30 55 66 HYG10-1-® 30
M42 X 2 36 55 66 HYG10-1-® 36

HYG10-3 B4i&EHEL(—)
HYG10-3 Cable Pipe Connector (1)

S

S G

d do S L KX S Code No d G do L S X S Code No
M22 X1 7.5 24 28.5 HYG10-2-M22 X 1 G 3/4" G 3/4" |10 42 |58 HYG10-3-9©10
M48X 2 20 55 54 HYG10-2-M48 X 2 G1" G1" 16 50 |67 HYG10-3-0 16

d Dofdo| L lh [ 2]S 5 Code No
M10X1 4| 45 9 |30[14| HYG9-2-M10X1
z2G1/2" 4| 45 9 |30(14| HYG9-2-2G1/2"
2G1/4" 10|16 | 47 13 |30(14| HYG9-2-2G1/4"-1
2G1/4" 8 4| 51 13 [30({14| HYG9-2-ZG1/4"-2
ZG3/8" 4| 52 14 [30{19| HYG9-2-ZG3/8"
G1/2" 188 | 100 20 (50(27| HYG9-2-G1/2"
Z2G1/2" 4575 | 17.5|30|24| HYG9-2-ZG1/2"
G3/4" 24 114| 100 20 |50(/30| HYG9-2-G3/4"
ZG3/4" 814|615 | 19.5/30{32| HYG9-2-ZG3/4"
G1" 30 (18| 100 20 50|41 HYG9-2-G1"

HYG9-3 HREGBRERSL (2)
HYG9-3 Extreme Thread Rubber Hose Connector(2)

- + — |- -5
L
d L = Code No
M10X1 | 54 HYG9-3-M10X 1
ZG 1/4" | 58 HYG9-3-ZG 1/4"
ZG 1/2" |64.5| HYG9-3-G 1/2"
ZG 3/4" |64.5| HYG9-3-G 3/4"

28

HYG10-4 f4i&EHEL (D)
HYG10-4 Cable Pipe Connector (2)

HYG10-5 (R BEIEEL(Z)
HYG10-5 (Shielded) Cable Pipe Connector (3)

29

o U= il
L L
d do| S| S L £ = Code No d do S S| L £ & Code No
M12X1.5 5 |14 [17 |28 HYG10-4-M12X1.5-®5 M16X1.5 |8 19 |22 |43 HYG10-5-M16 X1.5-® 8
M14X1.5 7 |17 [19 |32 HYG10-4-M14 X1.5-©7 M18X1.5 |10 |22 [24 [43 HYG10-5-M18 X1.5-®10
M16X1.5 9 (19 |22 |32 HYG10-4-M16X1.5-®9 M20X1.5 [11 |24 |27 |43 HYG10-5-M20 X 1.5-® 11
M18X 1.5 9 (22 |24 |34 HYG10-4-M18X1.5-®9 M24xX1.5 (14 |27 |30 (48 HYG10-5-M24 X 1.5-® 14
M20X 1.5 11 |24 |27 |34 HYG10-4-M20 X 1.5-® 11 M27 X 2 17 (30 |32 |48 HYG10-5-M27 X 2-D 17
M24X1.5 |13 |27 (30 |40 HYG10-4-M24 X1.5-®13 M30 X 2 20 |32 (36 [54 HYG10-5-M30 X 2-® 20
M27 X2 15 130 |32 |40 HYG10-4-M27 X2-® 15 M33 X2 23 |36 [41 [54 HYG10-5-M33 X2-®23
M30 X2 18 |32 |36 |47 HYG10-4-M30X2-® 18 M36 X 2 26 (41 |46 |59 HYG10-5-M36 X 2- D 26
M33 X2 21 [36 |41 |47 HYG10-4-M33 X 2-® 21 M42 X2 30 [46 |50 |59 HYG10-5-M42 X 2-® 30
M36 X2 24 (41 |46 |50 HYG10-4-M36 X 2-® 24 M45 X2 32 |50 |55 |65 HYG10-5-M45 X 2- D 32
M42 X2 28 [46 |50 |50 HYG10-4-M42 X 2-® 28 M48 X 2 34 [55 |60 |65 HYG10-5-M48 X 2-D 34
M48 X2 32 [55 |60 |56 HYG10-4-M48 X 2-® 32 M56 X 2 36 |60 |65 |74 HYG10-5-M56 X 2-D 36
M60 X2 36 [65 |70 |56 HYG10-4-M60 X 2-D 36 M60 X 2 38 [65 |70 |74 HYG10-5-M60 X 2-® 38
M64 X 2 40 |70 |75 |56 HYG10-4-M64 X 2-®40 M60 X 2 42 (65 |70 |74 HYG10-5-M60 X 2-® 42
PINGHXKEEDAERNIETBERAS

anhui Tiankang group piping valve co.,ltd




HYG1 &L (&)
HYG1 Connector (nouthpiece)

HYG11-1 ERsiEREL (—)
HYG11-1 Straight Connector (1)

- #48k 20, 1Cr18Ni9Ti. 316, 316L

HYG11-2 Ef&#EL (2)
HYG11-2 Straight Connector (2)

|

HYG11-3 45° ffizi&EiEsk
HYG11-3 45° Angle Connector

HYG11-4 R&REREITERER

HYG11-4 Duble-metal Thermometer Straight Mouthpiece

a
|

AAJ

\AJ

e lgls d Do | do D H a I2 =< = Code No
M27 X 2 22 |14 | 47 80 22 8 HYG11-4-1
M27 X 2 22 |14 | 47 100 22 8 HYG11-4-2
M27 X2 22 |14 | 47 140 22 8 HYG11-4-3

HYG11-5 Q& RERE TR ER
HYG11-4 Double-metal Thermometer Oblique Mouthpiece HYG11-6 Surface Thermnoe lement Connector

22

HYG11-6 REHE BiEREL

ZG1/2"

- Material: 20. 1Cr18Ni9Ti. 316. 316L
d Do do D H a l2 £ S Code No
M16X1.5| 14 7 36 80 27 8 | HYG11-1-M16 X 1.5
M20X1.5| 14 7 40 80 27 8 | HYG11-1-M20X 1.5
M27 X2 22 18 47 60 32 8 [HYG11-1-M27 X 2-1
M27 X2 22 18 47 80 32 8 [ HYG11-1-M27 X 2-2
M27 X2 22 18 47 1120 | 32 8 HYG11-1-M27 X 2-3
M27 X2 22 18 47 | 140 | 32 8 [ HYG11-1-M27 X 2-4
M33 X2 30 24 55 60 34 8 [HYG11-1-M33 X 2-1
M33 X2 30 24 55 80 34 8 [HYG11-1-M33X2-2
M33X2 30 24 55 [ 120 | 34 8 [HYG11-1-M33X2-3
M33X2 30 24 55 [ 140 | 34 8 | HYG11-1-M33 X 2-4
G1/2" 21 16 39 60 35 8 | HYG11-1-G1/2" -1
G1/2" 21 16 39 80 35 8 | HYG11-1-G1/2" -2
G1/2" 21 16 39 [120 | 35 8 [HYG11-1-G1/2" -3
G3/4" 25 20 47 60 41 8 [HYG11-1-G3/4" -1
G3/4" 25 20 47 70 41 8 HYG11-1-G3/4" -2
G3/4" 25 20 47 80 41 8 [HYG11-1-G3/4" -3
G3/4" 25 20 47 [ 120 | 41 8 [HYG11-1-G3/4" -4
G1" 35 25 55 60 42 8 [HYG11-1-G1" 1
G1" 35 25 55 70 42 8 | HYG11-1-G1" -2
G1" 35 25 55 80 42 8 | HYG11-1-G1" -3
G1" 35 25 55 [ 120 | 42 8 | HYG11-1-G1" -4
G11/2" 40 30 70 80 45 8 | HYG11-1-G11/2" 1
G11/2" 40 30 70 [ 120 | 45 8 [ HYG11-1-G11/2" -2
d do D H £ 5 Code No
Z2G1/2" 18 30 40 HYG11-2-Z2G1/2" -1
ZG1/2" 18 30 60 HYG11-2-ZG1/2" -2
ZG1/2" 18 30 120 HYG11-2-2G1/2" -3
ZG3/4" 23 35 45 HYG11-2-ZG3/4" -1
2G3/4" 23 35 80 HYG11-2-ZG3/4" -2
Z2G3/4" 23 35 120 HYG11-2-ZG3/4" -3
ZG1" 29 44 50 HYG11-2-ZG1" -1
ZG1" 29 44 80 HYG11-2-Z2G1" -2
ZG1" 29 44 120 HYG11-2-ZG1" -3
ZG11/2" 43 65 70 HYG11-2-ZG11/2" -1
ZG11/2" 43 65 100 HYG11-2-ZG11/2" -2
ZG11/2" 43 65 120 HYG11-2-ZG11/2" -3
d Do do D H S £ S Code No
M27 X2 28 18 47 90 30 HYG11-3-M27 X 2-1
M27 X 2 28 18 47 110 | 30 HYG11-3-M27 X 2-2
M27 X 2 28 18 47 140 | 30 HYG11-3-M27 X 2-3
M27 X2 28 18 47 150 | 30 HYG11-3-M27 X 2-4
M33X 2 36 24 55 90 30 HYG11-3-M33 X 2-1
M33 X2 36 24 | 55 110 | 30 HYG11-3-M33 X 2-2
M33X2 36 24 55 140 | 30 HYG11-3-M33 X 2-3
M33X2 36 24 55 150 | 30 HYG11-3-M33 X 2-4
S G1/2" 27 16 39 90 30 HYG11-3-G1/2"-1
G1/2" 27 16 39 140 | 30 HYG11-3-G1/2"-2
G1/2" 27 16 39 150 | 30 HYG11-3-G1/2"-3
G3/4" 31 20 47 90 30 HYG11-3-G3/4"-1
G3/4" 31 20 | 47 | 140 | 30 HYG11-3-G3/4"-2
G3/4" 31 20 47 150 | 30 HYG11-3-G3/4"-3
ZG1" 41 25 55 90 40 HYG11-3-G1"-1
ZG1" 41 25 55 110 | 40 HYG11-3-G1" -2
zG1" 41 25 55 150 | 40 HYG11-3-G1"-3
ZG11/2" 58 44 70 150 | 25 HYG11-3-G11/2"
30

www.tiankanggf.com

~ e
X [ :J X o g
“ B I N g 5
110
48
HYG11-7 gRWEE d |Do|de| L R I IS #® 2 CodeNo
HYG11-6 Thermometer Bush G34" 14| 8| 79 35 |24|30] HYG11-7-G 3/4"-014-79
G3/4" [14] 8 99 55 24130 HYG11-7-G 3/4"- 14-99
G3/4" [14] 8] 119 75 24[30] HYG11-7-G 3/4"-® 14-119
G3/4" [14[ 8] 139 95 2430  HYG11-7-G 3/4"-®14-139
G3/4" [14[ 8] 179 135 [24]30] HYG11-7-G 3/4"- D 14-179
G3/4" [14[ 8] 219 175 [ 24]30] HYG11-7-G 3/4"-®14-219
I s | s G3/4" [14] 8] 269 225 | 24|30 HYG11-7-G 3/4"- D 14-269
P G3/4" [14] 8] 339 295 | 24|30 HYG11-7-G 3/4"-®14-339
G3/4" [14] 8] 419 375 |24[30] HYG11-7-G 3/4"-D14-419
G3/4" [14[ 8] 519 475 | 24|30 HYG11-7-G 3/4"-®14-519
G1" 22[16] 172 120 [29]36] HYG11-7-G1"-®22-172
s .gt, ,,,,,,,,,,,,,,,, S G1"_[22]16] 222 170 [29]36[ HYG11-7-G1"-22-222
. G1" 22[16] 322 270 | 29]36] HYG11-7-G1"-®22-322
] G1" 22[16] 422 370 | 29]36] HYG11-7-G1"-022-422
G1" 22[16] 522 470 | 29]36] HYG11-7-G1"-®22-522
tl— G1" 22[16] 772 720 [29[36] HYG11-7-G1"-922-772
L G1" 22|16 1022 970 [29]36] HYG11-7-G1"-922-1022
G1" 22]16] 1272 1220 |29[36] HYG11-7-G1"-$22-1272
G1" 22|16 2022 1970 | 29[36] HYG11-7-G1"-$22-2022
G1" 22|16 2522 2170 [ 29][36] HYG11-7-G1"-®22-2522
HYG11-8 iR iRz (—) HYG11-9 ;R i iiiEsL (2)
HYG11-8 Thermometer Adapter(1) HYG11-9 Thermometer Adapter(2)
I S b S
" 4\fl_£
:—f_/_; I T2
L L
D d do L | S 'f’% '%' Code No di d2 do L lhill]|S 'f‘% = Code No
G1" G 3/4" |24 47 |20 |50 HYG11-8-G1" G 3/4" |M27x2 |®12 |43 (18 |20 B6 | HYG11-9-G 3/4"
M27 %2 | G 3/4" |18 |47 |20 |50 HYG11-8-M27 X 2 G1"  |M27x2 |®12 |45 (20 |20 B6 | HYG11-9-G1"
31 ( SHRAKFEEDERIEETRAS

anhui Tiankang group piping valve co.,ltd




HYG12 FEHFEL
HYG12 Manometor Connector

HYG12-1 EFRimEEL

##l: 20. 1Cr18Ni9Ti. 316. 316L
Material:

HYG12-1 Valve Connector to Meter

20

N

1Cr18Ni9Ti. 316. 316L

HYG12-2 EhFRAEEL HYG12-2 Manometer Combined Connector

S

d2

HYG12-3 EHFREEL(A) HYG12-3 Manometer Connector(A)

23

S
d1 l

\
!
!
\
|
[
\
|

-

HYG12-4 EHFREL(B) HYG12-4 Manometer Connector(B)

[T

d2

HYG12-5 £ /1%¥EL(C) HYG12-5 Manometer Connector(C)

d1 St S2

do

[T]

d2

www.tiankanggf.com

d do L S X S Code No
M20 x 1.54 8 45 14 HYG12-1
d d2 d|L|I|S =% = Code No
ZG 1/8" [M10X1 4 26[10 14| HYG12-2-ZG 1/8" -M10X1
ZG 1/8" |M12X1.25|4 271217 | HYG12-2-ZG 1/8" -M12X1.25
ZG 1/8" [M14X15 [4 [31[13[19|HYG12-2-ZG 1/8" -M14X1.5
ZG 1/8" |M20X1.5 [4 321137 |HYG12-2-ZG 1/8" -M20X1.5
ZG 1/8" |G 1/2" 4 [3213 7 [HYG12-2-ZG 1/8" -G 1/2"
ZG 1/4" [M10X1 4 291017 | HYG12-2-ZG 1/4" -M10X1
ZG 1/4" IM12X1.25|4 291217 |HYG12-2-ZG 1/4" -M12X1.25
ZG 1/4" [IM14X1.5 [4 |32[13[19|HYG12-2-ZG 1/4" -M14X1.5
ZG 1/4" (M20X1.5 [4 3313 R7|HYG12-2-ZG 1/4" -M20X1.5
ZG 1/4" |G 1/2" 4 13313 R7 | HYG12-2-ZG 1/4" -G 1/2"
ds d2 L S £ S Code No
G1/2" M20X 1.5 53 27 HYG12-3
di d2 lh|{L|L]|S [ae = Code No
G1/4"| G1/2" 1316 |33 |27 | HYG12-4-ZG 1/4" -G 1/2"
G1/2"| M10X1 |16 (16|36 |27 | HYG12-4-ZG 1/2" -M20X 1.5
dh d- do| It [S1]S2 £ S Code No
ZG 1/4"| M20X1.5| 4 |65 |19 |27 HYG12-5-2G 1/4"
ZG 1/2"| M20X1.5| 4 |70 |27 |27 HYG12-5-2G 1/2"
32

HYG13 HiEthikmE itk

HYG13 Plate Liquid Level Indicator Connector ##¥l Material: 20, 1Cr18Ni9Ti, 316, 316L

HYG13-2 mEitHiisHEk (2)
HYG13-1 Liquid Level Indicator Drainage Connector(2)

HYG13-1 ZmEitHEisHEk(—)
HYG13-1 Liquid Level Indicator Drainage Connector(1)

S17 ZG'2"
1L — ]_,j
8 gr
I © - of T o
[ —— T S ——
s =
\j N— J
60 60

HYG13-3 it #HAXREEL(—)
HYG13-3 Liquid Level Indicator Steam Collet Connector(1)

HYG13-4 ZmEit & RKREEL (D)
HYG13-4 Liquid Level Indicator Steam Collet Connector(2)

ZG"a" S27 S27

G%g" ZG'"
— ; _
B> —| wt S
< - H ******* Sy e
S
D
— | —
50 70

HYG13-5 ZmEitFHSAXREEL (D)
HYG13-5 Liquid Level Indicator Steam Collet Connector(3)

S

VA
I D d do L S ® 5 Code No
a1 : 8#‘3 8 G 3/8" 4 50 24 HYG13-5-1
= 10 G 3/8" 6 42 24 HYG13-5-2
L 8 G 1/2" 4 63 30 HYG13-5-3

HYG14 4559 HYG14 Brachypiece

HYG14-1 gJ58Y - L MBEYS
HYG14-1 Single head brachypiece. Thick single head bead brachypiece

##l Material: 20, 1Cr18Ni9Ti, 316. 316L

ZG D|do| L r 5 Code No

ZG1/4" |14]8 |50 | HYG14-1-ZG 1/4"
PAC ZG3/8" |18 [10[70| HYG14-1-ZG 3/8"
ZG 1/2" |22]15|70 | HYG14-1-ZG 1/2"
ZG3/4" |27]120(70| HYG14-1-ZG 3/4"
ZG1" 34 |27 [100] HYG14-1-ZG1"
ZG11/2" |48 [31[100] HYG14-1-ZG11/2"
ZG2" 60 (45 [120| HYG14-1-ZG2"

T —————————7 3| o ZG 1/4" |14 3 [50| HYG14-1-ZG 1/4" -J
ZG3/8" |18 5 [70| HYG14-1-ZG 3/8" -J
ZG1/2" [22110[{70| HYG14-1-ZG 1/2" -J
ZG 3/4" |27 (15|70 | HYG14-1-ZG 3/4" -J

— 2G1" 34 (22 [100] HYG14-1-ZG1" -J
L ZG11/2" 148128 [100| HYG14-1-Z2G11/2" -J

7G2" 60140 120] HYG14-1-2G2" -J

SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd

I
33 4




HYG14-2 W58, WLMEET

HYG14-2 Doubel Head Brachypiece Thick Doubel Fead

ZG

ZG

do

KRBT 0 H BT

HYG14-3 L RFED

HYG14-3 Single Head Special Brachypiece

ZG

S

%5 The code with onte “J”

do
|

Do

—
—

L

ZG do L X S Code No
ZG1/4" 8 60 HYF14-2-ZG1/4"
7G3/8" 10 | 60 HYF14-2-ZG3/8"
ZG1/2" 15 | 60 HYF14-2-2G1/2"
Z2G3/4" 20 | 70 HYF14-2-ZG3/4"
ZG1" 27 | 80 HYF14-2-ZG1"
ZG11/2" | 31 [ 120 HYF14-2-ZG11/2"
zG2" 45 | 120 HYF14-2-2G2"
ZG1/4" 3 60 HYF14-2-2G1/4"-J
ZG3/8" 5 60 HYF14-2-ZG3/8"-J
ZG1/2" 10 | 60 HYF14-2-2G1/2"-J
ZG3/4" 15 |1 70 HYF14-2-2G3/4"-J
ZG1" 22 | 80 HYF14-2-ZG1"-J
ZG11/2" | 28 | 120 HYF14-2-ZG11/2"-J
zG2" 40 [ 120 HYF14-2-Z2G2"-J

HYG14-4 RZ5ED
HYG14-4 Special Brachypiece

indicates the Strengthened Short Connecter

ZG1

do

ZG:q

ZG:

do

£ S Code No

ZG

Do

d [ S L

£ S Code No

ZG1/4"

ZG1/2"

70

HYG14-4-2G 1/4"-ZG1/2"

ZG 3/8"

14

19 | 120

HYG14-3-2G 3/8" -9 14

2G1/4"

ZG3/4"

75

HYG14-4-2G 1/4"-ZG3/4"

ZG 1/2"

14

120

HYG14-3-2G 1/2" -9 14

Z2G1/2"

2G3/4"

12

80

HYG14-4-Z2G 1/2"-ZG3/4"

ZG 3/4"

14

©|©o|©
N
N

30 | 120

HYG14-3-ZG 3/4" -9 14

ZG3/4"

ZG1"

17

85

HYG14-4-ZG 3/4"-2G1"

Z2G1"

Z2G11/2"

24

90

HYG14-4-2G1"-2G11/2"

HYG14-5 Ao EL (—)
HYG14-5 Inside-outside Connector(1)

ZG

www.tiankanggf.com

34

d

ZG

o
5

L 1t 5 Code No

M10X1

ZG1/8"

26| HYG14-5-M10X1-ZG1/8"

M14X1.5

ZG1/8"

32

HYG14-5-M14 X 1.5-ZG1/8"

M10X1

2G1/4"

30| HYG14-5-M10 X1-ZG1/4"

M14X1.5

2G1/4"

36

HYG14-5-M14 X 1.5-ZG1/4"

M18X 1.5

ZG1/4"

36

HYG14-5-M18X1.5-ZG1/4"

M14X1.5

ZG3/8"

36

HYG14-5-M14 X 1.5-2G3/8"

M18X 1.5

ZG3/8"

36

HYG14-5-M18 X 1.5-2G3/8

M20X 1.5

ZG3/8"

[esk[ecdle ] [er][o>] [o) BN BN
N
N

36

HYG14-5-M20 X 1.5-ZG3/8"

M18X 1.5

Z2G1/2"

N
o
N
~

42

HYG14-5-M18X1.5-2G1/2"

M20X 1.5

Z2G1/2"

N
o
N
~

42

HYG14-5-M20 X 1.5-2G1/2"

M22 1.5

Z2G1/2"

44

N
o
w
o

HYG14-5-M22 X 1.5-ZG1/2"

M24X1.5

2G1/2"

44

N
o
w
N

HYG14-5-M24 X 1.5-ZG1/2"

M24 X 1.5

ZG3/4"

44

N
[4)]
w
N

HYG14-5-M24 X 1.5-ZG3/4"

M27 X2

ZG3/4"

N
[¢)]
w
D

48| HYG14-5-M27 X 2-ZG3/4"

M33 X2

ZG3/4"[15/41

52| HYG14-5-M33X2-ZG3/4"

M27 X2

ZG1"

20)141

52| HYG14-5-M27 X 2-2G1"

M33X2

ZG1"

20/46

56| HYG14-5-M33 X 2-2G1"

M42X2

ZG1"

20|55

58| HYG14-5-M42 X2-2G1"

M33X2

ZG1/4"25/50

56| HYG14-5-M33 X2-ZG1/4"

M42X2

ZG1/4"25/55

58| HYG14-5-M42 X 2-2G1/4"

M48 <2

Z2G1/4"25|60

60| HYG14-5-M48 X 2-2G1/4"

M42X2

2G1/2"[32/55

62| HYG14-5-M42 X 2-2G1/2"

M48 <X 2

Z2G1/2"[32/60

62| HYG14-5-M48 X 2-2G1/2"

HYG14-5 P35pESL (=) HYG14-5 Inside-outside Connector (2)

ZG1 ZG2

ZG ZG: do| L 1’% = Code No

R ZG 1/4" | ZzG1/2" |11|33.5| HYG14-6-ZG 1/4" -ZG 1/2"
J © Z2G 1/2" | ZG 3/4" |18|37.5| HYG14-6-ZG 1/2" -ZG 3/4"
G 1/2"| ZzG 1" 18| 40 | HYG14-6-2G 1/2" -ZzG 1"
Z2G 1/2" | ZG11/2" |18| 44 | HYG14-6-ZG 1/2" -ZG11/2"
L ZG 3/4" | zG11/2" |23| 48 | HYG14-6-ZG 3/4" -ZG11/2"

HYG15 &=k

HYG15 Union ##l Material: 20, 1Cr18Ni9Ti. 316. 316L

HYG15-1 AZaRi&EL HYG15-1 Inside Thread Union

ZG S L A S Code No

2G 1/4" 36 | 48
ZG3/8" | 42 | 56
Z2G1/2" | 46 | 60
ZG 3/4" 55 | 68

HYG15-1-2G 1/4"
HYG15-1-Z2G 3/8"
HYG15-1-2G 1/2"
HYG15-1-Z2G 3/4"

I L ZG1" 65 | 75 HYG15-1-2G1"
% ZGM11/2" | 75| 84 HYG15-1-2G11/2"
zG2" 85| 90 HYG15-1-2G2"

NFRES: PNAMPa

HYG15-2 18R i&iEL(—) HYG15-2 Welding Union (1)

5 Do | s L & 2 Code No
15 | 36 | 44 HYG15-2-0 15
19 | 42 | a7 HYG15-2-019
) T 23 | 46 | 48 HYG15-2-023
° J_ e 28 | 55 56 HYG15-2-128
35 | 65 59 HYG15-2-035
‘%7 a9 | 75 | 69 HYG15-2-049
- 69 | 85 78 HYG15-2-069
AR J): PN4AMPa
HYG15-3 18X EiEL (=) HYG15-3 Welding Union (2)
S
8 +——— 1! I s Do| do | S| L % 2 Code No
i l:l_:l 2013 ] 41|78 HYG15-3-120
- 24 | 16 | 46 | 88 HYG15-3-®24
NFRET: PN16MPa
35 ISR AREDSALERAS

anhui Tiankang group piping valve co.,ltd




HYG15-4 5EE#EL

HYG15-5 SR iEREL

HYG16 3%k
HYG16 Plug

HYG15-4 High Pressure Union

do

Do

ZG S1

HYG15-5 Spocial Use Union

do
L

¥kl Material:

HYF Z5{{R#BEhx2% HYF Gauge Auxiliary Container

HYF1-1 % 5B
(HK02-001)
HYF1-1 Condensation ring

150

% :

HYF1-2 %55 (—)
HYF1-2 Condensation bend(1)

st

DX §:®14X2 ®18X3

DX 6:D14X2 ®18X3

HYF1-3 A& (D)

HYF1-3 Condensation bend(2)

HYF1-4 %55 (=)
HYF1-4 Condensation bend(3)

200
150

150
,%9
S

DX §:®14X2 ®18X3

DX 6:014X2 ®18X3

Do | do | S| Si| L £ S Code No
14| 6 | 36 | 17 | 86 HYG15-4-®14
24 | 10 | 46 | 27 [ 100 HYG15-4-D 24
35| 15| 65| 38 | 130 HYG15-4-® 35
AFRES: PN32MPa

ZG do| S|Si| L X S Code No
ZG1/4" | 8 [27|19|60| HYG15-5-ZG 1/4"
ZG 3/8" |10(32|22|66| HYG15-5-ZG 3/8"
Z2G 1/2" |15|36|24|71| HYG15-5-ZG 1/2"
ZG 3/4" |20(46|32|67| HYG15-5-ZG 3/4"
ZG1" 25|60|41(80| HYG15-5-ZG1"
ZG 11/2"|40|75|55|88| HYG15-5-ZzG 1 1/2"
2G2" 50(90|65(96| HYG15-5-ZG2"

NFRES: PN10MPa

20. 1Cr18Ni9Ti. 316. 316L

HYF1-5 SRR KH
HYF1-5 Thermometer Enlarged Tude

o™
e ! 230 ¥
s N X
40 =
L 8 [ i
° 5 B2 f
1
EEmEdo [ 10]15]20]25[32[40]50]70 \
DX$§ 50T
Jopss 5735 |129100[100| 75| 75| 75
KEA D>>§§ 120[120[100{100|100| 75 | 75 | 75 BRREN:
97 X35 Nominal Pressure PN6.4 PN16

HYF1-6 %A= (—)
HYF1-6 Condensation vessel(1)

HYF1-7 %%eses (2)
HYF1-7 Condensation vessel(2)

190

40 D
2] =

¥ S

— - — ] EE = Lol
= -]
DN =
S ‘\ m—>

[} i 62
-t‘ 50
AFREAN:

Nominal Pressure PN6.4 PN16

HYF1-8 5B Ass
HYF1-8 Separtion vessel

230

108

D14

AFREH: PN6.4 PN16
Nominal Pressure

HYF1-9 5 EAER (—)
HYF1-9 Isolation vessel(1)

214

=

61

150

AFRIES: PN6.4
Nominal Pressure

HYF1-10 FG1-64 EfgEaass (2)
HYF1-10 FG1-64 Isolation vessel

50 (>\<|
iy <
3
— = )
8 HtT—— 1
- )
40’4‘1_5 120 40

AFRIES: PN6.4
Nominal Pressure

HYG16-1 3% (—) HYG16-2 3L (=) HYG16-3 P24k
HYG16-1 Plug(1) HYG16-2 Plug(2) HYG16-3 (Insidel thread plug)
s d s
_: : _\ﬁs
y ————
kel | ]
) T
L —
L L
d S|L X S Code No d LS X S Code No d S|L X S Code No
G 1/4" 20|24 HYG16-1-G 1/4" ZG 1/4" |22|17 HYG16-2-Z2G 1/4" Z2G 1/4" |[17(17| HYG16-3-ZG 1/4"
G 3/8" 23|27 HYG16-1-G 3/8" ZG 3/8" |24(19 HYG16-2-ZG 3/8" ZG 3/8" |20|22| HYG16-3-ZG 3/8"
G 1/2" 29|30 HYG16-1-G 2/2" ZG 1/2" 29|24 HYG16-2-Z2G 1/2" ZG 1/2" [25(/27| HYG16-3-ZG 1/2"
G 3/4" |34|36] HYG16-1-G 3/4" ZG 3/4" [33[30] HYG16-2-ZG 3/4" ZG 3/4" |30|32| HYG16-3-ZG 3/4"
M20X1.5|28(30| HYG16-1-M19X1.5 zG1" 28|36 HYG16-2-Z2G1" 2G1" 36(41| HYG16-3-ZG1"
M27 X2 |34|136] HYG16-1-M27 X2 ZG11/2" |45(55 HYG16-2-ZG11/2" ZG11/2" 142|155 HYG16-3-ZG1 1/2"
HYG16-4 2% s
HYG16-4 Plug Screw d BN 15 oy SO
M8 X1 13|18 [14 HYG16-4-M8 X 1
M10X1 14(8 [17 HYG16-4-M10 X1
—< M12X1.25 19112 (19 HYG16-4-M12X1.25
| M14X1.5 19(12[19 HYG16-4-M14X1.5
al= M16X1.5 [22[22]12]19 HYG16-4-M16 X 1.5
_4 M18X1.5 |125[22(12(19 HYG16-4-M18 X 1.5
— M22Xx1.5 [30(25]14 |19 HYG16-4-M22X1.5
M27 X2 35[29116 22 HYG16-4-M27 X2
L M33 X2 42(34118 (27 HYG16-4-M33 X2
M42X2 53[41]20|36 HYG16-4-M42 X 2

www.tiankanggf.com

36

HYF1-11 FG2-64 Bl A8 (=)
HYF1-11 FG2-64 Isolation vessel

120 40

D)k

N
<

a
Ie)

®89
e
o

g5 =
D14

AFRES: PN6.4
Nominal Pressure

40

108

HYF1-12 FG3-64 EIfg A28 (/M)
HYF1-12 FG3-64 Isolation vessel

AFRIES: PN6.4
Nominal Pressure

HYF1-13 FG1-4A B[ A8 (F)
HYF1-13 FG1-4A Isolation vessel

40
L5 5 i

q 711 D

[e0] _
S| g
o | S

q b

a0 150 40,

AFRES: PN6.4 PN16
Nominal Pressure

37

( SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




HYF1-14 FG4B #[gE A8 (X)
HYF1-14 FG4B Isolation vessel

HYF1-15 W= RS
HYF1-15 Two chamber balance vessel
Li

HYF1-16 JUB&BR 47
HYF1-16 Subside dust-remover

AFRES:PN1.0
Nominal Pressure

AFRE S :PN20
Nominal Pressure

50 f— =t
=9 2% L L 60
ﬁ =y W
=% a1 | | 261
82 3 e S e U & <N 0 < | sT— o S
i g o H g A b— = I _FAre
o ju—_uz 77777 T MI8*1S T i S g g = H
50 s {|
D kel ~1000 140
@ <! By [aadhid, | L | Lo
49 150 49 1| 138600 | 600 | 581
AHRHE1:PN6.4 PN16 2 | 1320 |60 621 AFREF :PN1.0
AR 7] EINO. AFRIES1:PN6G.4 AFREF]:PNT.
Nominal Pressure ,ﬁ‘oﬁ%ﬁpr%sure 3 | i566% |1000] 981 Nominal Pressure
HYF1-17 je R4 8% HYF1-18 4T % & &l HYF1-19 4T I} & &
HYF1-17 Whirp wind dust-remover | HYF1-18 Siphon pipe ring SHYF1-19 Iphon vessel
®90
~315 \‘g"\
|40 ()
< / H \
3 0 — L FE | & | & I
& INE ~ 1 | cas | cas ! o
i s 2 | 12| Gt & -
et 291 ® i \
261 2 3 | cas|zcas
|42 4 | otz |ze2 1

INFRIE F1:PN15 A
Nominal Pressure

HYF1-20 & 71 R 61K =%
HYF1-20 Siphon Contatiner for manometer

HYF1-21 % %ss (L1-2.5 #Y)
HYF1-22 Condenser

280
150

180

@D
A\
p:
"

180
D

NFRE F1:Pa2.5mpa
Nominal Pressure

HYF1-22 [5 =288 (GLAY)
HYF1-22 Isolation vessel

14 X 3|

—6—-©0-9

AFRE S :PN6.4
Nominal Pressure

HYF1-23 £5z28 (JQ #)
HYF1-23 Collect gas vessel

~315
200

P89

AFRES:PN1.0 PN6.4
Nominal Pressure

HYF1-24 jipg=s (CJI RS H)
HYF1-24 Subside(use for gas)

~581
250

o —p=-

D68

AFRIEF1:PN6.4 PN1.0
Nominal Pressure

HYF1-25 jnpg=% (CJ 1 2% )
HYF1-25 Subside(use for liquid)

AFRIEF1:PN6.4 PN1.0
Nominal Pressure

www.tiankanggf.com

38

HYKFQ Z5|SE5 B3 HYKFQ Gas distributor

HYKFQ R5IVR e R R A R 51
RESUDEBENTEER, E—inRiNEESiESsii=
RSHSEERE  KinAURBKRSIEL , EHRES
PESEVKM D ECRRPHEL, MRASRENTEZERA.
7= 25 %7 BECompilation of the type

HYKFQ

HYKFQ series air distributor is the bridge of preumatic instrument and
air main pipe of the instrument.One end is connected with the air supply
box a external threda joint or flange method and the terminal adopts the
air ball valve or end. It regularly draws out the condensde steam in the air
from the distributor. Thus to prevent the water from entering into the pn-
eumatic instrument

FEERAMRIT R EESERE S : BLBRIE
The material of the accessorized typeT:Accessorize red copper pipe or
nylon pipe.S:Accessorize plasfic pipe.

1;'%/_:\,/%%&6! 1 2!24 °
Air-supplytally:6,12,24

ST R STIBLUE B (R 4181205 1Cr8NI9Ti)

Structure formal code:l: thread connection(bulkmateral20 *or ICrI8Ni9Ti)
M: SKZ3E (AR 42078 1Cri8NigTi)
1I: flange connection(bulk materal 20" or ICH8NI9Ti
M $REGE A RIHE2" 5 1CrI8NIgTif 7 #)

III: thread connection(bulk materalH62" or ICr8NIOTi square rod)

= )=

BB RE: $:] T PHED | many | mEshE | Egss
1 HYKFQ-I-6 6

* * * * * * 2 | HYKFQ-I-12 <1 12 e P8 | BLZG3/4”

HYKFQ-I 3 HYKFQ-I-24 24

SRR } ES| B5 | PEED | meam| mese | Egss
1 HYKFQ-1II -6 6
%( %( %( %( $ %( 2 | HYKFQ-1I-12 <1 12 eI D8 | KRR
HYKFQ-I & 3 | HYKFQ-11-24 24
£t
— = i i ZG3/4"
ole o1
dn de S| B | PBED | meam | mese | Emss
| @ ] 1| HYKFQ-II-12 6
j@ 2 HYKFQ-III-12 <1 12 (oL Eior:] 1245 7G3/4"
oL 3 | HYKFQ-III-12 24

HYKFQ-III £

30 g SBAM K G il 11 HIRA S

anhui Tiankang group piping valve co.,ltd




BiiEM EEELEE Anti-wind pressure sampling device

PFDZ 51l Bj 3% X FE B # 25

PFDRE B3 N E B 2 A IRIBSAEXT
RIRBMY AL ER/NFF H KRR AHEER
BHEE. NESWALNSEBITERARF T,
KN =ZFHAERNMEVLE, BEESRBE
%, ERETABEEML, HTHAMNLEEX
FR&E, MATEIREGHEILEZNESRE,
FERSET R ENEXEERSEHRHON
EES, MARFENERENEN. ZEXER
BT MNNE—PTSNEE, BITMUEZNSRH
ZE. ZEBENBEWHIAREN, IMBHEHRN
5XFEWzm.

(1)

www.tiankanggf.com

PFD series anti- wind pressure sampling device

PFD series anti- wind pressure sampling device is an
ideal sampling device developed by our company in according
with gas convection theory and material proportion. When
measuring the gas with dust, firstly gas drops into the bottom of
sampling tube, then passes through anti-blocking with three
special requirements. Solid dust will be separated after through
three convection layers. Because dust is heavier than gas, dust
drops into container of sampling tube. Purified gas can be
correctly measured by wind pressure measuring device to
achieve the purpose of anti-wind pressure sampling. The device
not only can measure static pressure of one point, but also can
measure different pressure of two points. The inner structure
material of the device is stainless steel. But the outer structure
material of the device is composed of carbon steel and
stainless steel.

40

HYYX}y ZRINRRBRPE
HYYX ',’_," Gauge Heat-proof and Protect Box

HYYX{V ZIURIR R B R TER R
TR GREGPIIEERE, CEAREL. B
ES. BEEN, ST KRS, RERES
BEASSE. RIPFERMER. (RIS AR, R
ﬂ%%ﬂﬁ&%ﬁwﬁmm AR E2EREES
FRANFRE R NS

—. {UREP (RR) FEEIEmRHIREA

HYYX series instrument protection box and incubation are used
in transmitter and other protection and thermal insulation equipment
which need on-site installation. They have such features as high
stardard, beautiful shaping reasonable struction,various types and they
are convienent for installation. The protection box is mainly made of
casing and instrument cradle. The struction of incubator is the same as
the protection box's , the difference is electric heating system or the
steam heating system which is installde in the box.

A—RmiEE

The compilation of the type of instrument protection boxlincubator: disclose the siope cover

o | ]

B—RIE#RE, E@EA)
disclose the slope cover,open the front door
C—XAFBERER R
cunnect the back of the strut,open the front door
D—ERAIFAFTE

43_§ e ;F'E"ﬁggi ;r@ ﬁ?iﬁ seated type,the front part can be removed

. . E—IF@EF ] (G5 |
struation type of casing open ﬂﬂl&iﬁﬂm casing)
F—RIfRFH ] (FERERH))
open the front and back door(the iron casong)
G—HmEz (RIF)
protection box disclosing the slope cover
H-HEYSGRIRE (RIP) 7
new type instrument incubator or protection box

6--600mm
— fobe e
RTERTRE < 5--500mm

width of casing

4-400mm
FAERE 6--600mm
depth of casing 5--500mm
12--1200mm
10--1000mm
RS 8--800mm
height of casing 7--700mm
6--600mm
D—E HVES e
RN electric
type of beating Q2R E A

steam

=. HYYX], BE{URFP R ERRMEE

function of box W--(URIRIRFE 7T
for heat insulation

_ H--(URRIPFERT
R BERT <for protectionE

HYYX x type instrument protection boxl/Incubator's technical property

1. BREE A9 A5 3 38 SR B9 LA M RE T 3R

The mechanical property of polyester and resin organic touhened glass, please see the list.

= e g = gLl EREAEH HES.G
Mi’a Mba Mpa natural aging years kg/m
209.0 320.2 16.9 8~10 1600
2. fRIEMERE: 10~25C Heating range: 10-25°C
3. RZRE: -50-60C Ambient temperature: -50-60°C
4. 1BFMEARES: 0.5MPa Pressure of saturated steam: 0.5MPa
5. fE#mzEREFES: 0.35-0.8kg/h. Steam consumption: 0.35—0.8kg/h.
6. BEHLE: 220V, Rated voltage: 220V

( SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




=. HYYX| EMURIRRAEEIAGHNER

HYYXﬂ type instrument incubator's accompanying heating structure

HYYXY B i RB AR, MR, URERE=
REBAAR. HEWEASRPHEER, MARNZHERNE
FRBMNAKE, HEMENE, BREEZHBRE
BERGRAN, BENERAHEE SEEERE A
AR FIREN, BEREGSUIMER HEE TR
—EREN, BRHEEEFRERRRALIR. BIRE
THEEERNEEERTE—ETEMN.

BiR
=

BRER

0. #FSEMH:

EAMBRBE HAEIRLEESH MSELE
.48 L TR AREXFRELSHRERETAM,
HARAEREEFRNALATE, BEERAEERA
BIRTIAZI N B 89, R E RIS D WF, B
©8 X 1EAE ;P4 X2TLLENEFKRN). SMNEEL.
HEWILAE.

www.tiankanggf.com

I. Electric heating pipe accompanying heating

HYYXY electric heating incubator consists case bady of keater and
instrument bracket. It's structure is the same as the protection box. The
difference is the incubator is installed with the electric heater It's structure
see the drawing the electric heater consists of electric heating pipes and
temperature controller. the box has a socket on the side. After switching
on the electric power, the electric heatre begin to work. When the
temperature inside the box reach the needed temperature,the temperature
controller cut off the electric power.When the temperature reduce to some
degree, the temperature will switch on the electric power and the electric
heater start to work again. Thus to keep the temperature in a setting range.

BRI EESH

1.8 E B £200V.50Hz.

2. FUENE300-500W.,

. EHIREEHAFEE.

4. 1SRN T UK R E .

S.BAEMRAE=M: BEE. RNE. FTHENE.

Major targets of the thermostatic heater:

1.Rated voltage: 220V. 50Hz

2.Rated frequency: 300~500W

3.Control temperature can be set by the user

4.The thermostatic heater may be the anti explosion type
5.The material of the electric heating pipe can be the following
three types:cube pipe carbon steel pipe and stainless steel pipe.

1I. Steam pipe heat-proof

The accompanying heating pipe of the steam heating in cubator is "s"
type.The box is welded by welded type threading joint andaccompanying
heating pipe.The accompanying heating pipe inside the box is up-in and
down-out type. Through the circulation of the steam in the pipe to achieve
the goal of heating. The material of the accompanying heating pipe has
two type: ®8X 1 red copper pipe and ®14X2 seamless steel pipe
(carbon steel). It's structure see the drawing.

42

HYYX] -A BURE#F(RE)E HYYX|, -A Gause Heat-proof and Protect Box

4 N\
4 2\
-
A} N
Y A}
]
N v
A\ J
N v
———s
B L
e w2 SMEIRSF(mm) | RER4ZS R~F (mm) Be B o= SMEIRSF(mm) | IER%ZS R~F (mm)
H B L H B[ L H B L H B L
1 |HYYXH-654A #0 | 640 | 500 | 408 | 570 | 480 | 390 9 |HYYXH-654A % | 640 | 500 | 408 | 570 | 480 | 390
2 |HYYXH-665A # | 600 | 600 | 500 | 530 | 580 | 480 10 |HYYXH-665A # | 600 | 600 | 500 | 530 | 580 | 480
3 [HYYXH-856A # | 800 | 500 | 600 | 730 | 480 | 580 11 |HYYXH-856A #! | 800 | 500 | 600 | 730 | 480 | 580
4 |HYYXH-866A & | 800 | 600 | 600 | 730 | 580 | 580 12 |HYYXH-866A % | 800 | 600 | 600 | 730 | 580 | 580
5 [HYYXH-1056A #!|1000| 500 | 600 | 930 | 480 | 580 13 |HYYXH-1056A #!| 1000| 500 | 600 | 930 | 480 | 580
6 [HYYXH-1066A #!|1000| 600 | 600 | 930 | 480 | 580 14 |HYYXH-1066A %!| 1000| 600 | 600 | 930 | 480 | 580
7 |HYYXH-1256A #|1200| 500 | 600 | 1130| 480 | 580 15 |HYYXH-1256A £!| 1200| 500 | 600 | 1130| 480 | 580
8 [HYYXH-1266A | 1200| 600 | 600 |1130| 580 | 580 16 |HYYXH-1266A #!| 1200| 600 | 600 [1130| 580 | 580

HYYX], -B BRI (RB) 5

HYYX |‘:'v -B Gause Heat-proof and Protect Box

VO S
] ——
| -
\\ T’
ol &
s > | N
[
— |
u) #_—m—'_/
L
= ] . SRS (mm) | RERE S R (mm) )y o SNELRSF(mm) | AEREZ RS (mm)
72| ® 2 rmT1eriiwTsertl IF%] 2 ° MHmiBsriimTETT
1 | HYYXH-654B % | 640 | 500 | 408 | 570 | 480 | 390 9 | HYYXH 3-654B% | 640 | 500 | 408 | 570 | 480 | 390
2 | HYYXH-656B % | 600 | 500 | 600 | 530 | 480 | 580 10 | HYYXH 3-656B% | 600 | 500 | 600 | 530 | 480 | 480
3 | HYYXH-666B & | 800 | 600 | 600 | 530 | 580 | 580 11 | HYYXH 3-856B% | 800 | 500 | 600 | 730 | 480 580
4 | HYYXH-856B ! | 800 | 500 | 600 | 730 | 480 580 12 | HYYXH 3-866B% | 800 | 600 | 600 | 730 | 580 | 580
5 | HYYXH-866B % | 1000| 600 | 600 | 730 | 580 | 580 13 | HYYXH2-1056B%[1000| 500 | 600 | 930 | 480/ 580
6 |HYYXH-1056B 7| 1000] 600 | 600 | 930 | 480 580 14 | HYYXH2-1066B%[1000] 600 | 600 | 930 | 580] 580
7 |HyvxH-10668 2] 1200] 600 | 600 | 930 | 580 580 15 | HYYXH3-1256B%[1200] 500 | 600 [1130] 480] 580
8 |HYYXH-12568 ] 1200| 500 | 600 [1130] 480 580
w2 INEBARRE ST EIRAS
w

anhui Tiankang group piping valve co.,ltd




HYYX ], -C B KR (URE)E HYYX,, -C Gause Heat-proof and Protect Box

B
] _\
T

/

o - SNEURSF(mm) | RS R~ (mm) o = SNEYURSF(mm) | R4 R~ (mm)
s | m
5| ® 5 T sTiTETETL] 7 ° T[HIB[ILTHIBIL

1 | HYYXH-656C % | 600 | 500 | 500 | 560 | 480 | 460 7 |HYYXH3-655C% | 600 | 500 | 500 | 560 | 480 | 460
2 | HYYXH-856C % | 800 | 500 | 600 | 760 | 480 | 560 8 |HYYXH3-856C% | 800 | 500 | 600 | 760 | 480 | 560
3 | HYYXH-866C % | 800 | 600 | 600 | 760 | 580 | 560 9 |HYYXH2-866C% | 640 | 600 | 600 | 760 | 580 | 560
4 |HYYXH-1056C %] 1000| 500 | 600 | 960 | 480 | 560 10 |HYYXH3-1056C 2 1000| 500 | 600 | 960 | 480 | 560
5 |HYYXH-1066C %] 1000 600 | 600 | 960 | 580 | 560 11 |HYYXH2-1066C % 1000| 600 | 600 | 960 | 580 | 560
6 |HYYXH-1256C %] 1200] 500 | 600 [1150 | 480 | 550 12 JHYYxH2-1256C %] 1200] 500 | 600 [1150 | 480 | 550

HYYX} -D BURRFREE HYYX)

-D Gause Heat-proof and Protect Box

HYYX ; -E BURFIFP(UREB)E HYYX ;’, -E Gause Heat-proof and Protect Box

L
!
[a)]
i N H
! |
i i g & U
= = SNEYRSF(mm) | RS ZS R<F(mm) = = SMEURSF(mm) | AEREZ R (mm)
1) 1)
5| ® 5 —wreriTtaTserc] F°] ® %5 IMATBsTLIRTBTT
1 |HYYXH-654E% | 600 | 500 | 410 | 560 | 460 | 370 8 [HYYXH3-654E% | 600 | 500 | 410 | 540 | 460 | 370
2 |HYYXH-666E2 | 600 | 600 | 500 | 530 | 580 | 480 9 |HYYXH3-665E% | 600 | 500 | 500 | 530 | 580 | 480
3 |HYYXH-856E# | 800 | 500 | 600 | 760 | 460 | 560 10 |HYYXHS-856E | 800 | 500 | 600 | 740 | 460 | 565
4 |HYYXH-866EZ! | 800 | 600 | 600 | 760 | 560 | 560 11 [HYYXH2-866E% | 800 | 600 | 600 | 740 | 560 | 565
5 |HYYXH-1056E! | 1000| 600 | 600 | 960 | 460 | 560 12 [HYYXH2-1056E7[ 1000| 500 | 600 | 940 | 460 | 565
6 |HYYXH-1066EZ! [ 1000| 600 | 600 | 690 | 560 | 560 13 [HYYXH3-1066E7[ 1000| 600 | 600 | 940 | 560 | 565
7 _|HYYXH-1256EZ! | 1200] 500 | 600 |1160 | 460 | 560 14 |HYYXHB-1256E%[ 1200] 500 | 600 [1140| 460 | 365

HYYX}, -F B{URRP (RiR)

HYYX x -F Gause Heat-proof and Protect Box

( N\
' N\
. (-
[l 1
Y X
= NN
|
i . i
[ | | | . v
S —— S ”)
L
= o SNEYRSF(mm) | AERE S R ~F(mm), = o SR SF(mm) | AEREZ R (mm)
R y F :
|l 2 5 IArtsrigwersesrol Pl % ° IAIBTLIARIBIL
1 |HYYXH-756D& | 700 | 500 | 600 | 680 | 480 | 480 7 | HYYXH3-756D%! | 700 | 500 | 600 | 680 | 480 | 580
2 |HYYXH-856DE | 800 | 500 | 600 | 780 | 480 | 580 8 | HYYXH3-856D%! | 800 | 500 | 600 | 780 | 480 | 580
3 |HYYXH-866DE | 800 | 600 | 600 | 780 | 580 | 580 9 |HyvxH3-866D% | 800 | 600 | 600 | 780 | 580 | 580
4 |HYYXH-1066D% | 1000] 500 | 600 | 980 | 480 | 580 10 [HYYXH3-1056D%!| 1000] 500 | 600 | 980 | 480 | 580
5 |HYYXH-1066D% | 1000] 600 | 600 | 980 | 580 | 580 11 |HYYXHS3-1066D%| 1000] 600 | 600 | 980 | 580 | 580
6 |HYYXH-1256D% | 1200] 500 | 600 [1170] 480 570 12 [HYYXH3-1256D%] 1200] 500 | 600 [1170] 480 | 570

www.tiankanggf.com

44

—

jan]

L B

= o SNEYRSF(mm) | RS2 R<F(mm) = = SMNEURSF(mm) | AEREZ R~ (mm)

1) 1
5| 2 5 wrsritarsrc] 5| 2 ® HIBETTTHRTETT
1 | HYYXH-654F% | 600 | 500 | 410 | 550 | 470 | 405 8 |HYYXH3-856F7 | 800 | 500 | 600 | 750 | 470 | 595
2 | HYYXH-856F& | 800 | 500 | 600 | 750 | 470 | 595 9 |HYYXH3-866F% | 800 | 600 | 600 | 750 | 570 | 595
3 | HYYXH-866F% | 800 | 600 | 600 | 750 | 570 | 595 10 |HYYXH3-1056F %[ 1000 | 500 | 600 | 950 | 470 | 595
4 | HYYXH-1056F& | 1000] 500 | 600 | 950 | 470 | 595 11 |HYYXH3-1066F%[1000] 600 | 600 | 950 | 570 | 595
5 | HYYXH-1066FZ! | 1000| 600 | 600 | 950 | 570 | 595 12 |HYYXHE-1256F %[ 1200 500 | 600 |1150 | 470 | 595
6 | HYYXH-1256F % [1200] 500 | 600 [1150 | 470 | 595 13 |HYYXHB-1266F %[ 1200 600 | 600 | 1150 | 570 | 595
7 | HYYXH-1266F %! | 1200] 600 | 600 | 1150 | 570 | 595

as INEHRERE S @I EIRAS
“

anhui Tiankang group piping valve co.,ltd




HYYX x -G BUFRRIFPURE)E HYYX x -G Gause Heat-proof and Protect Box

HY6 %3ISzhEEE 1L

HY6 Pneumatic Tube Stop Valve
HY6-1 QJ-1 BSFHERE LR

HY6-1 QJ-1 Pneumatic Tube Stop Valve

\
s

L B
Be B2 SNEURSF(mm) | PR RS (mm) e a2 SNELR S (mm) | ARERSFESRS (mm)

H B L H B L H B L H B L
1 | HYYXH-856G%! | 800 | 500 | 600 | 700 | 495 | 590 HYYXH3-856G%! | 800 | 500 | 600 | 650 | 445 | 540
2 | HYYXH-866G%! | 800 | 600 | 600 | 700 | 595 | 590 HYYXH2-866G%! | 800 | 600 | 600 | 650 | 545 | 540
3 |HYYXH-1056G% |1000| 500 | 600 | 900 | 495 | 590 HYYXHB-1056G%¢| 1000| 500 | 600 | 850 | 445 | 540
4 |HYYXH-1066GZ! |1000| 600 | 600 | 900 | 595 | 590 10 |HYYXHE-1066G#!| 1000| 500 | 600 | 850 | 545 | 540
5 |HYYXH-1256G%! |1200| 500 | 600 | 1100| 495 | 590 11 |HYYXHR-1256G%¢| 1200| 500 | 600 |1050| 445 | 540
6 |HYYXH-1266G%! |1200| 600 | 600 | 1100| 595 | 590 12 |HYYXH8-1266G#!| 1200| 600 | 600 | 1050| 545 | 540

HYYX], -1 ZIHLRR (RiB)HE HYYX], - Gause Heat-proof and Protect Box

HYYX -l RINLFRRIP(RIB)E. 2REESN
B2/~ M RMEMLRRITH, EME A mEIEN
ESHYYX -ARERRIFIRIBFEEL, REINE
EW. FEhIs, BEER. ERMRERR. HE
THRAEEHMRTTeMR, THUER. . THE
RAREEERE, FRBHM, FARFETF MUX
BHEE. BRITTHES, RENRIEN, FLEE
e E#RE200° BN, ETHANMRRERBE. %
FEMEANREMRP) FERATMRIRAE. =R/
A, IWASENTER. ZETER. EAKR.
EAFXREFNREEES. NERBETEESRKRE

www.tiankanggf.com

>

[

L

FRESMEREE TEEHARERMLEIE, BNTHRE
FEER. RBEANMATRIT D A BMAEIHATM, &R
FH T 0 B RS R A AMBRBAER . XH
RETNEEATHEMGERREA—E, RUMFEREMNE
AT KRG/

- ) = SMEYRSH(mm) | RERE =S R~ (mm) 53

F_]?"'E g: = H B L =] B L é x
HYYXH-444GHl| 450 | 450 | 410 | 425 |400 | 405
HYYXH-655G#!| 630 | 550 | 578 | 600 |500 | 570
HYYXH-685G#Y| 630 | 850 | 578 | 600 {800 | 570 [*ZEE%E

46

HY6-2 QJ-2A BISTHERE LA
HY6-2 QJ-2A Pneumatic Tube Stop Valve

/\ /\
S, ©
— N T — T
N — g S F— &
53~57 45~48
##lMaterial H62
##Material H62 AREN PN1.0 Mpa
ARED PN1.0 Mpa #2% Do ©6, 8, D10, ©1/4"~D3/8"
2% Do ©6, ®8., ®10. D 1/4"~D3/8" kg srd ZG. NPT(1/8~1/4)
HY6-3 QJ-2A BSFHERE LR HY6-4 QJ-3A BSHEREILA
HY6-3 QJ-2A Pneumatic Tube Stop Valve HY6-4 QJ-3A Pneumatic Tube Stop Valve
T _—
I
© ©
| ||
T
< 1 S— A 5 | | _
\ﬁtﬂ &j 8
45-48 !
45~48
##lMaterial H62 ##lMaterial H62
INFRIES PN1.0 Mpa ANFREN PN1.0 Mpa
B2 & Do ®6. P8, 10, ©1/4"~D3/8" & Do o6, ©8. 10, D1/4"~D3/8"
LR B ey d:M10X1, M12X1.25 #im B ard M10X 1

47

( SHRAREDERITHRASE

anhui Tiankang group piping valve co.,ltd




HY6-5 QJ-3B ESzhERE L
HY6-5 QJ-3B Pneumatic Tube Stop Valve

HY6-6 QJ-2A BISzhERE LR

HYG6-6 QJ-4A Pneumatic Tube Stop Valve

HY6-9 QJ-6A EISzHERE LR

HY6-9 QJ-6A Pneumatic Tube Stop Valve

(I

Do

-
!

— 44@' | I R
I

34

HY10-17 JE.QY1 EISZHERE LA
HY10-17 JE.QY1 Pneumatic Tube Reduing Stop Valve

SNy ==
N

T R
© é
!
\
|
il AR
|
o N ] E — = |-
] =
45-47 36~38
1 #{Material H62 ##Material H62
AFREH PN1.0 Mpa AFRE ST PN1.0 Mpa
f2%& Do ©6~D10. D1/4"~D3/8" e d M10X 1, M12X 1
K IEIBLT d ZG. NPT(1/8"~1/4") YR oy ZG. NPT (1/8", 1/4")

HYG6-7 QJ-5A BRSEHERE L

HYG6-7 QJ-5A Pneumatic Tube Stop Valve

HYG6-8 QJ-5B

#HIMaterial H62. 1Cr18Ni9Ti
INFRIE S PN1.0 Mpa PN2.5MPa ##lMaterial H62

fi®& Do OB~D10. D1/4" ~D3/8" PIREN PN1.0 Mpa

seypiBerd  (M10X1. M14X15, M16X1.5,. G, ZG. NPT(1/8"~1/4") fi&Do ©®6~®8d | NPT1/2". G1/2". ZG1/2"

B ERES LR
HYG6-8 QJ-5A Pneumatic Tube Stop Valve

HY12-1 QZ-1 BW-REHFER

HY12-2 QZ-2 BWN-KRESHKTHE

HY12-1 QZ-1 QZ-1 Double-collet Needle Valve HY12-2 QZ-2 Double-collet Needle Valve

T T
(TN (A
o o

- — | \t 1 _
##Material H62 &l Material H62
NFREAH PN1.0 Mpa PIREN PN1.0 Mpa
Aynigard M10X1. M12X1.25 AymiZard ZG. NPT(1/8"~1/4")

www.tiankanggf.com 48

_/\
T
(I TITATAD 8
©
=Ll = == L]} =
N [ — L AN
~58 ~58
##lMaterial H62 1Cr18Ni9Ti
##lMaterial | H62 1Cr18Ni9Ti AHRED PN2.5 Mpa
NIRE S PN2.5 Mpa AFRBIE DN4
ARBR DN4 £ IR AL ;/gmngTx (11'/2?\ 1/4"
i Do O6~D8, @ 1/4", D3/8" f2& Do ®6, P8, D1/4". ©3/8"
49 PINGHRAREDERITHRASE
N\ ' anhui Tiankang group piping valve co.,itd




HY12-3 QZ-3 EIWREFER
HY12-3 QZ-3 Double-collet Needle Valve

HY12-4 QZ-4 5pZLstEid
HY12-4 QZ-4 Male Screw Needle Valve

® — LS == |-
1 I — 1 <+

~58 ~48
#EMaterial | H62 #EIMaterial | H62 1Cr18Ni9Ti
AREN PN2.5MPa AFRES PN2.5 Mpa
AFRERZ DN 4 NIRBERE DN4
2% Do ©6. D8, D1/4" . D3/8" 2 &Do DE~DB, D1/4", D1/8"
4R B Ly M10X1. G. ZG. NPT1/8". 1/4" RIHIRLL M10Xx1. G. ZG. NPT1/8", 3/4"

HY12-21 QE-1 SHEREFILE HY12-22 QE-2 SHER=EH LA

HY12-21 QE-1 Pneumatic Tube Stop Valve

HY12-22 QE-2 Pneumatic Tube Stop Valve

HY12-41 QE-3 SHERANE LR
HY12-41 QE-3 QE-3 PanPneumatic Tube Stop Valve

ql
—\
1T T T T 117 O e~ ey N Y I T 11"
| |
53~57 ‘ |
|
| |
‘ ~40
~55
#&Material | H62 ##IMaterial| H62 #18lMaterial | H62
AFRES PN1.0Mpa NIRES PN1.0 Mpa NFRES PN1.0 Mpa
NIRBE DN4 NIRBE DN(3. 4) YN RS DN4
A& Do D6~D8, D 1/4", D3/8” || F2E Do OE~Dd8, D1/4", D3/8 ||EE Do ®3, 6, ®8, ©10. D12

www.tiankanggf.com

50

HY7 ZSERS LR (BEER)
HY7 Pneumatic Tube Stop Valve(made of plastic)

HY 7-1 SQJ-1 BSEHERE LA
HY 7-1 SQJ-1 Pneumatic Tube Stop Valve

HY 7-2,3 SQJ-2 BSIHERE LR
HY 7-2,3 SQJ-2 Pneumatic Tube Stop Valve

el
% 60
#RMaterial H62
#HkMaterial | H62 B D8X1, DEX1 DEX1
o ©48X1. $6X1 PIEIB L d M10X 1. ZG1/8". ZG1/4"
INFRIE A PN1.0MPa PIRES PN1.0MPa

HY 7-4,5 SQJ-3 BSEEHH LA

HY 7-4,5 SQJ-3 Pneumatic Tube Stop Valve

HY 7-6 SQJ-4 BISzhERE iR
HY 7-6 SQJ-4A Pneumatic Tube Stop Valve

S
| )

|
|
|
|
M
|
LY
||
34

£l Material H62

¥l Material H62 [iTi=} D8X1, ©6X1

it & DX8., ®8X1, ®6X1" M10X 1, M14X1.5, M16X1.5
4Ry d M10Xx1. G1/4" . ZG1/8". ZG1/4" BB G1/8". G1/4" . ZG1/8". ZG1/4"
AFRIEH PN1.0Mpa PIRES PN1.0Mpa

51

( SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




HY 7-7 SQJ-4B BISzhERE 1A

HY 7-7 SQJ-4B Pneumatic tube Stop Valve HY 7-8 SQJ-5A Pneumatic tube Stop Valve

»

HY 7-8 SQJ-5A BSHERE LA

HYJ Z5|NEERE 1L

HYJ Measurement Tube Stop Valve
HYJ-1A J91 BIREH IR

HYJ-1A J91 Collet-type Stop Valve

HYJ-1B J91 BIREH IR
HYJ-1B J91 Collet-type Stop Valve

do

do

¥ Material H62
##lMaterial H62 (= D8X1, PBEX1"DEX1T
R D8X1, D6X1 imiRa d M10X1. M14X1.5. M16X 1.5,
NRED PN1.0MPa ZG1/4", ZG1/4" . ZG1/8". ZG1/4"
s¥ Remarks do g ©6. D8 ANFREN PN1.0MPa

HY 7-9 SQJ-5B BSEHERE LA
HY 7-9 SQJ-5B Pneumatic Tube Stop Valve

HY 7-10 SQJ-6 BSZHERE LR
HY 7-10 SQJ-6 Pneumatic Tube Stop Valve

M

- |
§itc

D
|
| T
L == . ==
—\ — =2
- o
Tl o — —al-
: \\
L
L
— AFRBR | ARES | REIME R | om e
DN |PN(MPa) Do L | ®|Hi|H| # #
1 64 ®12 | 80 | 45| 72 | 66
2 ' ®14 |80 |45| 72|66 20 L | amEg| anEn|REsE| S B R T | mn
1Cr18Ni9Ti F S N
3 5 P12 | 82 46| 72 | 66 |oogni DN |PN(MPa)| Do L| o|H| H| # #
4 14 | 82| 45| 72 | 66 !gir 6.4 y torfier
5 ®12 | 88| 60| 79|73 @ 88 | 26 | 100] 94 | UCIISNI
40 316L 2 10 16 Moall
6 ®14 | 88| 60| 79|73 3 32 3161
HYJ-1C J91 BREHE 1L HYJ-1D J94 B-RERAXE LA
HYJ-1C J91 Collet-type Stop Valve HYJ-1D J94 Collet-type Angle Patten Stop Valve
D
D ‘ :
i i
2|2 =Hi:
H ‘ H g
. !
- |
‘ 44
L me |AFEE | AREN|RESME SN R F| 4w
DN PN(MPa) Do L D Hi | H2 7 B
1 6.4
3 20
o | ARRBRE | AFRESN| EEIMZ S R &) % 2 16 1Cr18Ni9Ti
523 = ;
DN |PN(MPa)| Do |D: | L | ® | Hi|Hz| # # 3 5 6.4 ©14 | 44 | 74 |144|134 |0Cr18Ni12
Mo2Ti
20
velos | y
I
5 25 | ®8|®8|70 50| 80|74 |"o2Ti 5 10 6.4 316L
v8| 06 0et 6 16

|
‘ (e
| -
| £ —
|
|
QL
7]
LI ‘ 0
—r 85
& #+#iMaterial H62
#¥EMaterial H62 [ DBEX1, ©P8X1
(= D8X1, D6X1 1247 d M10X 1, M12X1.25. M14X1.5
dos 4R ©6, D8 dof$HE ®6. ©8
AFRES PN1.0Mpa PIREN PN1.0Mpa
www.tiankanggf.com 52

53

I 4
\

SHRAREDERITHRASE

anhui Tiankang group piping valve co.,ltd




HYJ-2A J21 W BI5pELIE L IR
HYJ-2A J21 W Male Screw Stop Valve

HYJ-2B J21 W 5 ELE 1L IR
HYJ-2B J21 W Male Screw Stop Valve

HYJ-2C J21 W BIHMELE LR
HYJ-2C J21 W Male Screw Stop Valve

(]
(3]
o b
&) ¢
z|$
a8 | ol
f< I \_ = i fI
= ' — s
=y . It
132
B2 | AREA | ARER N R T RS F = N TR e NIREA
No |PN(MPa)l DN Lt al - No DN PN(MPa)
1] 64 126 45 | 72| 66 o 1Cr18NigTi ! 15 64
2| 20 5 |126]| 45| 72| 66 &g;}?’;‘&zl_ 2 20 16
3 40 132160 | 29| 73 316L 3 25 32

HYJ-2D J24 BHMRGANE LLEIE
HYJ-2D J24 Male and Angle Pattern Stop Valve

HYJ-2E J24 BIMEQRAEILER
HYJ-2E J24 Male and Pattern Stop Valve

,7,7],

HYJ-2F J24 BHMESUARE LI
HYJ-2F J24 Male and Pattern Stop Valve

Fe | AtERE | ARES % # R B2 | anEi| amEn h R Y
No DN PN(MPa) L | H | H| Do No DN PN(MPa) | 5 T ledlde
1 2 0

1 5 G1/2"| 64 | 72 | 66| 45

2.5 1 6 25 | G1/2"| 32| 10.5| 37| 72| 66|45
2 10 4.0 G3/4" | 90 | 100 | 94 |100 10

6.4 '
3 15 110 | 158 | 143100 2 10 6.4 | G3/4"| 48| 14.5|53/100| 94|76

www.tiankanggf.com 54

T
i
|
= | |2 |
— E I
: | |
- ) fl
L . L
U —
o | AR | N o | A I\
F5 | =/ NFRE S Fe | &7 NFRE S
NO 1%?\]% PN(MPa) d L Hi1 H2 L NO %5 PN(MPa) Do L H1 H2
! 16 ! 15 64 22 93 63 37
5 3 2 14 | 64 | 99 | 93 | 76 5 6
3 16 3 25
) 5 o 14 | 64 | 99 | 93 | 76 ] 20 57 28 108 77 57
5 16 14 5 25
10 66 | 101 | 87 | 76 25 34 127 87 77
6 32 18 6 6.4
HYJ-3A J11 BIAEL & LR HYJ-3B J11 BIAIELE; LR
HYJ-3A J11 Femals Screw Stop Valve HYJ-3B J11 Femals Screw Stop Valve
XX
= |
2-d
d
R - <[ —— — F—=—H——11
L T
Be %%f; ARESH 2 348 4y 1 T FS| AWED A RIE R LBy
NO | 5| PN(MPa) d NO | PN(MPa) DN d
1 4 1/2" 48 | 72 | 66 1 16 15 1/2"
2 64 1/4" 48 | 72 | 66 2 10 1/4"
3 172 48 | 72 | 66 3 64 15 1/2"
4 : 20 1/ 56 | 72 | 66 4 10 14"
5 1/2" 64 | 72 | 66 ] .
6 12" 56 | 79 | 66 S 25 S 2
7 40 1/8" 56 | 79 | 66 6 20 3/
8 172" 64 | 79 | 66 7 32 15 1/2"
55 ( SRAREDERIFHIRAG

anhui Tiankang group piping valve co.,ltd




HYJ-3C J11W-16T BIRIZSEREFIE 1L (7

HYJ-3C J11W-16T Female copper Stop Valve

HYJ-4 J3 1 BRIMEGE IR

HYJ-4 J %1 Female and Male Screw Stop Valve

=
d2
T~
1 !
L
e | MIREE | BHED | g | g | L | | He
FS | AWREAHPN NRBERE d L 1 5 20MPa | 1/4"| 1/4"| 48 | 72| 72
2 40MP 174" | 1/4" 79 7
1 10 114" 50 ° OMPa | 14" 1M7) S6 ?
1.6MPa 3 5 40MPa | 3/8"| 3/8"| 56 | 79 | 73
2 15 1z 65 4 5 40MPa | 1/2"| 1/2"| 64 | 79| 73
HYJ-5 J11 BEHRBIEA HYJ-6 J11BY55E LR
HYJ-5 J11 Pressure Cauge Stop Valve HYJ-6 J11 Throttle Stop Valve
|
GlE ‘ |2
—— ‘ ——
u] O
iﬁ‘ ; )
g § u] - [=
3 7 | ———
L
N\ /N
pe | A8 | amEn | maeg B |ga | AREN | w8
NO | B | pN(MPa) d L L e NO | B | PN(MPa) d L[ Hi| R
1 5 20 M20x1.5 | 86 | 45 | 72| 66 1 5 20 M20X 1.5 9 | 72 | 66
2 5 20 G1/2" | 86| 45 | 72| 66 2 5 20 G1/2" 9 | 72 | 66
3 5 40 M20x1.5 | 92 | 60 | 79| 73 3 5 40 M20X 1.5 9 | 79 | 73
4 5 40 G1/2" | 92|60 | 79| 73 4 5 40 G1/2" 9% | 79 | 73
www.tiankanggf.com 56

HYJ1-7 J 2 1R BE# 1 F
HYJ1-7 J & 1 Pressure-taking Stop Valve

===

HYJ1-8 J 2 1RIHE & 1L 7
HYJ1-8 J 21 Exhaust stop Valve

! H| 3K
= 4|
\ d
- d
al 5 | ] ~o[
j\_ — a
L —=3f" N - -
:E’ ) §~| I T T
L E\E
me | A% | wnEn | REEE | || || W ws | 4K e T
NO | boN PN Do Do NO JLYES EA unionbonnetd
1 5 | 20MPa | ®14 | ®12 |®75]|116 | 72 | 66 DN PN
2 5 | 20MPa | ©14 | ®14 |©75]|116 | 79 | 73 1 5 20MPa 1/2"
3 5 40MPa D14 ®12 |Od75|116 | 79 | 73 2 5 20MPa 3/4"
4 5 | 40MPa | ®14 | ®14 |©75]|116 | 79 | 73 -
5 5 | 40MPa | ®14 | ®12 |075|116 | 79 | 73 3 S 40MPa 2172
6 5 | 40MPa | ®18 | @14 |o85[122| 79 | 73 4 5 40MPa Z3/4"

HYJ-9A JG-1F 2 E Ot £
HYJ-9A JG-1F Polymouth Metering Valve

jr,i,ﬂ

]

|7

di ‘

3-d2

85

ZE— RO
EAMBEGEO. HOMF=
AAETIE, REAIS N R R
BE, ININSENHHRENT

XBER, BTEEERES.

This valve has one raised scren

inlet and threc sunken screw exits.
The three exits which are in different

directions can be separately connected

with the manometer or the pressure

switch and used in the metering tube

flow.

%5 %% }/LE\\?? urﬁ%ﬁ:b%%r%et
NOIDN| PN | di |
1] 5 [20MPa Ay
2 | 5 [20MPa| z1/8" 2015
3| 5 [somPa| z1a" | Gir
4| 5 [sompPa| z112' [ Z1r2
5 | 5 |[40MPa| Z34" M20x15
6| 5 [40MPa G112
57

HYJ-9B JG-2F 81 £ 0t ERA
HYJ-9B JG-2F Polymouth Metering Valve

ir,i,,,

di ‘

ZEMIERSIG-1FRIE A4E
B, FEzZ&HZBOFEEDR
K. T IRES0MMEK RS

Its funcfion is basically the
sameas the JG-1Fand the differetnce

is the raised connector of this valve

is longer and can supply the

sluggish of 50mm.

R Nk LB ey
Evg—']%g }%?g unionbonnet
DN | PN di d2
z1r"
1] 5 |20MPal ., il
2| 5 [20MP :
4z -

3| 5 |20MPa G1/2
4 | 5 |40MPa| z1/2"| Z112"
5| 5 |40MPa| z3/4" [M20X1.5
6| 5 [40MPa G1/2"

O N\ GIRKE
\

REEDENITHAIRAS

anhui Tiankang group piping valve co.,ltd




HYJ-10A J29 B E /it A#1LR
HYJ-10A J29 Pressure Gange Stop Valve

| I
y B =—]1=
\_MH !
|
[
’7| i |—‘
i
|, |
85
o | AFBE[AHEN  #BRY SR
%
MY PN di & |Li|L[Hi|He
1 3 32 |M20x15M14x15|58|68|95|88
2 3 32 |M20x15M20x 15|58 |68 |95|88

HYJ-11A J41 BiE 2 H LR
HYJ-11A J41 Flange-type stop Valve

HYJ-10B J49 B & /it A& LR
HYJ-10B J49 Pressure Gange Stop Valve

Hi (H2)

M0k 1.5

- NBER | ATRED SNE R EE R T
"> ["DN  |[PNMPa) Lt ] D | D Hr [Ha
1 3 32 |58 |42] 70 95 |88

HYJ-11A J44 BEZH IR
HYJ-11A J44 Flange-type stop Valve

| s ‘ b
b | e
Tz —
Jay T A B — == — S— N
——— e Ry e E(E a
= " |
._]
= o T | — 1
—
o | ARRBR | ARES o| AFRBR| ARES
e | BHRE | NMPa) | L | D | 1| | Hi e Fe| BN oNMpay | LD b | 1| | R
1 3 32 1201 70 | 76 | 15| 99| 93 1 3 32 60| 70| 15| 76 | 99 | 93
2 6 32 1201 70 | 76 | 15| 99| 93 2 6 32 60| 70| 15| 76 | 99 | 93
3 10 32 1801 95| 76 | 20 | 101| 87 3 10 32 90| 95| 20| 76 [ 101| 87
4 15 32 2101105100 20 | 158|143 4 15 32 105(105| 20 [ 100| 158| 143

www.tiankanggf.com

58

HYJ-12A J61% B3I 5B EISEH 1L
HYJ-124 J61° Seroes High Temperature and Pressure Welded Stop Valve

HYJ-12B J41H %5

=H=

I=]/m =]

EE =81

HYJ-12B J41H Series Flange High Temperature and Pressure Stop Valve

|
\ =
|
=N | !
] T
1= —
] —
[— —
L
o |THEN| A%tk | EBHEURT mee
I\%fel Working ﬁg E@Ig Overall size ﬁsﬂlji/talf)%ec
J61H-320C — [1)’; :2’\:) 1(I)_0 1:2 1?)(2) tefgff) BS %VVHEJ o= %geifj'@ﬂ%z
- Model orking PN
J61H-320C 20 [320 | 118 [ 208 | 130 | 450 pressure | (Mpa) L D H
J61H-200C 10 [200 | 100 | 148 | 100 | 450 JA1H-64P 10 6.4 170 | 100 | 159
J61H-200C 15 [200 | 108 [ 175 | 130 | 450 JA1H-64P 15 6.4 170 | 105 | 165
J61H-200C 20 [200 | 118 [ 185 [ 130 | 450 J41H-64P 20 6.4 190 | 125 | 195
J61Y-Ps:140V| 140 | 10 100 | 162 | 130 | 540 J41H-160P 10 16 170 | 110 | 165
J61Y-Ps140V| 140 | 15 108 [ 195 | 130 | 540 J41H-160P 15 16 170 | 110 | 195
J61Y-Ps1140V| 140 | 20 118 | 208 | 160 | 540 J41H-160P 20 16 190 | 130 | 165
J61Y-Pss170v] 170 | 10 100 [ 162 | 130 | 560 J41H-100C 10 10 170 | 110 | 195
J61Y-Pss170vV| 170 | 15 108 | 195 | 130 | 560 J41H-100C 15 10 170 | 110 | 165
J61Y-Pss170vV] 170 | 20 118 | 208 | 160 | 560 J41H-100C 20 10 190 | 130 | 195
HYJ-12C J61Y &35 R & ERIES 1L E HYJ-12D FJ21Y RIE R e EREE LR

HYJ-12C J61Y Seroes High Yemperature and Pressure Welded Stop Vh ve

HYJ-12D FJ21YSeroes High Temperature and Pressure Welded Stop Valve

59

I | =
.
jo |AKR|ARR|ERREC EEEWRST i L
I\/i_l%;;l BRZ|ES| Suitable Overall size T\%Jﬁtﬁ*—f
DN | PN | temp(<) | L | @ [H1| Hz | D[ Do | Viateria — —
FIRYPSATOP o100 me |L%|A%ERERC  IEEHRY Yo 1)
sll0P| 6 | 17 | 560 |78 [126[174/162|010) 08|, -\ oo Mfl B2 |EH| Suitable Overall size R}
FEIPs3P| 6 | 32 | 560 |78 |126/178] 165|102 10| 346, 3041 O%€" DN | PN | temp(<) [L | @ [Hi|Hz [Do| | Material
FIBIYPs170P| 10 | 17 | 560 |78 |130[185|173|016|® 14| 12CrMoV FIIYP%160P| 6 | 16 | 560 [146]|70[125(115(014 ;%g’j)iﬂi
Fietvps32P| 10 | 32 | 560 |78 |180[192{192 @16@16%;%%%% FI1YPs160P| 10 | 16 | 560 [146{70 125115218 | jocivov
FstYPstTP| 15 | 17 | 560 |78 [180[245|230[028l022| 2% F1vPs320P| 6 | 32 | 560 |156|80}125115(014 ﬁfgg;f
FIbps320P| 15 | 32 | 560 |78 |180[255|240 (02828 FJ21YPs320P| 10 | 32 | 560 [156|80[125/115(018] | ®ad
PNGHAXREBAEZERITBERAS

anhui Tiankang group piping valve co.,ltd




HYJ12-19 J26 ;| R=iE# 1A
HYJ12-19 J26 |, 3-way Stop Valve

HYJ12-15 S19 H-1 R hXHkE
HYJ12-15 $19 H-1 Heat Power Water Dredging Valve

HY12-35 J99H B =& # 1t i
HY12-35 J99H Miniature 3-way stop valve

HY21 BEUEE IR
HY21 Bow pipe stop valve

[

|
3|%
ENE
I v
= —15 |

Do

L T WX — %
L H

30 o |ABR|AREN REME|SMERY #E
#5 | ON PNMPa) Do | L [H| MH e
1 6.4 118] 62| 9185
2 3 16| ©14 [126]68]96 |90 ~52
3 32 134] 75 [103] 96 =
20# g? R4
4 6.4 RAEAT e || B | B L H D
5 5 16 ®14 1128] 68 | 98 | 92 |ocrsNi2
6 32 136] 75 [105[ 98 Mo2Ti
FS | AWEAPN | Af#EDN 26 7 6.4 132] 75 [103[ 95| 304L AFREFIPN16MPa ! 6 10 190 | MO | 18
10 18 316L
8 16 1361 75 11081100 Fe&Do: ®3. D6 2 16 15 170 | 125 | 22
10 — 9 32 144] 75 [ 114[106
2MPa 10 15 25 ®pp [160] 75123112 3 4.0 10 160 137 18
5 zG1/2" 11 6.4 168] 86 [ 126[116
12 16 174]126[132[120 4 40 15 180 | 137 | 22
HY12-33 J93H B HBH L @ HY12-34 J94H MR X 1L A

HY10-10 L21X-160 BEfE @
HY10-10 L21X-160 Damping valve

HY10-4 HS i@

HY12-33 J93H Miniature straight way stop vavle HY10-4 Exhaust valve

HY12-34 J94H Miniature angle patten stop valve

|
A N
\o| o ‘ ]
i | A — WA
QH(IH . e ‘ \ - Tla L — el
g% b
K | \
4| 4 ‘
\ 105
|
) o \/
“ !
i
o5
D FE | ARER IN L d
NO. PN(MPa) DN
1 16 3 M20 X 1.5
AR EFPN16MPa AFRESIPN16MPa D: ©14, 918
F&Do: ®3. 6 EcEDo: @3, @6 2 © ’ S
www.tiankanggf.com 60 61 ( gﬁ?&?ﬁf‘ﬂ% ,',‘,?,.E E&Ema:i




HYQ ZR5| & &Ik
HYQ Ball valve for measure pipeling

HY9-1 QG.Y1 BIRERTKIR

HY9-1 QG.Y1 Collet-type Ball Valve

HY9-2 QG.AY1 BB E KT
HY9-2 QG.AY1 Pressure-taking Ball Valve

 —
= 1 dh
Jaian) i
|
SIS ' oo
= \ .
sie =l
==
130 105
re e ARES | A%mER | EEie Fe RS ARES | AHBRE | EREME
NO Model PN DN Do NO Model PN DN Do
! QGY:-1 | 2.5MPa 10 ®12 ! QGAY: | 25MPa 10 @12
2 ®14 2 14
HY9-3 QG.M1 B [E hRIHKIF HY9-4 QG.QY1 B SEHIA

HY9-3 QG.M1 Pressure Gauge Ball Valve

M20 x 1.5-7&
EJ
T

M20 x 1.5

=1 =]
NS Mol | ABEAPN | ABEZDN
1 QG.M1 2.5MPa 3

www.tiankanggf.com

HY9-4 QG.QY1 Gas Suply Ball Valve

G1/2"

90

= =
NS l\/%):j;el AFRESPN | AFRiEZDN | EEDo

1 4 D6

QG.GY1 1.0MPa
2 6 D8

62

HY 12-23 QY-1RSZhE KR
HY 12-23 QY-1 Pneumatic Tuke Ball Valve

HY 12-24 QY-2B S5 EWIkiE
HY 12-24 QY-2 Pneumatic Tuke Ball Valve

s |
S sm
T | o
L | Jh | ét |
80 ~67

FEEE H62

F & # R H62 AFRES DN 1.0MPa

AREH PN 1.0MPa f2& Do ©6. ©8, 10

2% Do ®6, ®8, 10 #ipi2ard M10X1 ZG1/8". ZG1/4". G1/4"

HY 12-25 QY-3BIS B BTk HY 12-26 QH.Y1 QJ.Y1E R ERX KT

HY 12-25 QY-3 Pneumatic Tuke Ball Valve

HY12-26 QH.Y1 QJ.Y1 Collet-type Ball Valve

)
<
i s=! e
- a
~67

FEHER H62 FEAE 20", 1Cr18Ni19Ti 316 316L
AFREN PN 1.0MPa AFRES PN ;4.0MPa. 6.4MPa
fi & Do ®6. ®8., ®10 AFREEDN 10, 15
i iRad M10X1 G1/4", ZG1/4". ZG1/8" & Do ®12, ©14, 18

63

( SRAREDERNITHIRAS

anhui Tiankang group piping valve co.,ltd




HY12-27 Q11SA B H253K i
HY12-27 Q11SA Female Serew Ball Valve

F = pilg=) NIRES NIRBERE
No Model PN N
1 10
2 C 15
Q11SA-64 6.4MPa
3 P 20
4 25

HYQ-1A Q81SA-64 B RiEXTkiT
HYQ-1A Q81SA-64 Taggle Ball Valve

%

Gl/e

e

HYQ-1B Q2 SA-64 Btk =Bk
HYQ-1B Q2 SA-64 Toggle Ball Valve

L>

HYQ-1C Q% SA-64 BIREmAIRE
HYQ-1C Q1 SA-64 Taggle Fype Ball

[
|
E,ff,

= |
| e
|
) |
o S | ,,Dl 1 —
n o
\ ]
_I_'
Li |
L L
F S |AREH|ARER BEERST S B R <F ERRR(C) F 2 |ARED [AGER| EEZRY 56 BOR T ERREC)
No | PN | DN d_ Dol L [Li[Fir[L, [Sitabletemy No | PN | DN q LT L [ H[suebletn
1 M10X 1 4819 <
2 ZG18" 281197 50| 32 ; o1
3 4 [zG14" | 6 [50] 21 5 4 T 40 | 30 | 32
4 G1/4" 50 | 21 e : ST
5 MT0X1 52 | 21 R m 6.4 EiR
6.4 " Normal 5 6 G1/4 50 | 38 42
6 ZG1/8 52 | 21 5 MPa Norma
7 | MPa| 6 [zG1a"|8 [54]23]30(42| Temp M161.5 Tomp
8 G1/4" 54 | 23 7 8 ZG3/8 60 | 45 | 50
9 M10X 1 58 | 24 8 G3/8" Norm
10 ZG1/8" 58 | 24 9 M20x 1.5
11 8 [ zG1/4" | 10 60| 26 | 38| 50 10 10 7G1/2" 65 | 60 | 60
12 G1/4" 60 | 26 " G1/2"

HYQ-2A Q11SA-64 B RigL3k i
HYQ-2A Q11SA-64 Female Screw Ball Valve

HYQ-2B Q11SA-64 B 853k i
HYQ-2B Q11SA-64 Female Screw Ball Valve

HYQ-2C Q11F-64 B R 1253 iF
HYQ-2C Q11F-64 Female Screw Ball Valve

‘ =
‘ el
H =
— |>+_517,
_'J@
Li o [nmEhlamea] EESNE MU R < BREE(C
— S |AREN|AIRE] Pipe size (gl/eraIIS—l'E'e Lgau/itzfél(e)
No PN DN d Do| L [ Li|[Hi|[H| temp
1 M10X1 48] 19
2 , | 48] 19
3 zG1a™ | 8 [50] 21 30 | 32
5 o |AWEN|ApEE REsE| Sh B R Y #l i a MPa 2G1/8" 52| 21 Normal
PN | DN DL [L|L|H]| #H 7 ® [Zewa| ® [54[ 23| 30| 42| TomP
20 8 G1/4" 54 23
1 6.4 4 6 |58 128 30) 32| icrignigri 9 M10X1 58] 24
2 | wmpa 6 8 |62 | 28] 30| 42 |0GHBNI12 10 8 ggm o sel2al |
304L ! 60| 26
3 8 10 |78 |36|38]50| 394 12 ST ol 26
www.tiankanggf.com 64

‘ Ll
] 4‘;7 L
1 —_—
(/; ‘ I i
ﬁ | -
= =
[ | &
T
i ==
'_| — ==}
- 5 S ’ [ E—
\
L L
7S [MEENcHER RERK | S4B R T smano) i 2| 0% | | % b | e fwoesead PERT |sRER(0)
No PN d L | Li | H | Hi [Suitable temp No | &7 |87 |18 2 |Pipe thread | Unionbonnet| L | Li | H [Suitabletemp
1 M10x1
2 4 ZG1/8" | 40| 30| 32| 4 1 10 | 75| G3/8" | G3/8" | 58 [100]| 45
3 G1/8"
4 2G1/4" " 2 15| 95| 612" | G1/2" | 70 [110] 50
5 64 | 4 G1/a" 50| 38| 42| 4 | ®i& 6a .
6 MPa V16X 15 Normal 3 |84 20 |125| ca G34" | 80 |120] 62 | (o
7 2638 | 6ol 45|50| 6 | o . | 25| 17 | 61" G1" 9 [120| 64 | Temp
8 8 G3/8" Norm
9 M20x 1.5 5 32| 23 | G114 | G114 100|130 70
10 10 2Gi1r | 65|60 60| 6
" 2G1/2" 6 40 | 25 | 612" | G11/2" | 110|150 | 80
65 P NGRRKEERAZWITHIR

=\ =
A=

anhui Tiankang group piping valve co.,ltd




HYQ-3 Q21F-64 B 5pRLIRIE
HYQ-3 Q21F-64 Male Screw Ball Valve

Li
=
[ | T
/—E
I e N | | = =
L jm -]
y— L= |l ]
D — o=
—a |
v L
axl a w2 g )
el DB AT\ I RERA g am | HMERT |gmem
No| E7| B | Bi2| Pipe Sutable temp
PN | DN | DN | thread Do Ll ulH
1 10| 7.5 |[M2ax15 18 |86 |[100] 45
64 %R
2 [ypa| 15| 95 | M30x2 22 |90 |10 50| 2=
Temp
3 20 | 12,5 M3 x 2 28 | 110[120] 52
4 25 | 17 | M4a2x2 34 130| 120 | 64

HYQ-4 Q91SA-64 BIKETKT
HYQ-4 Q91SA-64 Collet Valve

e | A% | A% | RE |EBEECO) SR
N? EA | @& |50 | Sutable
o
PN | DN | DO temp L L+ H M
1 4 | 6 60 | 30 | 32| 4
=
2 |64 | 6 | 8 i 65 | 38 | 42| 4
MP o Normal
a
3 8 Temp 75 | 45 | 50 | 6
12
4 10 | 14 88 | 60 | 60 | &

HYQ-5A Q93SA-64 BIW~ERXIKE
HYQ-5A Q93SA-64 Double-Collet Angle Pattera Ball Valve

HYQ-5B Q13SA-64 Bl 125 A IRE
HYQ-5B Q13SA-64 Female Angle Pattern Ball Valve

—

L
jus)

h
Wt
jas) _
= |
y |
=} T
N
— _L —
L
J < s |pmEh e By [ERERE(C) 4 B R
| awm| o me smazc sh B R_T B2 |AREH(ARER| RE B pimony
Be Overall Size No PN DN d tem L | Li|H]|Hs
N | BN | | sh|  sutable 2
o 1 M10x 1
PN | DN | DO temp L L H H
! ! 2 4 ZG1/8" 20| 20| 32| 4
3 G1/8"
1 4 6 30 30 32 4 4 7G1/4"
%8 5 6 | G HiE | 203%8)42) 4
6.4
2 |ga | 6| 8 | Normal | 32| 38 | 42| 4 I . M16x1.5 | Normal
MPa o Temp 7 ° g [ zous Temp | 30| 45|50 | 6
3 8 [ 38 | 45 | 50 6 8 G3/8"
- M20X 1.5 32| 60|60| 6
4 10 | 14 44| 60 | 60 | & 10 10 | zG1/2"
11 G1/2"
www.tiankanggf.com 66

HYQ-6A Q94SA-64 Bl-kE=EKI
HYQ-6A Q94SA-64 Collet3-Way Ball Valve

L Hi
I
[H]

H

HYQ-6B Q14SA-64 B NI =&KIR
HYQ-6B Q14SA-64 Femals Serew3-Way Ball Valve

Li

Hi
—
U=

P L st |
T \ NTV 1
LJ L
Fe| AREN| AEE| BB R [BRERC)| MR
N | nwr | mes | ERRE SN RSE /
Be NFR | AR BRE (Dén;x Overall Size No PN DN d Suitable temp[ L | L1 | H | H1
No EN|BE| MR suitable 1 M10x1
PN | DN | Do | “yomp L] Lr| H | H 2 4 [ 2ZG18" 40|30 (32| 4
3 G1/8" -
1 4 | 6 60| 30| 32| 4 2 ZG1/4" m
6 o
" 5 G1/a" (C) 50(38|42| 4
2 6 | 8 () 65| 38| 42 | 4 6 | 64 M16x1.5| Normal
6.4 7 8 | zG3/s" Temp |60|45(|50| 6
10 | Normal MPa Ga/8"
3 |MPa| 8 75| 45| 50 | & 8 3/8 Norm
12 Temp 9 M20X 1.5
10 10 [ zG1/2" 65|60|60| 6
4 10 | 14 85| 60| 60 | 6 w G1/2

HYQ-7 PQ81SA-64 BIHES 3ki®
HYQ-7 PQ81SA-64 Exhaurt Ball Valve

T AR:

R ASFENRLTENT AR, BT, #Sn5RS0E
B, HRAXA, HFRNEE0° . #RA5HSATHL ESO5H
SOEB, HHNEMERSE.

Directions:

Itis a special producf of various gauge installtions . while the valve opening . the
admissior is connected with the oatlet and exhaust is closed when the handle is turned
90° ,the admission and outlet are cut off but the outlet is connecfed wieht he exhaust
and the gauge gas is exharter.

FS | ARRES | ATER | RESME SNEURS |ERERE(C)
No PN DN Do L | L2| L1 | H [Suitable temp;
1 4 6 62 (28|30 |32 %jfn%
2 64 6 8 62 (28|30 |36 N(C)
MPa ormal
3 8 10 66|36 |38 40| Temp

HYQ-8A YFP-1A BB —iB M FEBK T
HYQ-8A YFP-1A 2-Direcfion and 1-Way Double Collet Ball Valve

INFR | N FR = [sEms [ SNEIRSF
Fe| # o R ,E' BMRE(C) Overall Size

No | E 51| @R SME | Suitable

PN | DN | D, temp L [ L1 | H | H1

1 4 6 60 | 30 35 5

iR

2 6.4 6 8 (C) 65 | 38 40 5
Normal

3 |MPal g | 12| Temp |85 |45 | 55 | 7

4 10 14 85 | 60 65 7

o7 N SEE M G i 11 5 R

=\ =
A=

anhui Tiankang group piping valve co.,ltd




HYQ-8B YFP-1B B {i—i& MR L ) #3K IR
HYQ-8B YFP-1B 2-Direction and 1-way
Female cutting and chaning Ball Valve

= jas)

=

L

B2 | MEN| ATRBR| REgY | EEE(C)| MRS
No | PN DN  |Pipe threed(d) | Sutabletemp| L L1 [ H | H1
1 M10X1
2 4 ZG1/8" 4030 |32 | 4
3 G1/8"
4 ZG1/4" s
5 6 G1/4" mim | 50|38 |42 4
6 | 64 M16X 1.5 N(C)I
7 ZG3/8" orma

MP 8
5 a Gl temp 60|45 |50 | 6
9 M20X1.5
10 10 ZG1/2" 65|60 | 60| 6
11 G1/2"

HYQ-9 YFP-2 BT (i i@ ) 153K iF
HYQ-9 YFP-2 2-Direction and 1-way Female cutting

and chaning Ball Valve
‘ Li

®

L AP EEEERE W, Notes: 1.If the plastic of copper are needed for
BEEITERGER, WS EHIMER ML connextion.please givta clear order.well provide

sk, relevant extreme joints.
2. KREBBMNHESERED, — AT 2.It has two admission connectors and is
RN RA R R D% . for the,two whiffs of the mediccm to be cut and
changed at the same time.
INFR| INFR & BE N E <
s DT O ey il bR R
& 1= | Pipe threed(d
No | o | 'on |PPetreedd) Semp | L L | H | e
1 M10X 1 258
6.4 c
2 24 | zG1/8" (©) 50 [ 45 | 55 | 5
MPa Normal
3 zG1/4" | Temp

HYQ-10 YFP-3 Bl{i—i&1) %Ki
HYQ-10 YFP-3 4-Direction and 1-way Cutting and Ball Valve
‘ L ‘

Hi

1
A LERRIHESERE  Note:1.If the plastic or copper pipes are

A ERE, EEiTAER. needed for connextion. please givta cle-
Ve T arorder.
2ARB|I—TRRE, DHIE 2. Its admission connector can cat and

HYQ-11 YFP-4 R4 i 1) 5k i
HYQ-11 YFP-4 4-Direetion and 2-way Cuttig and Changing Ball Valve

I ARIIEFE®mNHSE, 9 Note: Ithas two admission connectors and can

mANF AP, FRET AT change towards four directions and can Bl AR, 'JT\EI_‘}_ﬂ:F cut and change towards foar direcfions and can
NES R E—AN TR also make four whiffs of the mediccm IR MAAY)  also make eight whiffs of the medium be cut
be cut and changed to one direction. #, and cut and changed to twodirections.

e | A AR | pEeg JBREE | 4ME R <FOverall Size T 3350 AFREA: 1IMPa, AFRiEZ: DN4
No | B3| B |Pipescrew(d) () Suitable === """/ T 17 | | Performance standard| PN: 1MPa DN:DN4

PN N |Pipes temp

1 M10X1 s ERMR BMREFIER R R
6.4 ! Suitable medicm All kinds of gas and noncorrosive medium
MPa 2.4 2G1/8 Normal 50 | 45 | 55 5 i R~ Do BEEO6X1 BRIENEHE
ZG1/4" Temp Pipe size Pipe:piasticor nylon pipes of 6 X 1
www.tiankanggf.com 68

HYQ-12 YFP-5 BI75{i—i@ ) 3K i
HYQ-12 YFP-5 Direction and 1-Way and Changing Ball valve

i

-

HYQ-13 YFP-6 B3 fifiEY) 2kig
HYQ-13 YFP-6 Direction and 1-Way cutting and Changing Ball valve

Suitable medicm | All kinds of gas and noncorrosive medium

MHRERISE AFRES: IMPa, 2Fri@EE: DN4 MERERISE PERES: IMPa, AF7iEE: DN4
Performance standard| PN: 1MPa DN:DN4 Performance standard PN: 1MPa DN:DN4
EANR BEAFIER R EANR BFSEFIIEB N R

Suitable medicm All kinds of gas and noncorrosive medium

RERID0 | REC6X1 BHEREAE
Pipe size Pipe:piasticor nylon pipes of ®6 X 1

&R~ Do FEPEX1 BRENERE
Pipe size Pipe:piasticor nylon pipes of ©6 X 1

A ARE-ANHRSR, DAEAANTIAE. T AFARANT
8 —N O

Note: The valve has one admission connector and change to wards six
directions or six directions to wards one outlet.

HYQ-14 Q61N-160. 320 B EEKIF
HYQ-14 Q61N-160. 320 Hight PreLssure Ball Valve

£ U

40 | 260 | 120 | 450 [ 170 | 49
50 | 330 4501 200 | 61

T ARTHBENER, FEEXFSMEER L

| =
— 1
a
' et
—- ,(L,A},,,,f
N — Li g
L
INFR < & N=|
F3 | AREN | g e o
No PN ON| L [ L |[L|D|D| “mp®
1 10 [ 150 | 60 | 160] 90 | 10
2 15 | 170 | 70 | 160 | 100 | 23
3 20 | 190 | 81 | 250 110 | 29
4 16 25 | 205 | 95 | 250 | 115 | 36 | -401C-50C
5 32MPa 35230 [ 110 | 350 | 150 | 43
6
7

F KBEER—NHED BRI SN IR B2 TR B
FATT B AL

Note: The valve has two andmirrion connecfors and can cut and change towards
six directions or twelve dirctions to two direetions

HYQ-15 QQ41F Bk iR
HYQ-15 Q41F Double Union Ball Valve

NHREN | ARBR | EFRECC)
PN DN Suitable temp
15
20
16 25
2 EMPa 32 -20°C-150°C
4.0 40
50
65
80
100

6o £ AWK A 1 HIRAS

anhui Tiankang group piping valve co.,ltd




HY (R &5 HY Gauge Series Valves

HYEF-18 _ @t

HYEF-1 Two Series Vale

20MPa

-20~440

35"

20MPa

-70~240

1Cr18Ni9Ti

40MPa

-20~440

35%

40MPa

F S [ARRENPN|AMREEDNERRE C| B
1
2
3
4

-70~240

1Cr18Ni9Ti

HYEF-2 B _ R4

HYEF-2 Two series Vale

F 5 |ARMEAPN[AFREEDN| EREBEE C Bt
1 20MPa 5 -20~440 35"
2 20MPa 5 -70~240 [1Cr18NiQTi
3 40MPa 5 -20~440 35"
4 40MPa 5 -70~240 |[1Cr18Ni9Ti
HYEF-3 81— jg4
HYEF-3 Two series Vale
F 5 |[ATRESPN |[AFREEDNERBE C| REHR
1 20MPa 5 -20~440 35%
2 20MPa 5 -70~240 [1Cr18Ni9Ti
3 40MPa 5 -20~440 35%
4 40MPa 5 -70~240 [1Cr18Ni9Ti

www.tiankanggf.com

XFRAAGYINT. Bk, FdE
S=EMEBET M, £/,
BT FREL. ZREFEANME
B3k, TEENT. EAERSER
EAFIIREER. ELBLTIR
EBEFEEHR PT. PF. NPT, G.
ZG. RE, BTEVIHATER.

XFRER T, B, FHS
=MEBET @, HH/NI, gD

T HiREL. ZWAEWAMEEL,

THEDT. EHERRRENTx
REMEM. BABGUTRERARE
#PT. PF. NPT, G. ZG. R%, i#
VT E .

XFREEYINT. B, TS
=MEREET—®, EH/NIT, B
T HREL. ZRE-NMEOEE
3k, THRENT. ENZRERSES
FRBEMER. BLBYTRERS
FHEHPT. PF. NPT, G. ZG. R%,
BEITRALER,

70

This valve makes cutting, calibrating and exhausting
as one, has the simple structare, reduces the easiby leak
-ing connectors. It has two sunken connectors for the
installetion of the manometer, pressure transducer or
pressure switch.The union bonners can be chosen to wre
from the stendards of PT, PF, NPT, G, ZG, R, etc,Pleare
give a definite order.

2-71/2"

This valve makes cutting,calibrating and exhausting
as one,has the simple structare,reduces the easiby leak-
ing connectors . It has two sunken connectors for the
installetion of the manometer,pressure transducer or p-
ressure switch.The union bonners can be chosen to w-
re from the stendards of PT,PFNPT,G,ZG,R etc,Pleare
give a definite order.

zi2w ] T

i)

AY
RS RS
Z1/4
ﬂU

This valve makes cutting,calibrating and exhausting
as one,has the simple structare,reduces the easiby leak-
ing connectors . It has two sunken connectors for the
installetion of the manometer,pressure transducer or p-
ressure switch.The union bonners can be chosen to w-
re from the stendards of PT,PF,NPT,G,ZG,R etc,Pleare
give a definite order.

HYEF1151 81" g4
HYEF1151 Two series Valve

=

|
g\
H+ﬁ/

This valve makes cutting,calibrating and

k., B TUSTRBERER, & exhausting as one, has the simple structare,

reduces the easiby leaking connectors.

\ %
Q ®

‘ 1-7/8" ‘

This valve makes cutting,calibrating and
exhausting as one, has the simple structare,
reduces the easiby leaking connectors.

F S [AFREAPN|AFRBEDN| EREETC| BREHE
1 20MPa 5 -20~440 35%
2 20MPa 5 -70~240 [1CH8NIOTI| syimuisints. Rop s =FE BT
3 40MPa 5 -20~440 35"
4 40MPa 5 -70~240 [1Cr18Ni9Ti| /05, FIFRE.
HYEF-4 N4 — R4
HYEF-4 Two series Valve
T
|._
F 5 |AFRE/IPN| AFREZDN| EHEE C| ®ER
1 20MPa 5 -20~440 35% ZRAREELTH M RANER X
2 | 20MPa 5 | -70~240 | 1Cr18NioTi ﬁf’“% ii:’l‘ﬁii%fﬂ;ims
WAMEEBEEEXL L, BATH
40MP -20~ 35%
3 OMPa > 20~440 B R— RSB R EEE WA
4 40MPa 5 -70~240 | 1Cr18NIOTI|

HYEF-T1 (st @4
HYEF-T1 integralization two seriesvalue

o
c
o | AREDARBR| grassz | EFEE N
e T T L I R G B T a———
1 32 5 ®14 | -20~440| 35% F—fk, GEMNIG, THEBEEES
RERE OROTHRER.
2 32 5 ®14 | -70~240|1Cr18NigTi

71

' 4
“

This valve integrates the three devices of cutting ,
gauging,and exhaustion into one body;its structure
is compact and it can be directly fixed on the tran-
smitter to reduce free-lealing connectors.

SBRMARERDEMIFHIRAS

anhui Tiankang group piping valve co.,ltd




HYSF-1151 =34

HYSF-1151 Three Series Valves

=XV Y INFRA /:7\1: N SS N N - .
1 20MPa 5 -20~440 35% EERERE, BTMIIESSE
2 20MPa 5 -70~240 | 1Cr18NigTi| S3IAIISIRIIZENFIERHIE.
J = = \5_;]'15;—& AN
3 20MPa s 20~420 35" RANEE. 1§§IE,.\\'3{U§§?§1@
WA, BUEE ST RBERE
4 40MPa 5 -70~240 | 1Cr18Ni9Ti|

HYSF-T1 —{k{t =4

HYSF-T1 Integralization Three Series Valves

s |AMEN| ATFER| ERAEE |, s
TN BN o i) A 1 4
HYYSF-1| 20MPa 5 -20~440 |  35#
HYYSF-2| 20MPa 5 -70~240 [1Cr18Ni9Ti

HYSF-FL Z==1R4A

HYSF-FL Three Serives Valves

D D
> el I
Y < N
-

54

This valve group can be directly fixed on the transmitter
and used in leading the signals to the postive and negati-
ve mesuring chambets of differential pressure transmitt-
er from the point for measuring pressure to make the le-
ading pointfor pressure connect with or cut off the meas-
uring chambers.

ZRATEREEERERL, A

@D D
%> Y I
A= N\ 4
O 9O

54

This valve group can be directly fixed on the transmitter

and used in leading the signals to the postive and negati-

TMEIERBESSINEEEER

ve mesuring chambets of differential pressure transmitt-
er from the point for measuring pressure to make the le-

ading pointfor pressure connect with or cut off the meas-

E. NEE, E5IERHNEE
BT

uring chambers.

ml

., HIEM5QFF3 1@, SIESERE

EtE= BEARE, RO T HiRR,

F S | ATRESIPN|AFRBEDN| EAEE C| &R
1 | 20MPa 5 -20~440 35"
2 | 20MPa 5 -70~240 | 1Cr18Ni9Ti
3 | 40MPa 5 -20~440 35"
4 | 40MPa 5 70~240 | 1Cr18Ni9Ti

Tz,

www.tiankanggf.com

72

ZRAEED. KEREFERERM— This valve group can be directly fixed on the transmitter
and used in leading the signals to the postive and negati-
ve mesuring chambets of differential pressure transmitt-
FRAXAERNTENX, MELERF erfrom the point for measuring pressure to make the le-
ading pointfor pressure connect with or cut off the meas-
uring chambers.

HYSF-1 &1 =R

HYSF-1 Three Series Valves

I
el

M

L.p

F S| ARESPN|2FR@8EDN| EHEE C| wEss
1 20MPa 5 -20~440 35#
2 | 20MPa 5 -70~240 | 1Cr18Ni9Ti
3 40MPa 5 -20~440 35%
4 | 40MPa 5 -70~240 | 1Cr18NigTi
HYSF-2 1= §4
HYSF-2 Three Series Valves
F S | ARESAPN|AFREZEDN| EARE C| REH
1 20MPa 5 -20~440 35"
2 | 20MPa 5 -70~240 |1Cr18NigTi
3 | 40MPa 5 -20~440 35%
4 | 40MPa 5 -70~240 |1Cr18Ni9Ti
HYSF-3 B1= g4
HYSF-3 Three Series Valves
F 5 | AFRESPN|AFREZDN| BEHEEC | RETE
1 20MPa 5 -20~440 35%
2 20MPa 5 -70~240 | 1Cr18NigTi
3 | 40MPa 5 -20~440 35"
4 40MPa 5 -70~240 |1Cr18Ni9Ti

R REA LR ENNERTIT
R EE L, HRDEUER
M—FEERAN, FTEEILMN
RIBHEEE.

This valve is formed from tow pressure taking valves
and an equalizer , can be fixed in the pulsion tubing
of the flow metering gauge thatis required toconeey f-
ar away.lt's conv enient to establish the gauge contol
return.

2-21/27 35 ]

N

ZWATEEEZE. EH{sFEE Itcan be linked divectly with the differential pressure
ERELERESH, ZENJRTEE gaugepressure gauge or trans former.The differential
58 EEELEE, WiELZEAT pressure mouth can also be connected with the leading
pressure pip joint and the center distance setweer the
two joints is 35mm.

1L BB Z535mm.

ZRMETERESZE. EAMERS
REREERLER, ZEABL
BREZZ5SEERLAER B
3k Z | Hy oG£ B B 54mm,

73

‘

e

mﬂ\\m

_ JiBe

It can divectly be linked with the differential pressure, p-
ressure, gauge or trans former.The pressure taking nouth
is connected Ivith the leading pressure pipe joint through
the waist-like cange and the center distance betweer the
two joints is 54mm.

' 4
“

SBRARERADEMIFIBIRAS

anhui Tiankang group piping valve co.,ltd




HYSF-4 RI25 =1

|

HYSF-4 Three Series Valves

F S |AFREHPN| AFREZDN| EREEC | @
1 20MPa 5 -20~440 35%
2 20MPa 5 -70~240 |1Cr18NigTi
3 40MPa 5 -20~440 35%
4 40MPa 5 -70~240 |1Cr18NigTi
HYQFF3 B =744

HYQFF3 Three Series Valves

S| ATRESIPN| AFRBZEDN| EAEBEC | BEHE
1 | 20MPa 5 -20~440 35%
2 | 20MPa 5 -70~240 |1Cr18Ni9Ti
3 | 40MPa 5 -20~440 35"
4 | 40MPa 5 -70~240 |[1Cr18Ni9Ti

HYWF-1 B R R4

HYWF-1 Five Series Valves

-/
} 1/2"NPT

ZREES BN =RAS The stop valve for measuring pipe line was de-
PN Rk st signed by ourselve basedon taking the structures & fr-
Tsithy, REMR%, B MR, oms england,the singapore and othercountyies. It is a

REFERFE WEBTFEEIL. o valve of the new generation which is most univer sally
EREREREXREF T, usedatpresent

- @&

g

QFF3 R=AHE. MERR
FHBAR—F SEERER

It is formed from the high and low pressure valves
and the equalizer valve and linked with the differ-
ential pressure transformer.It can connect or cut off

HYWF-2 R4
HYWF-2 Five Series Valve

més\'\‘

O)
MM
A

ZRATRRAELRENER This valve is formed from two pres-

sure-taking valves, one equalizer valve and

mENKNE L, BFDEUER, ; .
two eahanst, washing and checking

— N EEHEBNRBANHR. FE
TR RER, HERINRE

valves, can be fixed in the pulsion tubing
of the flow metering gauge that is required

to convey far away. It's convenientto es-

HEEE. AR R D

tablish the guage control return. The two

MZAEALE BB TR REHE i E AT exhaust valves can drain away any corro-

bR

sive fluid without moving the gauge.

OO
41.3
OO
\CACY A

BEEEM. HIFARKBZEER

botween the = metering rooms of the differential t-

B ANEERSSESSES ranoformer and the pressure drawing poin for be-
Wi, S5 IE R B = B A tween the * pressure metering rooms. Pressure dra-
v BUR AP iy

wing or corweyig point is directly connected wi-

SiB. 5. WEREESWNE  ththe steed pipe by welding.If you other connecti-
EiE, EERBIRE, XA ng ways please give a clear indication on goods-or

BATEMSI#HUREETD.

It adopts to all kinds of gauge devices introduced

S5EMZEE. RE. RUFTESF

EERE, A5, KER, FER
ERARBGE)RASA—1E,

F S| ATRENPN|/AFREZEDN| EFHEEC | mREHE
1 20MPa 5 -20~440 35%
2 | 20MPa 5 -70~240 |1Cr18Ni9Ti
3 | 40MPa 5 -20~440 35"
4 | 40MPa 5 -70~240 |1Cr18Ni9Ti

www.tiankanggf.com

HUEREAR, iTREEER,  JON9

T

It adopts to all kinds of gauge devices intr-
oduced from abroad. It can installated to from a
coplete set with all kinds of transducers for diff-
erential pressure, f low and liquid surface and o-
thers. The high & low pressure valves,balance
valve and tow check(drain)valves are formed as
one bady.When the high & low pressure valves
operating close the two serieses of check valves

BEATEMSIUREET.
5&MEZE. RE. RUSTEHRE
ERE, B15. RER, FERBRRA
MR (H5) mEAN—K, I
ERARKRSFERXA, 1%
QIA, REXS. KERUE, §T

FEERBITAEAMNMIE, A/5H  and the balance valve.If the check is needer clo-
S s S BE M 4= A se the high & low pressure valves, and open the
3§|ﬂf1§1ﬂﬂﬁjﬁ}‘£;§%§ﬁﬁﬁﬁ7&% balance valve then close the balance valve again.
. At this time the transducer can be checked or b-
alacnced on line.
74

mBeRN, ABES. KEEYD

from abroad, It can instaillated to form a coplete set
with all kinds of transducers for differential pressure,
flow and liquid surface and others. The high & low
pressure valves, balance valve and tow check (drain)

TVERDE P B R R 5 % iR 5% 7], valves are formed as one bady. When the high & low

pressure valves operating close the two serieses of
check valves and the balance valve. If the checkis

W, FTAFFERRITAMDRIEM, needer close the high & Low pressure valves, and

SRIE BRI &R O] X 253X R8T openthe balance valve then close the balance valve
T 2 RS F0 17 again At this time the transducer can be checked or

balanced on line.
% NPT1/2"

AN <ﬁ

JP

It adopts to all kinds of gauge devices

15/8"
THNRpA

BEATEMSIHNUREED,

introduced from abroad, it can installated to form a
coplete set with all kinds of transducers for

S5&MEE. RE. RUFTRER

BERE B, KER, TER differential pressure, flow and liquid surface and
2 ) ; others. The high & low pressure valves, balance

EBIMRREHSRAEH —1&, valve and tow check (drain) valves are formed as

TERPE AR RS %I’ <7, one bady. When the high & low pressure valves

MEXRLN, RE¥ES, {KEML) operatng close the two serieses of check valves
B, FTFEE R BT AL i and the balance valve. If the check is needer close

F S| AFRESNPN| AFRi@BIEDN| EABEC| mEHR
1 20MPa 5 -20~440 35%
2 20MPa 5 -70~240 [1Cr18Ni9Ti
3 40MPa 5 -20~440 35%
4 40MPa 5 -70~240 [1Cr18Ni9Ti
HYWF-1151 BI R g4
HYWF1151 Five Series Valve
F S| AREAPN| AFRi@BEDN| EAEBETC| m®EHE
1 20MPa 5 -20~440 35"
2 20MPa 5 -70~240 [1Cr18NigTi
3 40MPa 5 -20~440 35"
4 40MPa 5 -70~240 [1Cr18NigTi
HYWF-3 Z=HR4A
HYWEF-3 Five Series Valve
F 5 | ARREAPN| AFREEZDN | BHEEC| &R
1 20MPa 5 -20~440 35#
2 20MPa 5 -70~240 |1Cr18Ni9Ti
3 40MPa 5 -20~440 35%
4 40MPa 5 -70~240 [1Cr18Ni9Ti

N Oy A Th,—" the high & low pressure valves,and open the balance
%Eﬁflﬂ $1§IED T XFEEEFHTT  valve then close the balance valve again At this time
ELRW T .

the transducer can be checked or balacnced on line.

75 ( SBRMARERDEMIFHIRAS

anhui Tiankang group piping valve co.,ltd




HYZ %%5|@i® HYZ Gate Valves

WL
EER
RIESE

Female thread

(Y
GATE VALVE

o 5

Frange type

inserting & welding

wedge type

HYZ11H-64- Z11H-160

1] .
HYZ11Y-64- Z11Y-160 1 X B

A IERATFARESNPN: 6.4MPa. 16MPa.
TERET<450CHIK, &R, H@FEBM@MEN
REBLE, ERm1A. FRZRENCHIDEESR
Wk, AFEMNER FRGE EBHUERYE. £
Aze0%, REETENETZER, WIZEA
Thom. I, £, ALFENEFREH, =2
BRTNB&RAE BT —HRIT.

This valve is used as starting & closing adapting
to the pipe lines in which vapour, oil whose nominal
pressure is PN6.4MPa, and working Temperature <
450~C or the corrosive materials used as the medium.
The product is checked and accepted according to the
foreigh advanced standard. It has the characteristics
of compact structure, starting convenience, good sead
and safe reliable use; and has more virtues than other
valves;and is widely used in the automatic systems of
oil refining, chemical industry, eteclrical power,
metallurgy, etc,It's really a valve of the new generatiom
which is most universalhy nsed at present.

HYZ11H-64- Z11H-160 [, .0 Threaq Wedge Yype Gate Valve

HYZ 11Y-64- Z11Y-160

Hi
H

www.tiankanggf.com

LEEE | L | Do|z6| H | H t =
HYZ11H-64% [HYZ11Y-647
10 80 | 100| 3/8"| 146 | 161 | HYZ1-1-10 |HYZ1-2-10
15 90 | 100| 1/2"| 150 | 167 | HYZ1-1-15 |HYZ1-2-15
20 90 | 100| 3/4"| 150 | 167 | HYZ1-1-20 |HYZ1-2-20
25 11| 125] 1" | 175 | 198 | HYZ1-1-25 |HYZ1-2-25
32 121 150 | 11/4"| 222 | 256 | HYZ1-1-32 |HYZ1-2-32
’Ag%@ L | Do| 2G| H | Hi t =
HYZ11H-160|{HYZ11Y-160
10 90 | 100| 3/8" | 146 | 161| HYZ1-3-10 |HYZ1-4-10
15 90 | 100 1/2"| 150 | 167 | HYZ1-3-15 |HYZ1-4-15
20 11 | 125 3/4"| 175 | 198 | HYZ1-3-20 |HYZ1-4-20
25 11| 125] 1" | 222 | 256 | HYZ1-3-25 |HYZ1-4-25
32 121 150 | 11/4"| 260 | 288 | HYZ1-3-32 |HYZ1-4-32
76

HYZ41H-64 Z41H-160 s =
Bk =R AFRER r =S
HYZ41Y-64 Z41Y-160 (DN) L D | Do | H | Hi
HYZ41H-64 Z41H-160 A Tyoe We Yyne Gate Val HYZ41H-64 %! [HYZ41Y-64 74
HYZ41Y64 Z41v-160 T3¢ Type Wedge Yype Gate Valve
10 160 | 100 | 100 | 175 | 198 | HYZ2-1-10 | HYZ2-2-10
15 170 | 105 | 120 | 215 | 233 | HYZ2-1-15 | HYZ2-2-15
20 190 | 125 | 140 | 250 | 280 | HYZ2-1-20 | HYZ2-2-20
25 210 | 130 | 160 | 273 | 303 | HYZ2-1-25 | HYZ2-2-25
32 230 | 150 | 180 | 280 | 310 | HYZ2-1-32 | HYZ2-2-32
— ® =
= fg,% L | D | Do| H/| Hi
HYZ41H-64 7\ HYZ41Y-647)
10 160 | 105 | 100 | 215 | 233 | HYZ2-3-10 | HYZ2-4-10
15 170 | 110 | 120 | 250 | 280 | HYZ2-3-15 | HYZ2-4-15
20 190 | 130 | 140 | 273 | 303 | HYZ2-3-20 | HYZ2-4-20
S 25 210 | 140 | 160 | 280 | 310 | HYZ2-3-25 | HYZ2-4-25
L
32 230 | 165 | 180 | 310 | 343 | HYZ2-3-32 | HYZ2-4-32
HYZ61H-64 Z61H-160 R r =
64 B R RIS i) ) AFRER 5
HYZ61Y-64 Z61Y-160 (ON) LR vz 647 HYZ41Y-64%
: gg:’;' 66: ;g:’y"' 116‘;0 Inserting & Welding Wedge
; - 10 80 (40| 19 | 10 {100|146|161| HYZ3-1-10 | HYZ3-2-10
Do
‘ L 15 90 | 40| 23 (12.7(125|150(167 | HYZ3-1-15 | HYZ3-2-15
E 3 C 'j 20 110 40 [28.5| 13 |140|175|198| HYZ3-1-20 | HYZ3-2-20
25 120| 46 |34.5| 14 |150(222|256| HYZ3-1-25 | HYZ3-2-25
32 130| 56 | 43 | 15 [160(260({300| HYZ3-1-32 | HYZ3-2-32
T | T ® =
ANFRBRZ =
‘*fg‘,i{ L|o|oi| 1 |Do|H |Hs
HYZ41H-64 Y HYZ41Y-64 7
10 80 |40 (19 | 10 |100 146|161 | HYZ3-1-10 | HYZ3-2-10
15 90 | 40 | 23 |12.7|100 (150|167 | HYZ3-1-15 | HYZ3-2-15
a 20 110 | 40 [28.5| 13 [100 [150 (167 | HYZ3-1-20 | HYZ3-2-20
~— | 25 120 | 46 (34.5| 14 (125 [175(198 | HYZ3-1-25 | HYZ3-2-25
L
32 130| 56 | 43 | 15 [150 222|256 | HYZ3-1-32 | HYZ3-2-32
FHRAIR HYZ11H-64. HYZ41H-160 HYZ11Y-64. HYZ11Y-160
& Part name
' i 2
= Valve ﬁgﬁs@ﬁa cover $8R45M Wrought steel $R45M Wrought steel
! EiR. HEE - : EAGNEEERES
% Gateboard,;;al su fale ARG Cr-stainless steel Cr-stainless steel and buttweldli:rl19 hard alloy
%) &4+ Valve bar R AE55NM Cr-stainless steel AN Cr-stainless steel
B
#E#] Stuffing T #84248 Asbestos plate root Z 14 7 2 Soft graphite

77

' 4
“

SRMARERDEMIFBIR

=\ =
o

anhui Tiankang group piping valve co.,ltd




HYNGE ZIIBG R Gt E =
HYNG §Explosion-protected Flexible Connecting Pipes

ERER Applying scope
BEMSARE: 1K, 2K * Explosive gas atmospheres:Zone 1&2
- kR SAEZES: 1A, 1B, 1IC » Dangerous gases or vapors zone:IIA. 1IB. IIC

EERR: T1-T6 » Temperature classes:T1-T6

- K. P4k (IP54. TR A ERAS]IP65) * Indoor gnd outdoor(IP54.. It could be designed as IP65
according to user's requirements.)

AIE4 W Type designation

HYNGO-Ox OO0 O

-2 IFERR/EE rubber sheath and flame-proof pipe
-5 FREE stainless steel and flame-proof pipe

M- P EHE L2 B rubber sheath and increased safety pipe
IV-FBE I EELE nyloy sheath and increased safety pipe
V-8B ER; L% plastic sheath and dust-proof pipe
A-TimNiEsr  A-Female thread at both ends

B-®iRshiR4r  B-Male thread at both ends

2K E Total 1ength
EMH{E Male diameter
| d-fg#&E (Exd II)(1IChne. 1IBR]AyE) d-Flame proof(11C add c. 1IB
can be neglected)
e-18 22 A (Exe Il ) e-Increased safety
Z-[5 2 7Y (DIP) s-Dust-proof(DIP)
4 % Flexible pipe

www.tiankanggf.com 78

FEH RS E Specification
Type (mm) Length(mm) (mm) Voltage (V) | Ex-marking (MPa)

NG [F13(15)X 700001 15 700 80
NG 20X 700 OO 20 700 110
NG [-25X1000 25 1000 145
NG 321000 O] 32 1000 180 ExdIIC
NG [}38(40) x 10000JJ 40 1000 210 220/380 ExdIIB
NG 50 x 1200000 50 1200 270 DIP !
NG [£1-63(70) X 14000001 70 1400 340
NG [1-78(80)x 1400 00] 80 1400 400 1.5
NG [-100 % 1400 OO 100 1400 520

RE: —imAN. —imdd Female thread at one end, male thread another end

F 1 KETAREZREH.
2. By oIl BmESI KA FIRL. NPTEOEETE.
Note. The length can be made specially by user's requirements.
2. It can be made screws into the metric system. NPT and according to site condition.

SNBSS EAEE g K SEFE EHRRIGE e BE REREUE K

i ey

=~ NN SN 1
P

S =

AF@BAMR. m. WER. WK WE fEd ZUREF. SHUEE. JEANREIREHELILINES
LTHERRANDEEZ .
EESKBEN TEEARMRTHT / 6.

This products are flame-resistant. oil-resistant. water resistant. wear-resistant. ageing-resistant. well flexible.
solid structured. reliable performance.
It is used for connecting inlet and outlet of explosion protected electrical apparatus or those place where the
curvature is too small in wiring with conduit.
Machining precision of thread is not less than H7 / g6.

’o N SEE M G i 11 5 R

=\ =
o

anhui Tiankang group piping valve co.,ltd




.

HYBHC Z3\PhiREFZ% E(e)
HYBHC Type Explosion-proof Cable-passing Box(e)
& RsEE
1. 1X. 2K Bk
2, DA, OB, ICEBEMHSIELE.
Application
1. Can be used in Zone 1 and Zone 2 dangerous places.
2, Canbeusedin IIA. IIB. IIC group explosive atmosphere.
RS &Y Model implication

HYBHC - 0L

L: $558(T]A3¥) L: Cast alumininum (Ommitable)
T: $5% T: Castirom

B2 L7 4&(G")Thread specification(G")

Z#Ex: A. B. C. D. E. F. G, H/\Fh
Structure: A, B. C. D. E. F. G. H8kinds
ZF % Cable-passing type

B8 & Explosion-proof box

iR

. BBERE: Exe I,

FrinsERk: PS5,

SVERBHEESNEY, REWME, THAFBRERE.
HEMEREHE. BTk

. fF4GB3836-2000, IEC600794rAEZEK.

Features

1. Explosion-proof mark: Exe II.

2. Protection-proof grade: IP55.

3. The shell is of diecasted Al-alloy with plastic-sprayed surface, can be choised freely by user.
4. Varous structures, ease to install.

5. Suitable for GB3836-2000, IEC60079 standard request.

F = RS 4 Main technical parameters

[ N O R S

B
=
= 1
B & =
B Type
e #4%5 CastA1 | ¢k Castiron | ;s;s mr%ral M RF(mm) Outline dimension(mm)
Specification #12 Type 12 Type diameter L B H
172" HYBHC-B1/2L | HYBHC-B1/2T 15 120 50 38
3/4" HYBHC-B3/4L | HYBHC-B3/4T 20 135 60 48
1" HYBHC-B1L HYBHC-B1T 25 160 70 55
11/4" HYBHC-B11/4L| HYBHC-B11/4T 32 170 84 70
11/2" HYBHC-B11/2L| HYBHC-B11/2T 40 180 90 78
2" HYBHC-B2L HYBHC-B2T 50 228 104 90
21/2" HYBHC-B21/2L| HYBHC-B21/2T] 70 246 121 104
3" HYBHC-B3L HYBHC-B3T 80 282 137 120
4" HYBHC-B4L HYBHC-B4T 100 300 145 135
B
_ﬁ_
CH L] |
C Type
A& $%%8 Cast A1 | $5%k Castiron ETRE 5ME R ~F(mm) Outline dimension(mm)
Specification o o Pipe's inneral
A2 Type A2 Type diameter L B H
172" HYBHC-C1/2L | HYBHC-C1/2T 15 120 68 38
3/4" HYBHC-C3/4L | HYBHC-C3/4T 20 135 85 48
1" HYBHC-C1L HYBHC-C1T 25 160 98 55
11/4" HYBHC-C11/4L| HYBHC-C11/4T 32 170 114 70
11/2" HYBHC-C11/2L| HYBHC-C11/2T 40 180 170 78
2" HYBHC-C2L HYBHC-C2T 50 228 136 90
21/2" HYBHC-C21/2L| HYBHC-C21/2T]| 70 246 156 104
3" HYBHC-C3L HYBHC-C3T 80 282 172 120
4" HYBHC-C4L HYBHC-C4T 100 300 180 135

L B
% =0
A% ) I @
A Type
—] Exe i-=H———@
A% $£40 CastA1 | % Castiron| EFRERE SN2 R ~F(mm) Outline dimension(mm)
Specification S Type WS Type | | dametor L B H
12" HYBHC-A1/2L | HYBHC-A1/2T 15 120 32 38
3/4" HYBHC-A3/4L | HYBHC-A3/4T 20 135 35 48
1" HYBHC-A1L HYBHC-A1T 25 160 42 55
11/4" HYBHC-A11/4L| HYBHC-A11/4T| 32 170 54 70
11/2" HYBHC-A11/2L| HYBHC-A11/2T| 40 180 60 78
2" HYBHC-A2L HYBHC-A2T 50 228 72 90
21/2" HYBHC-A21/2L| HYBHC-A21/2T] 70 246 86 104
3" HYBHC-A3L HYBHC-A3T 80 282 102 120
4" HYBHC-A4L HYBHC-A4T 100 300 120 135
www.tiankanggf.com 80

81

( SRMAREDEMITHR

=\ =
A=

anhui Tiankang group piping valve co.,ltd




L ‘ B
+—1 &
ou | U B\
D Type
A& $548 Cast A1 | 5% Castiron Bi ';"‘, = SME R ~F(mm) Outline dimension(mm)
Specification 72 Type B2 Type '%?asm'g{‘e?ra' L B H
1/2" HYBHC-D1/2L | HYBHC-D1/2T 15 100 50 38
3/4" HYBHC-D3/4L | HYBHC-D3/4T 20 110 60 48
1" HYBHC-D1L HYBHC-D1T 25 132 70 55
11/4" HYBHC-D1'/4L| HYBHC-D1'/4T 32 140 84 70
172" HYBHC-D1'/2L| HYBHC-D1'/2T 40 150 90 78
2" HYBHC-D2L HYBHC-D2T 50 196 104 90
22" HYBHC-D2'/2L | HYBHC-D2'/2T 70 211 121 104
3" HYBHC-D3L HYBHC-D3T 80 247 137 120
4" HYBHC-D4L HYBHC-D4T 100 275 145 135
L ; B
e
| O = -
- L/ N7 | |
E Type
] Exe 1t
M $558 Cast A1 | $5%k Castiron 5 ’F"}W@ | M R =<7 (mm) Outline dimension(mm)
Specification 72 Type 72 Type I%?asﬁig{]eerra L B H
172" HYBHC-E1/2L | HYBHC-E1/2T 15 100 50 38
3/4" HYBHC-E3/4L | HYBHC-E3/4T 20 110 60 48
1" HYBHC-E1L HYBHC-E1T 25 132 70 55
11/4" HYBHC-E11/4L| HYBHC-E11/4T| 32 140 84 70
11/2" HYBHC-E11/2L| HYBHC-E11/2T] 40 150 90 78
2" HYBHC-E2L HYBHC-E2T 50 196 104 90
21/2" HYBHC-E21/2L| HYBHC-E21/2T] 70 211 121 104
3" HYBHC-E3L HYBHC-E3T 80 247 137 120
4" HYBHC-E4L HYBHC-E4T 100 275 145 135
www.tiankanggf.com 82

e | U )
F Type |_J |
s $542 Cast A1 | &5%k Castiron ETRR SN2 R ~F (mm) Outline dimension(mm)
Specification RS Type WS Type Pl%?;sﬁ:gpe?ral ] 5 v
1/2" HYBHC-F1/2L | HYBHC-F1/2T 15 100 30 58
3/4" HYBHC-F3/4L | HYBHC-F3/4T 20 110 35 73
1" HYBHC-F1L HYBHC-F1T 25 132 42 83
11/4" HYBHC-F11/4L| HYBHC-F11/4T 32 140 50 100
11/2" HYBHC-F11/2L| HYBHC-F11/2T 40 150 60 108
2" HYBHC-F2L HYBHC-F2T 50 196 72 122
21/2" HYBHC-F21/2L| HYBHC-F21/2T]| 70 211 86 139
3" HYBHC-F3L HYBHC-F3T 80 247 102 155
4" HYBHC-F4L HYBHC-F4T 100 275 120 160
L B
— B
o | U SR @)
G Type LI L]
AR $542 Cast A1 | £% Castiron ETRE S R <F(mm) Outline dimension(mm)
Specification A= Type WS Type PI%?;srlnlgtneerral ] 5 v
1/2" HYBHC-G1/2L | HYBHC-G1/2T 15 120 30 58
3/4" HYBHC-G3/4L | HYBHC-G3/4T 20 135 35 73
1" HYBHC-G1L | HYBHC-G1T 25 160 42 83
11/4" HYBHC-G11/4L| HYBHC-G11/4T| 32 170 50 100
11/2" HYBHC-G11/2L| HYBHC-G11/2T] 40 180 60 108
2" HYBHC-G2L HYBHC-G2T 50 228 72 122
21/2" HYBHC-G21/24 HYBHC-G21/2T] 70 246 86 139
3" HYBHC-G3L HYBHC-G3T 80 282 102 155
4" HYBHC-G4L HYBHC-G4T 100 300 120 160

83

( SRMAREDEMITHR

=\ =
A=

anhui Tiankang group piping valve co.,ltd




jas
HEY L /
H Type
—@ExHG) =
Az $5%8Cast Al | $543Cast iron ETRRE M R ~F(mm) Outline dimension(mm)
Specification A2 Type B2 Type Plpcﬁ:mgtr(]a?ral L B H
1/2" HYBHC-H1/2L | HYBHC-H1/2T 15 120 30 58
3/4" HYBHC-H3/4L | HYBHC-H3/4T 20 135 35 73
1" HYBHC-H1L HYBHC-H1T 25 160 42 83
1/4" HYBHC-H11/4L| HYBHC-H11/4T 32 170 50 100
1/2" HYBHC-H11/2L| HYBHC-H11/2T 40 180 60 108
2" HYBHC-H2L HYBHC-H2T 50 228 72 122
21/2" HYBHC-H21/2L| HYBHC-H21/2T]| 70 246 86 136
3" HYBHC-H3L HYBHC-H3T 80 282 102 139
4" HYBHC-H4L HYBHC-H4T 100 300 120 142
www.tiankanggf.com 84

HYBXJ51 Z5|p5iRiEZ (e 1B. 11C)
HYBXJ51 Type Explosion-proof Junction Box(e,11B,11 C)

ERERE

1. 1K, 2R BRI AT
2, A, 1IB. ICHEBHEMSEIFE.

*JAFER MBI CIFEH.

Application

1. Can be used in Zone 1 and Zone 2 dangerous places.

2. Canbe usedin IIA. IIB. II C groups explosive atmosphere

*Please note in want 11 B and 11 C group.

RIS & Y Model implication
HYBXJ51- 0/ 0D 0L D)X ()R

D

S i 57

a

. g .
P

Right inlet

L %0 E(EBLY) Inlet number(Thread)

W2 O # (L) Inlet number (Thread)

£ 7%

E75o# %

mw f K

iy T HUE BB

®itF S

Rt
IR

2,

3,

4,

5

HREEINT, REMRE,

ESHERE, IMEENR.

HAHRAMREH SN, RABSRMNPIK. FiLhMeE.
BYmT RABLET MY, BEAE FETE, FEBRANGSHIAETHARERER.
HEAT RN LI, TREAFPBERERELHSE QFIRER A ZEREZEEDOMATI M B4 Z E L

GE: BPREITEREIUVER) .
6. fF5GB3836-2000, IECE0079trAEZ K.

eatures

bifes:352 ]

1. Diecasted aluminium alloy shell with plastic-sprayed surface.
2. Diecasted into shape, beautiful appearance.

3. The interface use curve-seal structure, having the strong functions of water-proof, dust-proof.
4. Use safety-increased special terminal, convenient to connect, secure ard reliable, the current’s specification can be

determined by clients.

Left inlet

Upper inlet

T 7 # % Downward inlet
H O (1290 Inlet number (Thread)

2 O £ (ML) Inlet number (Thread)

Terminal number

Rated current of terminal

Design No.

Explosion-proof junction box

5. The direction of inlet can be determined by clients, selecting inlet can be filled with DQM series cable sealing
connector as required (Note: Indicate if oredring)
6. Suitable for GB3839-2000, IEC60079 standard request.

L REE Inlet diagram

FEHKAKSH Main technical parameters

D: 3% Upper inlet HEBE((V) FEEBR(A) Va3 iR &R
0 Rated voltage | Rated curent Ex-mark Protection grade
Left inlet Right inlet ExellT6
I—, *
X: T ZDownward inlet 380 20 *E);:I?CB'IT(? IP54
85 PN\ FHEEER S E R
w

=\ =
A=

anhui Tiankang group piping valve co.,ltd




1 = parasl v RN
HYZxd. Hxd. Psd Z3|PhIREE T Bk
5Mi 2Pl Outline example HYZxd. Hxd. Psd series Flame-proof Sealing Connector
BWLRBHEL ML EH| Outline example of safety-increased junction box
4G1" & RSB R
= IR SRS 1K, 2K
BETRERSEMZES: TA, 0B, 1C
TEXG ? BEHR: T1-T6
i ——— HE. 8 SR, SN (IP54, TR A P ERILF]IP65
5 B! ) -2 a FW_ P ( TR AR ERILE )
pplying scope
Explosive gas atmospheres: Zone 1&2
U Dangerous gases or vapors zone: I[A. 1IB. IIC
—+ Temperature classes: T1-T6
%05” Indoor and outdoor (IP54. It could be designed as
HYBXJ51-20/20 |1 Type HYBXJ51-20/20 I15Type HYBXJ51-20/30 Il 5 Type IP65 according to use s requirements.)
6Gl1" 9.G1" RS &Y Type designation
vl o 8h L
2 G b b o o] Od-00
& o [l (o) (o] S Be | © OHEadihE, AT,
Exe H'HI © Exe @% DEH ,,,% RS, 1 Designtype I . Il OB,
/1 .
& = - o 2 o 2 /L_Wf\ﬁh: Normal diameter Features
LJ = uﬁ Ej 77% g i ] FRRE Flame-proof <&Enclosure is made of casting aluminum
) ° © Dﬂ TT El@?r Zx—4\m 2 Zx-Vertical alloy, surface is sprayed with plastics.
© U] © l{ Y }J l{ Y P @ Hx—#=) B Hx- Horizonable <wiring with conduit.
o —©+9 U JJ U JJ Ps—HE7K #Y Ps-Drainable
= [0 = =
o 233’; BAREBHRIMERT Specification and outline dimensions
250 2-G2"
300
HYBXJ51-20/60 IV Type HYBXJ51-20/80 VA Type HYBXJ51-20/120 VIZIType AIRELE axd 1 od- 1l BASMED
Normal Dia.| A | B SNEE Outline A |B SMEE Outline Cable Dia.(mm)
I BEEL ML B Outline example of 11 B group junction box G13  [100] 80 . 100 61 7-9
, R R ER = %m . G20 100| 85 : 100 | 67 8-15
F = ] 430 s G25  [110|90 A‘= 130| 73 10-18
- . 380 69 G32 |115| 96 ‘ : 130 83 13-23
E+ Ex RE © 2| MM T Y-
! — |- | ﬁm:l I G38 120 ({116 A 130| 89 17-26
il T L ~ T T G50  [120[120 ! 150 [101 25-35
a| |+ 4 o HE Ex |
E*‘ | ol G63 165(152 : 170|115 G 29-38
é} - G75 200|175 B 215|132 B 33-51
ST S S 4
U= '|===|| 'L==4 =T «[_l 1 g L] E]f G100 220223 245|165 42-60
P oo Tel - w il ; N i ,
TTC T AFEE Hxd-L] Hixd-1 | B 45N D
£ %G Normal Dia.| A | B $MEE Outline A |B SN\ E Outline Cable Dia.(mm)
11 C2£Group G13 95 | 65 100| 75 7-9
I B#5MER TR Outline of 11 B group as follow G20 95 | 72 T 100 | 80 1 | 8-15
e 4 O AR E) N G25 110 80 100| 90 ‘ 10-18
Type A B c D E Inlet and outlet’s specification (No.) #iERemark G32 110| 98 124| 95 - 13-23
m
HYBXJ51-20/4 204 185 160 82 100 1-G3/4" 4-G1/2" G38 110|104 124 1110 17-26
HYBXJ51-20/8 242 245 196 104 110 1-G1" 7-G3/4" G50 130|117 n T o 124 (120 25-35
HYBXJ51-20/16 318 332 172 206 110 1-G11/2" 7-G3/4" Exd IIBT6 G63 170|135 ‘ 185 (140 29-38
HYBXJ51-20/24 422 338 276 224 110 1-G11/2" 11-G3/4" G75 215|176 A 215|168 33-51
HYBXJ51-20/36 422 412 276 299 114 2-G11/2" 13-G3/4" G100 245|211 245 (182 42-60
i PINGHRRKREAZRNTEIRAS
www. t’ankanggf. com 86 87 anhui Tiankang grot.':piping valve co.,lli::i




HYYFD B! F LB X iE#

HYYFD Fire - proof Organic Material

HYYFDEVEHLAEERHETR “BHER" , B—TRHEp A ER,
HEIZRHLAREGUEMN, KL, SENILERGE #HRR AREFM
FAEAREEE R, WARBARTING, ETERTELERFILR
HiE, MUPLLBLGBREREXRNHAILAEMBESE, BEERNY
K, BE&fEMZHD. HXD. PSDiRm &k, MBMRERE Bt
ZEHRIT Y. SEER. BM. X8, A, BBFRERGE
BHIBI KR

HYYFD fire-proof organic , popular name as “sealing compound” ,
is a new type fire-proof material . Its best feature is plasticity , so it is
very convenient to construct and maintain .It prevents mouse biting .It has
good feature of fire proof and stopping up smoke .The fire- resistant time is
more than 3 hours. It is used to stop up a hole where cable pass through it,
so it can prevent. flame from spread if cable fire for avoiding more losing.
It's better to use ZHD,HXD,PSD seal ring at same time. It' s the best choice
for cable wiring system of enterprise, high level building, shipbuilding, p-
ower plant ,metallargy, post and telecommunications.

FERAKEIE Specification

2 Name RS % Specification
S8 Outward B EER, B —ENFEHE M Plastics Sold

#E kg/m3 < Density kg/m3<

20103

M7k Md = Water-proof d=

3, L&k 3,No Expand

fifsmEd = Ojl-proof d=

3,8k 3,No Expand

HYBHJ %5|BhiRiEiEk(d )
HYBHJ Type Explosion-proof Active Connector(dll)

iEHEE

1 IR, 2R Bk 7 Ar .

2. A, IB., ICEEEURENE.

Application

1. CanbeusedinZone 1 and Zone 2
dangerous places.

2. Canbeusedin IIA. 1IB. IICgroups
explosive atmosphere.

RIS & Y Model implication
HYB HJ] -1/ D)

Ry A& (R BN Thread specification (Inner of outer)
Ry A& (R BN Thread specification (Inner of outer)
— 1: BREW(TARE) 1: Steel (Omittable)

| R 211 1 : Stainless steel

##3L Connector

4% Explosion-proof type

R Features
1. EEmRENEHIN, REEFEIXAARNEN. 1. The product is made of carbon steel adopting galvanized surface or
2. BEURAE TS, WNPTIEL, AHIBLE. stainless steel.

S ARSI R BIASNB L. mHYBHY- 2 Thread can be specially made. o |
Note: Please note inner and outer thread specification when noting the

GIA(ANG" (B H—WANRRCA", thread. For example: HYBHJ-G3/4" (inner) / G1" (outer) means:
— i ASMRLGT", It’s one terminal is inner thread G3/4" , another terminal is outer
3. FF4&GB3836-2000, IEC60079%rAZE K., thread G1".

3. Suitable for GB3836-2000, IEC60079 standard request.
FEHASE Main technical parameters

JE1htEd = Corrosion--proof d= 7
i X BFjE] Min = Fire-proof Time d= 180(—4%) 180(One Class)
REHEEZE (Q) Resistance Coefficients ( Q) >=1Xx1010

Bt (W, %%, . FHER. B8, 8EK)

Corrosion (For Almunium, Iron, Steel, Stainless Steel, Plastics, Rubber)

%% Nounusual

FRAERAEITE Apply and amount

ZEREIRYIMHRFEILE. WRLIR,
TRERELTHIR(IMAKRTFA0CHE), FRKE
BREER. BERILFAEIM FEIZER21.8T.

This material is kneaded even and filled in the hole.
If the temperature is too low, it may heat up (not more
than +40°C)and use when its supple. Fill IM? hole, 1.8T
of this material is needed.

www.tiankanggf.com 88

Bk R

N

(NSNS

e av.a | —

(2

ANRER R size GEREZ BhURERE BRESER BAME(O,mm) | EE(Kg)

Norminal diameter; D L Protection grade | Ex-mark |Corrosion-proof grade| Cable’s outer diameter | mass
G1/2" 43 62 6.5~10 0.25
G3/4" 50 62 10~14 0.22

G1" 58 70 12~17 0.31
G11/4" 70 75 IP55 Exd Il WE1 15~23 0.52
G11/2" 74 75 18~26 0.56

G2" 85 90 26~34 0.64
G21/2" 100 | 110 30~43 0.82

G3" 118 | 120 38~51 0.94

P2 %661 Outline example

] 1 D — D
- = i_

L L L

X A Double-inner — X —%p One inner one outer X4 Double-outer

89 ( SBRMARERDEMIFHIRAS

anhui Tiankang group piping valve co.,ltd




HYDQM Z5|BE4iRZZHEL(dL . e)
HYDQM Type Cable-clamped Seal Connector(dll, e)

RS &Y Model implication

HYDQM - (1]

=

12473#% Thread specification

SMEARE Figure code: 1. II. III. IV. V. VI, VI, VI

B 455 B & 4tE L Cable-clamped seal connector

| 8. RATRGAEHNTR, EFBRMBHEMBKMEE, EATEREMSTPESIANRER

Type [ : Made of engineering plastic, corrosion-proof and water-proof, it is used as leading device in safety-increased shell.

= B 4IME BEKE L b 1B AR & B 17 % 4R
Type Cable’s outer diameter Thread length Ex-mark Prot ection grade
HYDQM-1 PG9 5~8 8 55
HYDQM-1 PG11 5~10 8 55
HYDQM-1 PG13.5 6~12 9 67
HYDQM-1 PG16 10~14 10 67
HYDQM-1 PG21 13~18 11 72 Exe 1II IP66
HYDQM-1 PG29 18~25 11 72
HYDQM-1 PG36 22~32 13 77
HYDQM-1 PG42 30~38 13 77
HYDQM-1 Pg48 34~44 13 89
e S

Ly
18 Type 1
I8 RARRPNKAFRHE, RANHIBERERE,
Type |l: Made of high-quality steel or stainless steel by mechanical cable-clamped device.

S B 4TIME L | BRAEE b3 & %

Type Cable’s outer diameter Ex-mark | Protection grade
HYDQM-II G1/2" 7~9 55
HYDQM- 11 G3/4" 8~14 55

- " 12~17 67

HYDQM-11G1 Exe II IP66
HYDQM-II G11/4" 13~23 72
HYDQM-II G11/2" 17~26 77
HYDQM-II G2" 25~35 89

www.tiankanggf.com

90

o Type II

2. RARERAIAFNEE, RASFENARRERERE.

Type ll: Made of high-quality steel or stainless steel by mechanical cable-clamped device.

A5 BN . B 1R 47 B 4 % %
Type Cable’s outer diameter Ex-mark Protection grade
HYDQM-III G1/2" 7~9 86
HYDQM-III G3/4" 8~14 87
HYDQM-III G1" 12~17 113
HYDQM-III G11/4" 13~23 130 Exd I P65
HYDQM-III G11/2" 17~26 130
HYDQM-III G2" 25~35 142
HYDQM-III G21/2" 29~38 142
HYDQM-III G3" 33~51 158

IVE: RAKERNIAFFNHE, RABGENMMARERERE,

m & Type III

Type IV: Made of high-quality steel or stainless steel by mechanical cable-clamped device.

S %é‘ﬁﬁl‘@' L b 1B R & B3 37 F 2R
Type Cable’s outer diameter Ex-mark Protection grade
HYDQM-IV G1/2" 7~9 55
HYDQM-IV G3/4" 8~14 55
HYDQM-IV G1" 12~17 67
HYDQM-IV G11/4" 13~23 67 Exd II IP65
HYDQM-IV G11/2" 17~26 72
HYDQM-IV G2" 25~35 72
HYDQM-IV G21/2" 29~38 77
HYDQM-IV G3" 33~51 89

IV # Type IV

91

' 4
“

0

SRMARERDEMIFBIR

=\ =
o

anhui Tiankang group piping valve co.,ltd




VE: RARNRNITERGE, RBANMARARERE,

Type V: Made of high-quality steel or stainless steel by mechanical cable-clamped device.

VIZ: XAREEHE XBAXBAREEE.

Type VII: Made of aluminium alloy by mechanical cable-clamped device.

S B 45542 L By 8 A7 75 B % %
Type Cable’s outer diameter Ex-mark Protection grade

HYDQM-V G1/2" 7~9 70

HYDQM-V G3/4" 8~14 70

HYDQM-V G1" 12~17 82

HYDQM-V G11/4" 13~23 82 Exd I P65
HYDQM-V G11/2" 17~26 87

HYDQM-V G2" 25~35 92

HYDQM-V G21/2" 29~38 92

HYDQM-V G3" 33~51 100

vV & Type V

VI RRAMERAIFFERGE, RANMMXRARERE,

Type VI: Made of high-quality steel or stainless steel by mechanical cable-clamped device.

oS B 455 & L By 45 T
Type Cable’s outer diameter Ex-mark Protection grade

HYDQM-V G1/2" 7~9 55

HYDQM-V G3/4" 8~14 55

HYDQM-V G1" 12~17 67

HYDQM-V G11/4" 13~23 67

IP

HYDQM-V G11/2" 17~26 72 Exd Il 65

HYDQM-V G2" 25~35 77

HYDQM-V G21/2" 29~38 77

HYDQM-V G3" 33~51 89

VI # Type VI R J

www.tiankanggf.com 92

71z Recucer R Size B E R BIHME(D, mm) FE(Kg)
A B © D Protection grade Cable’s outside diameter weigh
G15 12 30 25 7~9 0.06
G20 12 40 35 8~14 0.06
G25 12 50 45 12~17 0.16
G32 15 60 50 IP54 13~23 0.30
G40 30 80 78 17~26 0.34
G50 30 90 80 25~35 0.46
G70 30 110 85 29~38 1.12
A
[ | L
L\ LA
C
VIIEY Type VI
p Ik
HYDQMZR5|fEc B E R EBHIEL (I . e)
HYDQM Type Cable-clamped Seal Connector(dl], e)
VIIEY: REAAHENRLRMGE, AWM BERERE.
Type VlI: Made of aluminium alloy by mechanical cable-clamped device.
Fs M L1 Do D1 S D L
1 NPT1/2" 16.5 12 8.5 16 24 26.5 73
2 NPT1/2" 16.5 16 155 21 30 33 77
3 NPT3/4" 16.5 21 21 27 36 41.5 82
4 NPT1" 16.5 28 27 34 46 51 82
5 M16X1.5 15 15 8.5 16 24 26 60
6 M20x1.5 15 20 11 16 24 26.5 76
7 M20X1.5 15 15 15 22 30 33 65
8 M25%1.5 12 20 15 22 30 33 65
9 M25x%1.5 15 15 21 28 36 41.5 76
10 M32%1.5 15 25.5 26 34 46 51 80
11 M50% 1.5 15 44 85

- ® TE T

[ )i (it

e

|
\ |
il

Sl

D1
D

W\

VI &Y Type VI

93

SBRMARERDEMIFHIRAS

anhui Tiankang group piping valve co.,ltd

N\




HYDTL Z35|pREFIE(d1)
HYDQM Type Explosion-proof Gasketing Tube(dll)
EREE

I I 2R fEhe 3P
2. 1TA. 1IB. NICEBIEMSAEILE.

Application

1. Can be used in Zone 1 and Zone 2 dangerous places.
2. CanbeusedinllA. IIB. IIC group explosive atmosphere.

BE 4 Model implication
HYBTL-][J

L?—"’f’@ﬁéﬁ: I . IIStructure type: I ,1I
1244 Thread specification

o # Type

E £l & Gasketing tube
B 1% Explosion-proof type

s Features

1. REEFESARENFIR, NMERTENIS TN, 1. Made of brass or stainless steel,please note if require stainless steel.
2, BHEEKRER S, 2. Cable is applied to gasket seal.

3. PR RS, 3. High protection.

4. BHEFEA. REFE EMRLTE, BHEEELHSES. 4. Ease to use and install, safety, security, explosion-proof.
5. FF5GB3836-2000, IEC600794RAE K. 5. Suitable for GB3836-2000, IEC60079 standard request.

FEHARSH Main technical parameters

S ,—;ﬁl:l:\ » ‘/"’"2 é"’? 4Z
RS Type [gf%ntzrk Protﬁzft:io#nﬁgrade CabEIEIé’msbﬁcl;LIt(e?’cI;il;meter L(mm)(ET mapl)
HYBTL-G1/2" 3~8 72
HYBTL-G3/4" 10~14 74
HYBTL-G1" 11~19 84
HYBTL-G11/4" 17~26 88
HYBTL-G11/2" Exd I P66 29~32 93
HYBTL-G2" 29~44 95
HYBTL-G21/2" 40~56 103
HYBTL-G3" 52~68 126

SN

AL

EVJ i —
T )

L

1 8 &y~ =Z & | Type structure sketch map

www.tiankanggf.com 94

HYDGJ ZIp5RERELd)

HYDGJ Type Explosion-proof Pipe Connector(dll)
F?Iglzﬁﬁﬁiﬁﬁﬁo

2. IIA. 1IB. NICEBEEMRAEIFE.
Application

1. Canbeused in Zone 1and Zone 2 dangerous places.
2, Canbeusedin IIA. 1IB. IIC group explosive atmosphere.

BE4 Y Model implication

HYBGJ-LI/L]
1247 #14% Thread specification
hEEE . |A B-5h A: Inner-outer
Explosion-proof pipe MR 1. 34 B: Double-outer
connector Structure | . WA C: Double-inner
Faigs Features
1. B5igtras: Exd II. 1. Ex-mark: Exd II.
2, REREREWEIR. 2. Made of good carbon-steel.
3, BBEAE TTARYE R RS 3. The thread specification can be provided particularily by user.
4, FF£GB3836-2000, IEC600794RAR K. 4. Suitable for GB3836-2000, IEC60079 standard request.
D+ S Do D L G
W — 30 27 25 13 40 112"
KN 36 | 32 | 31 | 18 | 40 3/4"
A /‘\ _ 42 38 37 25 48 17
o o & \J/ e 52 | 47 | 46 | 32 | 48 174"
60 55 54 38 48 11/2"
70 66 65 50 54 2"
L S 88 83 82 65 54 21/2"
AZ! Type 100 | 95 94 75 60 3"
127 1122 | 121 1 100 | 60 4"

D: S D L G
% 25 | 22 | 13 | 40 12"
30 | 27 | 18 | 40 3/14"
40 | 35 | 24 | 48 1"
50 | 45 | 32 | 48 11/4"
58 | 52 | 38 | 48 11/2”
67 | 62 | 50 | 54 2"
85 | 80 | 65 | 54 21/2"
98 | 93 | 75 | 60 3"
125 | 120 | 100 | 60 4"

@ D: S D L G

30 | 27 | 25 | 40 172"

Kf\\ 36 | 32 | 31 | 40 3/4"
42 | 38 | 37 | 48 1"

o A 52 | 47 | 46 | 48 | 11/4"

60 | 55 | 54 | 48 | 11/2”
70 | 66 | 65 | 54 2"

88 | 83 | 82 | 54 | 212"

L S 100 | 95 | 94 | 60 3"
8l Type 127 | 122 | 121 | 60 4

)
=)

1z}

L

BE! Type

D1

95 ( SBRMARERDEMIFHIRAS

anhui Tiankang group piping valve co.,ltd




HYDGJ-b 5P TZfEL(d)
HYDGJ-b Type Explosion-proof Ruccer Connector(dll)

ERERE
1. IX. 2XERFAT.
2. TIA. TIB. TICHEHEMSEITLE.

Application
1. Can be used in Zone 1 and Zone 2 dangerous places.
2. Canbeusedin I[A. IIB. IIC group explosive atmosphere.

et

1. Bigras: Exd 1.

2. PEBERFR M HIBL -

3. BEUETARE A P B RS

4. #4GB3836-2000, IEC6007947E K.

Features

1. Ex-mark: Exd II.

2. Made of good carbon-steel.

3. The thread specification can be provided particularily by user.
4. Suitable for GB3836-2000, IEC60079 standard request.

RS &Y Model implication
HYBGJ b - O(d)/0(0)

BEAK(AHIN
Thread specification (Inner or outer)
ik
Reducer connector L BOHRRTIN
TiZ Thread specification (Inner or outer)
Ruccer

MERE Outline and mounting example

T 72

. 2

— A —%p One inner one outer

| i

WA Double-inner 4 Double-inner

www.tiankanggf.com 96

23K 4 Installing Accessory

BEUESL
BEEIERATERRETEEMANSIANRETERS
B, TRIEKSRDHNEBBLR, HELXALR
R SW AL -

P
- |

Thread plug
Thread plug is suitable for spare inlet device of electrical

apparatus it has the function of sealing, which can prevent
water or dust from entering into spare device and aging, the
plug is made of high quality carbon-steel.

hE
FERBPVCHIELH, ERT SHMEA B LR,

Shroud
The shroud is made of PVC, it is applied to all type cable
glands.

EM R Earth tag
E R 2 AT RS HE LM S aiRHtEh&ER. Earth tag is installed between the cable gland and
equipment for earth connection.

i /4§ R ~TEarth tags size 20 25 32 40 50 63 75

E G745 B 7 (KA)Short gircuit rating

. 3.06 4.00 5.40 7.20 10.40 10.40 | 10.40
symmetrical fault - current for 1 second

RERER
REERZANBIRNAEE TR, CTREZRXAAFENEN, EAT
MRENZHRE.

Installing pipe clamp
Installing pipe clamp is made of high-quality carbon-steel, it can also be

made of stainless steel, suitable for installing the lamp on the spot.

o7 g\ SEMEMBA Sl 1 HIRA S

anhui Tiankang group piping valve co.,ltd




I EILH Standard Orifice Plate

e
BERNEBES, REAE, FHEE,
}_/Zﬁ_}zﬁ:.':%ﬁ: }ﬁmuwi/ﬁlu%o

Characteristics

EMEER .

The standard orifice plate shall be used to measure the medium flowing,
which has good features of high accuracy,easy to installed,widely usage

and cheap.

%
DN20~3000mm

Speaification
DN20~3000mm

B S Model

*Mﬁ

Material

FRAETFLIR
Standard plate

www.tiankanggf.com

KRBT IR
Large Orifice Plate

C 5N C-CS
E P %% P-Stainless steel

H 4445 H-Alloy

25-3000AFREZmm Nominal tube diameter

0.25-32 AFEHMPa Nominal pressure Mpa

K #r/EFLfk Standard orifice plate
H B =EE H-Angle circular room
BETR Z fRIESHFLBUE  Z-Angle drill
Pressureing method | — F s sy F-Flange

J 2EEEE J-Long stem

HENEEE Flowing measuring device

SEEFEIR

High-press lens orifice plate

98

VA AN g N
@) & as
NNl —
REREREFLIR IEREARAETLIR
PN<25 4.0<PN<6.4
Circular room standard orifice plate Circular room standard orifice plate
PN<25 40<PN<6.4
\oi/
NSO
2
. | ] ,,,7,%77£,777:77
4 & 4
74\ ﬁﬁ@—ﬂﬁ@f
@m&fm?@ w2 vz
SHFLEUEARAEFLIR EE/\EFLR
PN<2.5 PN=<10
Drill pressing standard orifice plate Fastening 8-trough orifice plate
PN<2.5 PN=<10
miliN
Jo= i | |
|
N ms SE==cER
12\ LR REEBUEARAEFLIR
PN=10 PN<2.5
Welding 8-trough orifice plate Long stem standard orifice plate
PN=10 PN=2.5

= iﬁ%ﬂ:&?laﬁ

PN22,32
High-press lens orifice plate

PN22,32

+ -

R

EZBUERRAETLIR
4. 0<PN<6.4
Flange standard plate

4.0<<PN<6.4

oy

NEFLIR R E R E

B RTRE

99

LN EBXRERADEN I HRAS

anhui Tiankang group piping valve co.,ltd




IRENEYE Standard Nozzle ZUTEBE YEEWYE Traditional Wenqiuli Tube, Wengiuli Nozzle

o o=
AfEWMEBESE, ihE HEAEGK WEEEX, & Eﬁrﬁb%¢,ﬂgﬁ B, MEAEEKESE. A
RESHES. EFATR aasEZRRE, AMERE, RE FHKAFR. EATK. SBHRENE.

j( E,] /JILMS MLEE /)I']J % o

AEFBMYR; A ISA1982 BBE (FFRHH)
B: 12 B

Characteristics

Characteristics
The traditional wengiuli tube and wengiuli nozzle may be used to measure
flowing of water and gas . The traditional wengiuli tube and wenqiuli

nozzle shall be little pressure error , high accuracy , short stright tube , and
long operation life.

——]

The standard nozzle may be used to measure flowing of high temperature
and high pressure steam , heat net tube system and fast flowing in power

plant. The standard nozzle shall be resistance to high temperature and high A ISA1932 HEHE # 1 Specification
pressure , resistance to vibration , long operation life , widely working A ISA1932 nozzle 50<DN<3500mm

range and high accuracy.

#M & Specification X B

1 2 mModel Wenqiuli Nozzle
D,<1000mm 2SS

Hyie 00 00 01 - O C B4 C-CS
& 2 Model |—’i‘7f5ﬁi E R4 P-Stainless steel

Material
H 5445  H-Alloy
Lonm [0 %0 oo 50-3500 AFRE 2 i i
" Ep FR4&4H  P-Stainless steel A FRE1E mm Nominal tube diameter
H £&% H-Alloy

20- 1000 A#%&2mm Nominal tube diameter g

———0.6-4.0 /AFREIMPa Nominal pressure Mpa

0.25-32 A FRJE f1MPa Nominal pressure Mpa

WG XE2®E WG-Wenqiuli tube

P ISA1932 Bl P-ISA1932 nozzle B KizW& WP 3 EWiH WP-Wendgiulinozzle
C KIZWERE C-Long nozzle B Long nozzle RENEFRKE Flowing measuring device ZHYXERE
1= M5 -

Tranditional Wenqiuli Nozzle

BEAD H A =E/E H-Angle circular room
Pressureing method ] ZIEEUE

J-Long stem
HENESRE Flowing measuring device

! \ - L
= | IIII T ‘
Vi
. -
A ISA1932 mElE B K{IZEEKE X I GRXEEE
A ISA1932 nozzle B Long nozzle Wengiuli nozzle Tranditional Wenqiuli Nozzle
. PINGHRKRERAERITBIRA S

WwWww. t’ankanggf-com 100 101 \ anhui Tiankang grofplpmg valve‘co lct::i




NENXNIEE Measuring Wind Device in Airfoil

" R
REEEAHKD, AREERE NERENER. EATRESELEENNENE.

Characteristics

The measureing wind device in airfoil has little pressure error, stable porformance and short
stright tube, which may be used to measure wind speed in round and rectangle tubes.

#M ¥ Specification.
DN8O - 4000 mm (= x )
DN80 - 4000 mm(or length X width)

B S Model
HyLe JyF - 0 OJ

.
I\/Etzirim P 4% P-Stainless steel

H 4445 H-Alloy
50 - 4000 AFRER mm (K x 55)
50 - 4000 Nominal tube diameter (or length X width)

C iy C-CS NEXAREE (AVEE)

Measuring wind device in airfoil (in round tube)

HLE X 2 B Measuring wind device in airfoil

RENE%EE Flowing measuring device

NEXWNEKE EFREE)

Measuring wind device in airfoil (in rectangle tube)

| s—

ZG'.

NEXNNLEE (AREH) NBEANNEE FEREE)

Measuring wind device in airfoil (in round tube) Measuring wind device in airfoil (in rectangle tube )

www.tiankanggf.com 102

MNXEBEE Double Wengqiuli Tube

¥ o
BEEHBEK), NEBRENHR, ERTEEIEELEENXNENE.
Characteristics

The double wengqiuli tube has the features of little pressure error, stable porformance,
which may be used to measure wind speed in round and rectangle tubes.

# ¥ Specification

DN200-4000mm (=4 = %)
DN200-4000mm (or length x width)

B S Model
Hywe sw [ [0 - OO [

L C i C-CS
*
MaEEEP B P-Stainless steel

H 444  H-Aloy

200-4000 AFRER mm (4 x 5)
200-4000 Nominal tube diameter (or length x width)

0.25-2.5 /A¥ES Mpa Nominal pressure Mpa

I:N At N-Hiding type
C #HAZ C-Inserttype

WX FEE%  Double Wengiuli Tube

REMNEEE  Flowing measuring device

b
£ 5

S\\N[77777

Bl M

+ |

A
N

777777777777

77777 7777772)

BATHNXEERE BN EEE
Insert type Double Wengiuli Tube Hiding type Insert type Double Wenqiuli Tube
103 INEHEAFEEAESALERAS
\ anhui Tiankang group piping valve co.,ltd




IR L. BlERFLER. (ROFLER

Circular Orifice Plate, Gap-round Orifice Plate,Eccentric Orifice Plate

B R
REAEARGHEE, EEERENER. ERTEFES. BPESFENL. 2R

RENERREFINE

Characteristics
The circular orifice plate, gap-round orifice plate and eccentric orifice plate have short straight tubes and

are not easy to be stopped up, which shall be used to measure gas including dirt in high stove and coke
oven gas or other gas and liquid cantaining dust.

# # Specification
DN50-3500 mm

B SModel
HYLG -
I —D— 04 C ®mi C-CS
Wi . o o
Matenal P X440 P-Stainless steel
H 5444 H-Alloy -
50 - 3500 AF%E12 mm Nominal tube diameter @
. ).
0.25-10 A%RE51 Mpa Nominal pressure Mpa &5—
— Q AfRTILIR  Q-Gap-round orifice plate
— H #{EFLHR  H-Circular orifice plate IR
— P fgi>FlL#k  P-Eccentric orifice plate Circular orifice plate
— J BWEIREE J-Average press ring
J EZEALRE J-Drilled flange
—F AZZBE F-Flange
TRENEESE  Flowing measuring device
; _
!’ H '!
N 72
N 72
K
AN
] Ny B
[5] fe £ LS R FLIR
Gap-round orifice plate Eccentric orifice plate

www.tiankanggf.com 104

WMEILER 1/4 ERHE

Douple Orifice Plate, 1|4 round Nozzle

¥ &
EAREESRSTEMRE, TENATEMRERENRE. SBNRENE.
Characteristics

The douple orifice plate, 1/4 rond orifice plate shall be used to measure flowing of liquid and
gas in slow speed under low Reynold's number.

# #% Specification
DN 25 - 600mm

B S Model

Hyie [0 OO O - 0O O C e C-CS
*MEEP &N P - Stainless steel

Material
HE&W H - Alloy

25-600 /AFRER mm Nominal tube diameter

T

1.0-10 /AFRE/1 MPa Nominal pressure Mpa

S WEILIK S - Double orifice plate
N1/4 & G N - 1/4 round nozzle

F AZBE F - Flange press
H A1 =B/ H - Angle circular room

HEMERE  Flowing measuring device

| |
[ | E— igiiiiiijt
| |
QZ 77772 N S ) NN
g@ @E
REFLIR 1/4 B
Double Orifice plate 1/4 rond Nozzle

105 INSHAREASALERAS
\ anhui Tiankang group piping valve co.,ltd




4B ixsit Anuba Effusion Meter

¥ oA
BEERENME/N, REHENES. EHEAFE. HEEENRENE.
Characteristics

The anuba effusion meter has the features of little pressure error, easy to be installed, which may be
used to measure wind speed in round and rectangle tubes.

# # Specification

PN<10 DN50~4000
# S Model
N
HYans (-1 O } | |
| J (i |
* b C il C'CS_ | ﬂg ffffff -1
Material 4N P-Stainless steel } K }
H &% H-Alloy | n |

50-4000 ZAFRER mm (K x 5E)
50 - 4000 Nominal tube diameter (or length x width)

0.6-10 /A#ES MPa Nominal pressure MPa Fo o B & vt
R , Anuba effusion meter
fJ4 B/ £ Anuba effusion meter

PR#ZFLER Limite Effusion Meter

¥ o=
BEBERR. BRENF=. SHTRHIAENFERES.
Characteristics

The limitted effusion meter can limite flowing and reduce pressure ,
which may be used to measure flowing in round or rectangle tube.

#l 1% Specification @§ S@
DN10~1000 g
\ R

(| =
B SModel v T T AT
CELIALAYL, | NNNNNNNNNNNNNNNR NN

e -0 O

i C-CS
* MR EP AEE P-Stainless steel ==~ PSRN

Material
H 44i H-Alloy ] §
S

10-1000 /AFER mm Nominal tube diameter ] &ﬁjﬁ

0.6-32 AFRE/IMPa Nominal pressure MPa S
PRixFLER  Anuba effusion meter Anuba /éllkfusion meter

www.tiankanggf.com 106




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55

